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Basic postulates of Special relativity

1.1 Reference frames

What is a frame of reference?

Consider an scaffolding of ruler sticks arranged in space in such a way as to denote every
point in space with a set of coordinates (x, y, z), and endowed with a clock keeping track
of time (by some physical, periodic phenomenon, such as a fixed number of radiative tran-
sitions in a caesium-133 atom).

Such an object is known as a frame of reference, with each space-time point (¢, z,y, z),
known as events, being specified. An inertial frame of reference where an object which
is not acted upon by an external force moves at a constant velocity. In other words, it is
a frame where Newton'’s first law holds (thus ruling out accelerating frames of references
where fictitious forces are not considered to be external forces).

In classical physics, inertial frames of references satisfy galilean transformations. Consider
two frames S and S’ with coordinates (¢,z,y,z) and (¢, 2/,y/, 2'), with &’ moving with
velocity v = vyXx + v,y + v,z as measured in S. Then, the following transformation law is
satisfied in galilean relativity:

t 1 000 t
x —v, 100 |
s1=1 o oiol ]y (1.1.1)
Z -0, 001 z

It is paramount to note that the time parameter is not affected at all by this transformation,
in classical physics all clocks are assumed to be synchronized, even if they are moving
relative to each other.

Maxwell vs Newton

This however leads to several contradictions and paradoxical conclusions, especially when
put to the test with Maxwell’s electromagnetism. For example, consider an electromag-
netic wave E = Eg sin(k - x — wt) travelling at ¢ as measured in the inertial frame S. In the
frame &', the same wave will be of the form E' = Ej sin(k’ - X' — w't’). We now argue that
the phase of a plane wave must be an invariant quantity under a change of frame, since
everyone must agree on how many crests a wave has undergone in a certain time/distance




1.1. REFERENCE FRAMES

within their own frame. Consequently, we need

KX =t =K X — 't (1.1.2)
=K -x— (K -v+u)t (1.1.3)

from which we identify k' = kand w = k- v+w't’. Asweletv — ¢, the observer in &’ will
observe a frozen wave with no time-dependence. This clearly isn’t a plane wave solution
to Maxwell’s equations. So are we to believe that Maxwell’s equations are only true in a
specific frame of reference, the so-called aether?

The Aether

We define the aether as the frame of reference (if it even exists) in which light propagates
at the conventional speed of light ¢ ~ 3 x 10® m/s.

Consider the following experiment. A person and a mirror are placed on the ends of a
platform of length L moving at a speed v, < c relative to the aether. The platform is
oriented so that when at rest (relative to the aether), a light beam travelling between its
end has speed c. The observer sends a light beam to the mirror, which reflects back and
is detected after some time. If the platform is moving along the distance between the
observer and the mirror, then this time interval will be:

L L 2L 2
f— + ~ <1 + ”p> (1.1.4)

_ 2
Cc+ vy c—Vp c c

while if the platform is moving perpendicular to the distance L, then:

2L 2L 2
fy = —2_ ~ (1 + Upz) (1.1.5)
2 — UIQ) c 2c

There will be a noticeable difference between these time intervals:

Lv?
At =t —ty = —L (1.1.6)

3
which would cause a beam travelling in the parallel direction to interfere with a beam
travelling in the perpendicular direction.

In the Michelson interferometer, a beam splitter is used to split a beam into two travelling
in perpendicular directions, and which will interfere according to our above argument
when recombining. However, no such interference effects were ever observed.

To explain this shortcoming of Galilean relativity, Lorentz and Fitzgerald argued that the
aether could exert some sort of pressure on objects travelling within it, causing a contrac-
tion in its direction of motion by a factor ~:

1
=——— — L —~L 1.1.7
= oe v (1.1.7)
gy e (1.1.8)

- 1—v2/2 !



1.2. FUNDAMENTAL POSTULATES AND DEFINITIONS

Such an explanation, although numerically correct, fails to give the proper picture as to
why such a contraction should occur. The correct explanation would ultimately arrive
with Einstein.

1.2 Fundamental postulates and definitions

Postulates
The basic postulates of special relativity are the following:

(i) Principle of relativity: all inertial frames of reference are equivalent, and the laws
of physics apply equally.

(ii) Light speed: the speed of light in vacuum is c irrespective of its source.

The first postulate is shared with Newtonian physics. A nice way to put it is “if you can
juggle at rest, you can also juggle in an IRF”, or alternatively “a blind man cannot tell
if they are moving in an IRF”. The second postulate, on the other hand, is shared with
electromagnetism.

The problem of synchronization

We now tackle the question of synchronizing clocks. Suppose an observer sends a light
beam at time ¢;. It gets reflected by a mirror at an event A and reaches the observer at
some time t5. How do we synchronize the mirror’s clock with the observer’s clock? If we
assume that light travels equally in all directions in vacuum (i.e. space is isotropic) then
we can claim that the light beam reached the mirror at 7 = (¢ + t2) thus travelling a
distance cr = %c(tl + t2).

Note however that this is just a convention. There is no way to measure the one-way speed
of light and hence no way to know exactly when the light beam hit the mirror. Luckily for
special relativity, it makes no difference whether or not the one way speed of light is ¢ or
some other value. Suppose that for some reason light travels at ¢/2 in the AB direction and
instantaneously in the BA direction. An observer is placed at A, and another at B. Their
clocks may or may not be synchronized.

At t§' = 0, the observer at A sends a message to B asking “what does your clock read”.
The observer at B will receive this message at t{ = %l in A’s clock, and some ¢§ in B’s clock.
B can respond and instantly and say “£”, which will arrive at t5' = ¢{'. The observer at A
then erroneously changes his clock to t§' = t + L, thinking that the message must have
taken é seconds to arrive since it was sent by B. He sends a message saying that his clock
now reads t? + %, arriving at t{3 + %l B then thinks that this makes sense, for A’s message
must have taken . second to arrive.

As can be seen, even though their messages were travelling at different speeds, there were
no contradictions in assuming that the one-way speed of light was c. With this convention
in mind, then two people can synchronize their clocks by sending a light beam to another
observer sitting exactly midway between them.



1.3. SPACE-TIME DIAGRAMS

1.3 Space-time diagrams

An extremely useful tool in special relativity are space-time diagrams. It is common con-
vention to place ct on the z-axis and x, y on the z, y-axes. A trajectory in this space is known
as a worldline. We can revisit the problem of synchronization using these space-time dia-
grams. Consider two frames S and &’ moving relative to each other at speed v. Three ob-
servers, A, B, C are in the frame S’ separated by 1 unit each, and initially set their clocks so
thatt =t/ = 0. In the S’ frame, x4, xp, s world-lines would satisfy 2’ = 0,2’ = 1,2' = 2
respectively. To synchronize their clocks according to Einstein’s convention, A and C must

ct TA rB xTc

Figure 1.1. Synchronization of clocks

send a light beam to B. If their clocks are synchronized, then B will receive the signals
simultaneously, making O and P synchronous in the S’. The point P will thus also be a
t' = 0 point since it is synchronized with O where ¢’ = 0.

To find @, we solve:

v

ctg = vtg + 1 — tg = — 1 = +1 (1.3.1)

cC—v cC—v

Now @ P must have the form = = ¢; — ¢t where ¢; can be found by imposing that () lies on
the line:

2
" f1=g - — =25 (1.3.2)
c—v c—v c—v
so that P has coordinates satisfying:
2c 2v 2¢2

—clp=vlp+2 = lp= 55— = =5 1.3.3
oy PTvRT P2y TP a2 ( )

Consequently, the line OP for which ¢’ = 0 must satisfy:
ct="x e x="ct (1.34)

c v

We may therefore label the line OP as the 2’ axis. In the S’ frame we therefore have two
tilted axes, which are reflections of each other along = = ct.



1.4. FUNDAMENTAL CONSEQUENCES

1.4 Fundamental consequences

Loss of simultaneity

Consider a light bulb on a moving. Observer B is inside the train while observer A is
outside, they are moving at a speed v relative to each other. Two receivers are on either
side of the light bulb at a distance /, and will activate when hit by a light ray.

In B’s frame, the two receivers will clearly activate simultaneously after time t; = ¢, = é

In A’s frame, the light from the bulb travels at speed ¢, but the receivers are also moving
with speed v to the right. Consequently, receiver 1 will activate first after time ¢; = CJ%U
while the second will activate after time ¢, = CL The two events are not simultaneous

— M
for A even though they are for B.
This is a clear example of simultaneity being broken for two inertial observers.

We can view this in the form of a space-time diagram:

CtA receiver 1 ctp receiver 2 A ct’

Figure 1.2. Frame dependence of simultaneity

One can also view the loss of simultaneity as a result of the “moving” observer’s z'-axis
being tilted. Indeed, if we envision a line parallel to the z'-axis moving along the ct’-axis,
then clearly three events that are simultaneous in the stationary frame will be crossed at
different times in the moving frame.

Time dilation

Consider once again a train containing an observer A moving to with speed v to the right
relative to an observer B. The train has a mirror attached to its ceiling at a height 7, and
the observers have synchronized their clocks at time ¢ = 0.

Observer A sends a light beam to the mirror at ¢ = 0, in its frame it will see the reflection

of the beam at time t4 = %

From observer B’s point of view, the light beam has speed c along a diagonal direction,
its vertical component will therefore be v/¢? — v2. Consequently, the reflection will be ob-
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g

Figure 1.3. Time dilation as a result of loss of simultaneity

served at time tp = \/cg}iilﬂ Hence:

2 (1.4.1)

T —
B V1—02/c?

Interestingly, these two times are different, the “moving observer”’s clock will run slowly
compared to the “stationary observer”.

We can view this more intuitively by looking at the following comic by Tatsu Takeuchi
https://wwwl.phys.vt.edu/~takeuchi/relativity/notes/sectionl12.html:

et ct’

No! You'ra the one |who's
Comparing he. readvg | of your clodk now!

with the reading of wy | clock in the pasc ¥ %) /’/
T Rl Sl g S
N o
o
3, ho

You're comparing Phe
reading of your dedk mow,
with, the. reading of
"y clock. in the. pact !
Tt your dod. Hhat’s

Tvaning Shwlt ,

/"
Nour- elock: is running.
X

Slowcompaced 1o mine..

Our clocke have. beer.

Syndhrovized !

£
N

Figure 1.4. Time dilation as a result of loss of simultaneity

Due to the loss of simultaneity between two inertial observers, when they compare their
clocks their definitions of simultaneity will cause them to compare their clocks with the
other’s clock in the past. Hence, the moving observer will always have a clock running
more slowly since by the definition of simultaneity the stationary observer is looking at
the moving observer’s clock in the past.

—10 —
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1.4. FUNDAMENTAL CONSEQUENCES

Length contraction

Observer A stands on one end of a train which they have measured to have length 4, and
sends a light beam to a mirror on the other side. To them the time taken by the light beam

1S:
2

- (1.4.2)

ta

For an observer B on the platform moving with speed v relative to the train, the train has
length [, and the time taken is:

o lB lB N 2lBC
tB_c—v+c+v_02—v2 (1.4.3)

since on the first trip of the light beam, the train is trying to move away from it, while on
the return trip the train is moving towards it, as shown below: Consequently, using the

—U

AN

7AN

7AN

_c—v+c+v

AN

Figure 1.5. Length contraction

time dilation formula we found earlier:

t
tp = —— = lg=1lay/1—v?/c (1.4.4)

C v

Let’s consider a rod moving at speed v relative to a frame S. We can express the position
of the rod by drawing the world-lines of the front and back end of the rods, as shown
below: We center the axes so that the back world-line has equation x = vt, while the front
world-line has equation x = vt + [. In the still frame, the length of the rod is given by the
difference in positions of the back and front world-lines at a given time ¢, whichis QS = [.

In the moving frame, the length of the rod !’ is given by the difference in positions of the
back and front world-lines at a given time ¢’. From the diagram it is clear that this length

— 11—



1.4. FUNDAMENTAL CONSEQUENCES

ct ct!
A ~ back  front
/ /
/ /
/ 7/
/ /
/ 7
7 /
/ /-
’ _ »P
7 _ - /7
/ - /
Z /
o~ S 1
S0 S
;o0
/ I 7
/ I I
/ I
/ 1 1
I I
. X -1

Figure 1.6. Length contraction

is shorter. Indeed:
2 2

C v

giving a length of:

l
I /242 2
"= c‘te —x —m (1.4:.6)

The physical explanation of the minus sign will come later when we encounter the Minkowski
metric, but for now let us take it as a postulate.

Interestingly, these two lengths are different, the “moving observer”’s rod will be shorter
compared to the “stationary observer”.

— 12 —



Lorentz transformations

2.1 Derivation

We now seek to find a transformation between two inertial frames S : x = (ct, z,y, z)” and
S :xX = (ct',2',y,2)T, where &’ moves with velocity v = vé, relative to S. We assume
that the clocks of these two frames have been synchronized at ¢ = ¢’ = 0. Firstly, by the
principle of relativity if an object moves with constant velocity in one frame it must move
with constant velocity in the other as well. Consequently, the transformation must be a
linear one, mapping lines to lines, and keeping the origin fixed. Hence:

OqOéQOO
ag ag 00
0 010
0 001

X' =Ax, A = (2.1.1)

where the y, z variables are left unchanged from this change of basis. Indeed, if we did
have transverse effects, then this would lead to contradictions. For example, if we consider
two metal pipes of equal rest diameters Dy moving towards each other. In pipe 1’s frame,
pipe 2 has diameter D5, while of course D; = Dy is pipe 1’s diameter. If Dy > Dy = D;
(transverse length dilation), then this would mean that pipe 1 is inside pipe 2. However
from pipe 2’s point of view, D; > Dy = D, so that pipe 2 is inside pipe 1. This is clearly
a contradiction. By similar arguments, transverse length contraction is also not feasible,
showing that Dy = Dy = Dy as desired.

Now the line z = vt must get mapped to 2’ = 0 so that:

0 = azct + auvt = a3z = —a4g (2.1.2)
c

Similarly, the line = = 0 must get mapped to 2’ = —vt’ so that:

—ut' = —ayut

{ ! U S = (2.1.3)
t/ = Oélt

Also, by the Light speed postulate, z = ct gets mapped to ' = ct’ so that:

' =ct' = —ayvt + ayct v
, 4 4 — Qg = —0y4— = O3 (214)
ct’ = ayct + aoct c

— 13—




2.2. VELOCITY ADDITION

Consequently:
1 -200
-2 100
A=ay o 0 10 (2.1.5)
0 001

Finally, we use the principle of relativity. We know that from the perspective of &', itis S
that moves with velocity v = —v¢€,. Consequently, since x = A~'x/, we should have that
A(v) = A71(v), and thus:

1200 1200
1 v100 ¥ 100
-1 _ c — c
A =i 0010|0010 (2.1.6)
0001 0001
1
=y = (2.1.7)

N 7(v)

Consequently, the transformation from S to &', known as a Lorentz transformation, can
be written as:

ct/’ y(w) —y(v)2 00\ [ct
o | _ [0z 2w 00 [a
2= y ol s (2.1.8)
2! 0 0 01) \z
or alternatively:
f_ v
f=__T (2.1.9)
2
1-=
, x — vt
2
-5
v =y (2.1.11)
2=z (2.1.12)

In three dimensions it is easy to see how they generalize to:

r-v
t/ = Yo (t — 62> (2.1.13)
=" (r” — vt) (2.1.14)
Y, =1 (2.1.15)

2.2 Velocity addition

We know that when velocities are measured in the same frame, they add in the typi-
cal Galilean way. However, how do we deal with velocities being measured in different
frames?

— 14 —



2.2. VELOCITY ADDITION

Longitudinal addition

Suppose we have a frame S in which an observer A measures another frame S’ moving
at speed v to the right. Another observer B is inside S’ and measures the speed of a ball
moving to the right to be u. What will the speed w of the ball be in S§?

\4
—_—

u
g ~—
S’
<

Figure 2.1. Velocity addition

We have that if the ball follows a wordline (ct, z,0) in frame S and (ct’,2/,0) in §’, then:

x 4ot u+v
= — = pu— 2.2.1
R T T (221)

Transverse addition
Suppose now that the ball moves in the transversally in &’.

If the ball follows a wordline (ct’, u,t’, uyt’, u.t') in S’ then in S it follows a wordline
(ct,x,y, z) where:

t:y@ﬂﬂ+%§ﬂ) (2.2.2)

= y(v)(ugt + vt') (2.2.3)

y = uyt’ (2.24)

z=u,t (2.2.5)

Consequently:

Uy +V

= 226

we= T (226)
Uy

Wy = ———————~ 227

Y0+ ) (227)

. A— (2.2.8)

()1 + %)

More generally, for a frame S’ moving with velocity v relative to S, if the ball moves with

— 15—



2.2. VELOCITY ADDITION

velocity u in S’ then S measures:

Rapidity
Another way to derive this result is using a quantity known as the rapidity p satisfying

cosh p = v, sinh p = 7. The Lorentz transformation can now be written in a handy way:

coshp —sinhp 00
| —sinhp coshp 00
Ap) = 0 0 10 (2.2.10)
0 0 01
Due to the additivity of cosh and sinh, the composition of Lorentz transformations is sim-

plified. Suppose in a frame S we measure a rapidity p; for frame S’ in which the ball has
rapidity pz. Then:

coshpa —sinhpy 00 coshp; —sinhp; 00

—sinh ps coshps 00 —sinh p; coshp; 00
0 0 01 0 0 01

cosh(py + p2) —sinh(p; + p2) 00
—sinh(p; + p2) cosh(pr +p2) 00
- ! ; Lo (2.2.12)

0 0 01

Consequently the rapidity of the ball in the frame S is p = p1 + p2 implying that:

tanh p; + tanh ps
tanh p = tanh(p; + p2) = 1+ tanh oy tanh g (2.2.13)

and recalling that tanh p = %, tanh p; = ¥, tanh ps = % we finally get the velocity addition

rule:
U+ v

(2.2.14)

The ease with which we can combine Lorentz transformations is once again reminiscent
of how one can compose rotations in a similar fashion. In the case of typical rotations, the
rapidity p would be substituted by the

This makes sense, since in a space-time diagram tanh p corresponds to tan § where 6 is the
angle between the stationary and moving frames” axes.

The use of hyperbolic trigonometric functions allows us to sum angles the way we would
conventionally do in euclidean geometry, only that angles now correspond to rapidities
(see chapter on spinors for more details).

—16 —



2.3. LORENTZ INVARIANCE

Rapidities also have a physical interpretation related to classical acceleration. Consider
a rocket moving at speed v relative to frame S and with acceleration a. At time ¢t + dt
the rocket is moving with velocity adt relative to its rest frame at time ¢. Using velocity
addition, in the frame S we have that:

v(t) + adt v(t)?
t+dt) =—""—75 ~v(t dt — dt 2215
ot +dt) 1+ v(t)adt/c? v(t) +a 2 ¢ ( )
dv(t) v(t)2>
== =all-— 221
dt a< c? ( 6)
1 t
= vt) = tanh < / adt) = tanhp (2.2.17)
C CJo
so that:
1 [t dp a
= - dt —= — =- 2.2.18
2 c/o “ dt ¢ ( )

2.3 Lorentz invariance

The quantity x = (ct,r,y, )’ is known as a 4-vector, any quantity that transforms as x
under Lorentz boosts, that is through x' = Ax is known as a 4-vector. The coordinates of a
4-vector are denoted by a greek script, typically 4 or v running from 0 to 3.

A quantity is said to be Lorentz invariant if it is left unchanged under Lorentz transfor-
mation. In Newtonian mechanics, the length of a vector with Euclidean metric is invariant
under rotations. This allows us to express the laws of mechanics in a frame-independent
way. In a similar way it is useful to find quantities related to 4-vectors that are frame-
independent in special relativity.

As one would guess from looking at the, the typical Euclidean length of x vector is not
invariant. Indeed:
XTX = (ct)? + 22 + % + 22 (2.3.1)

while:
XTX = (AX)T(AX) = XTATAX = XTA2X (2.3.2)

where we used the symmetry of A. So clearly the notion of length in Euclidean geometry
will not do.

Let us impose a metric g = [1),,] such that the norm of a 4-vector in this metric is Lorentz-
invariant. In other words, we need the quadratic form:

X, X =XTgX =, X' X" (2.3.3)

and
X, XM= XTgxX = XT(ATgA)X = XAl Ay X° (2.3.4)
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to be equal, giving an orthogonality condition:
ATgA =g <= MNab = AZLWVAZ (235)

Matrices A satisfying this condition form the Lorentz group, which are discussed in de-
tail in the Mathematical methods volume. The Lorentz group has a remarkable resem-
blance with the rotation group O(3), which satisfies a similar orthogonality condition in
Euclidean space: _

RT'IR=1 <= 6,4 = R.6;;R] (2.3.6)
since 1 = [d;5] is the Euclidean metric.
Going back to the postulate of light speed, we can gain insight into the form of g by im-
posing that two light-like separated events in one inertial frame be so in all inertial frames.
In other words, if say an event with x = (ct, z, y, 2) is light-like separated from the origin

in one frame:
(ct)? =2 —y*> =22 =0 (2.3.7)

then similarly:
(ct? —a? —y? - 2% =0 (2.3.8)

in any other arbitrary primed frame. One should therefore choose a metric of the form:

10 0 O
0-10 0
00 0 -1
known as the Minkowski metric with (+ — ——) signature. It is easy to verify that this

metric does indeed satisfy the orthogonality condition (2.3.6).

2.4 Space-time intervals

Given two events (ct1,z1,y1,21) and (cta, 2, y2, 22), their space-time interval is thus de-
fined as:
(As)? = N, AXFAXY = (cAt)? — (Ax)? — (Ay)? — (A2)? (2.4.1)

The sign of the space-time interval between two events can give insight into their proper-
ties:

(i) if As > 0 then the events are time-like separated, that is, a physical signal could
travel between the two events. It corresponds to the region contained within the
light cone. Alternatively, one can find a frame where the two events occur at the
same position, but there does not exist a frame where they are simultaneous.

(ii) if As < 0 then the events are space-like separated, that is, no physical signal can
travel between the two events. It corresponds to the region outside the light cone.
Alternatively, one can find a frame where the two events are simultaneous, but there
does not exist a frame where they occur at the same position.
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(iii) if As = 0, then the events are light-like separated, that is, only a light signal can
travel between the two events. It corresponds to the surface of the light cone.

As can be seen from the figure below, the surfaces of constant space-time interval form
hyperboloids.

/\\ R N / \\\;

Time-like Space-like Light-like

Figure 2.2. Surfaces of constant space-time interval in 2+1 space, with ct on the z-axis, and z, y in
the z — y plane.

Using the space-time interval, which is a Lorentz invariant quantity, we may also formally
define the concepts of distance and time. For two events that are time-like separated, the
distance between them is given by the proper length:

Ar = —As (24.2)

Since we can find a frame S where the events are simultaneous, we see that Ar is the
distance between the events measured simultaneously in S.

For two events that are space-like separated, the time between them is given by the proper
time: A
Ar =22 (2.4.3)

C

2.5 4-vectors

4-velocity

Consider the world-line of a particle moving through space relative to an inertial frame.
The differential proper time between any two (ct,r) and (¢(t + dt),r + dr) is:

ds 1
dr = ?5 = ~\/gudXrdX" (2.5.1)
1 [ dxwdxv
=\ St (2.5.2)
1
= c? —v2dt (2.5.3)
dt
-4 254
7(v) 254)
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where v = 1/6;; 4% ' %f is the conventional 3-velocity of the particle. This allows us to find
the proper time between any two events A and B on this world-line:

B qt At
AT = /A ) = 70 (2.5.5)

as we found earlier when discussing time-dilation.

Using proper-time, we can create a 4-velocity whose norm which will be Lorentz invariant:

aX d c
U=——=(ct,1)=7(v) <V> (2.5.6)
Its norm is clearly:
U = UTgU =y(v)V2 -2 =c (2.5.7)

which is not only Lorentz-invariant as desired, but also constant.

4-momentum

In Newtonian mechanics, momentum is defined as p = mv, where m is a Galilean-invariant
quantity. Similarly, in Special relativity we can define the 4-momentum using a Lorentz-
variant mass, the rest mass mg, which is defined as the mass of the object as measured in

its frame. Hence:
_ _ c\ _[(E/e
P = mov = mgyy(v) <v> = < p ) (2.5.8)

where we defined:
E = ~(v)moc?, p = y(v)mgv (2.5.9)

to be the relativistic energy and momenta respectively (we shall motivate the definition
for the former later).

Its norm is found to be:
|[PI] = moy(v) Ve? — v? = mgc (2.5.10)

which is Lorentz invariant as desired. Consequently, we find that:

E? — p?c? = m2ct (2.5.11)

4-gradient

Note that we can write the transformation law for 4-position as:

X/V
X" = A XH = g i X" (2.5.12)
oXH
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which gives us the typical definition of contravariant and covariant vectors. It then follows
that:

0 oxX* 0
/ = = ey K
0= v = axw o = Mo (2.5.14)
v
gr=_0 _0X" 0 = AV (2.5.15)

= 9X,  0xr X,

Hence, we see that we may define a new 4-operator [J, known as 4-gradient, with con-
travariant components 0" by differentiating with respect to covariant position components:

10
o _—
oM = (C . v) (2.5.16)

and with covariant components d,, by differentiating with respect to contravariant position
components:
Oy = (18 V) (2.5.17)
- \cot’ o
When we operate on some Lorentz scalar ¢ with the 4-gradient, we get a 4-vector since:
"o =N, 0" (2.5.18)
If instead we operate on a 4-vector, then:
OV = gud"V" = (MiguN§O*VP = go30°V7 (2.5.19)
so we get a Lorentz scalar. For example, [J- X = 4.

It follows that [0 = 0*0,, must be a scalar operator, known as the d’Alembertian operator.
It is equivalent to the classical wave operator:

1 02 2

2 _

4-wavevector

Let us assume that the phase ¢ = k-r—wt of a plane wave be Lorentz-invariant (this should
be case, since all observers should agree on how many cycles a wave has gone through).
This is a well motivated choice as we will soon explain. Noting that ¢ = (%, k) - (ct, r), one
would be inclined to define the following quantity:

K= <k> (2.5.21)

To see that our instincts are justified, consider the following thought experiment. Suppose
an observer in some frame measures the number of wave fronts crossing a finite volume
in some time interval. The number of crests will be proportional to the measured phase.
Now another observer in a frame moving relate to the initial one will still record the same
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number of crests even though the finite volume and time intervals will be different. Hence
the measured phase must be invariant.

Taking the 4-gradient of the phase we obtain a 4-vector known as the 4-wavevector:

K=0O¢= <1_<> (2.5.22)
The norm of the 4-wavevector is:
2
W 2 o 1 1
Ikl =% = (5~ 15) (2523)

where v, =  is the phase-speed of a mode w.

2.6 The Doppler effect

Suppose in frame S’ we have a plane wave moving in the z'y’ plane, making an angle ¢’
with the 2/ axis, with wave-number k" and angular frequency w’. Hence we have that:

w/

K' = (=, k cos@,k'sin®0) (2.6.1)
C
In the stationary frame S, we have that:

’

: Y 800 <
kcos@ | |78 v 00| |k cos®
ksing| [0 0 10| K sing (262)
0 0 001 0
implying that:
, v, , sin 0’
w=w'|1+—k cost ), tanf = ———— (2.6.3)
w Y(4rz +cost)
Defining the phase velocity in S’ to be v, = % then these become:
/ v /
w=w <1 + —cosf ) (2.6.4)
Up
il
tanf = — 10 (2.6.5)

v(cos 0’ + &)

These equations define the relativistic Doppler effect. There are two special cases of the
Doppler effect, the transverse effect where cos = 0, and the longitudinal effect where
cos @’ = 1, both of which can be understood through time dilation and length contraction.
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2.6. THE DOPPLER EFFECT

Figure 2.3. Longitudinal Doppler effect

Longitudinal Doppler effect

Here we find that:

(2.6.6)

We can interpret this as follows. In the source’s frame &', the distance between two crests
is\ = %7{ = cT' where T’ = i—’f, sothat T = % In the stationary frame S’, we have that at
time ¢t = 0, a wave-front is emitted. Att = T = 71", then the second wave-front is emitted,
but because the source is moving, the distance between the crests will be A = 41" (¢ — v).
Consequently:

27 27 K
k=" = = 2.6.7
A yeT'(1—=w/e) ~T'(1—v/c) ( )
w k 1+v/c
— ===\ o/c (2.6.8)
We can understand this through a helpful space-time diagram shown above.
Transverse Doppler effect
Here we find that cos # = 0 and thus cos ¢’ = —“%’. Consequently:
w 1
— == 2.6.9
5= (2:69)

This follows clearly from applying time dilation, if the wave has period 7" in S’ then in S

; _ ! I __ _ 1 ;
we have a period T' = 77" and thus W' = yw = ; = 5 as desired.
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2.7 Thomas precession

Consider the following. In a frame & we have two squares, one moving upwards with
speed u and another moving downwards with speed v. Two of their corners are labelled A
and B as shown. We consider two additional frames: S and S” which are the rest frames of

Figure 2.4. A double lorentz boost is equivalent to a single lorentz boost times a rotation. (Have to
replace with my own image)

the white and gray squares respectively. We align their frames in S’ along their respective
squares.

In frame S velocity addition tells us that the gray square will be moving with speed v =
u, vy = 7. Hence the line AB makes an angle ¢ with the z-axis satisfying tan ¢ = Jut,

Similarly, in frame S” velocity addition tells us that the white square will be moving with
speed u = v,u; = ;-. Hence the line AB makes an angle §” with the z-axis satisfying

/U
tan 0"’ = T

Clearly, these two angles are not the same. In other words, the axes of S and S§” are mis-
aligned in each other’s frames but not in §’!

We may also write that the misalignment Af satisfies:

S 5w — 1)
tan A = ——— 10 = ot 2.7.1
L 2 = 2 0 @7.1)

This effect is known as Thomas precession, and the above formula applies even for non-
orthogonal velocities. When we perform two successive Lorentz boosts in opposite direc-
tions, this will be equivalent to a single Lorentz boost plus an additional rotation by A6.

Our rapidity statement that Lorentz boosts add up only applied because we were consid-
ering boosts in the same direction, for which Af = 0.
Circular motion

Consider for example a pilot flying a plane along a circle which we model as an N sided
regular polygon with internal angles § = (1 — %)ﬂ' with N very large. At each vertex, the
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Figure 2.5. A double lorentz boost is equivalent to a single lorentz boost times a rotation. (Have to
replace with my own image)

pilot must therefore rotate by an angle #’, which due to Lorentz contraction satisfies:
tan @ = ytanf = 0 ~~0 (2.7.2)

However, this means that after having gone all the way around the polygon, that is, after
N rotations, the overall angle the pilot will have rotated by would be 27y > 27. There
has been an extra rotation by 27(y — 1)! This seemingly paradoxical result is of course be
explained through Thomas precession.

Indeed, let us assume a momentary rest frame S’ of the pilot. Here it is moving with
velocity v relative to the rest frame S of the circle. In time dr the pilot will be moving
relative to S’ with velocity dvy = apdT where ay is the pilot’s proper acceleration. Let the
new instantaneous frame be S”. It is important to note that ay always points towards the
center of the circle and is thus perpendicular to vy. Consequently, to move from time 7 to

Figure 2.6. A double lorentz boost is equivalent to a single lorentz boost times a rotation. (Have to
replace with my own image)

T + dr we will have to perform a Lorentz boost from S (circle rest frame) to S’ (pilot rest
frame at 7) to S” (pilot rest frame at 7’) along two orthogonal directions, first vy and then
dv. We have already found the resulting precession angle seen from S:

d w — 1 1\d
tandd ~ dp = V2000 =1 (1- )% (27.3)
Yo Yo v
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2.7. THOMAS PRECESSION

Finally, we substitute dvy = v, dv )by velocity addition) to find:

df = (o — 1)@ = AO =2m(y, — 1) (2.7.4)

[

as found earlier.
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Tensors and the Lorentz groups

As was prefaced in the previous chapter, index notation is a very powerful, but sometimes
quite confusing tool that is used in relativity (and most of modern physics). We have used
it without giving a very thorough justification, and we should therefore reserve a chapter
to discuss the intricacies of these indices, and more importantly, the objects they index,
tensors. A more in-depth discussion of tensors and differential geometry is given in my
Mathematical methods volume.

3.1 Vector and Dual spaces
3.2 Tensors
As an example, consider the following defining property of Lorentz matrices:
ATgh =g (3.2.1)

How do we write this in tensor notation? We have that:

N = Nape® @ e’ (3.2.2)
and:

ATgA = (A" e, @ €)1 (15,67 @ €7) (A ge, @ €°) (3.2.3)
= (A% @ e,,) (156" @ €7) (A ge, @ €°) (3.24)
= A onoy AV €% (e,)€7 (e, ) @ & (3.2.5)
= A oo N 50707 @ €” (3.2.6)

implying that:
Nap = Ao\ g0y (3.2.7)

which we wrote down in the previous chapter (we did not go through this very elegant
reasoning, but rather argued that as i, v = 0, 1, 2, 3 it simply gives the correct terms). We
have done this calculation in excruciating detail, but with time it should become fairly
routine.

Also, let S be a (1, 1)-tensor which we expand in the {e, } and {¢"} bases:

S =S, e (3.2.8)
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We can take the transpose of this tensor (note that taking the transpose of a tensor only
makes sense within a chosen matrix representation):

ST = Ske’ ®e, = (ST),'e" ®e, (3.2.9)

implying that:
(ST » = sH, (3.2.10)

3.3 Covariant vs. contravariant

We have found that contravariant components transform as:
XM = At XY (3.3.1)

where follow the notation in Weinberg of priming the component X, not the index. In
other texts, such as Carroll, Schutz or Dirac, we prime the index:

X+ = A¥, XV (3.3.2)

Both are perfectly fine, although it does lead to some confusion when referencing several
texts! I will mostly use Weinberg’s notation although whenever you see primed indices it
is implicitly assumed that we are using the other convention.

We can lower the indices in (3.3.1) using the metric tensor and find that:

X,=A"X, (3.3.3)
In the other notation this reads:

Xy =ANpyX, (3.3.4)

To see why in the other notation, note that a vector itself is an abstract object and does not
depend on our artificial choice of basis. Consequently:

X=X"e,=NA,X"es=X"e, = e,y =e, (A1), (3.3.5)
— Xy = (X" e, (A1) ) = (AT X, = Ay X, (3.3.6)

where we defined (A1), = A7,. This makes sense, since the inverse of a Lorentz trans-
formation from unprimed to primed coordinates is equivalent to a Lorentz transformation
from primed to unprimed coordinates. It is crucial to note that the contravariant and co-
variant components transform in opposite ways, their transformation matrices are inverses
of each other:

A%y A g = 45 (3.3.7)
In Weinberg notation, we can derive this result using the definition of the Lorentz group:

A oAl = N = A% Aoy = N = A% A" =0

v (3.3.8)
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implying that:
(A™)a = As” (3.3.9)
This, together with (3.2.10) lead to the somewhat confusing result:
(A Dk, = Ak = (ATHH, (3.3.10)

This result is indeed correct, but requires some thought to be interpreted correctly. Firstly,
this does not imply that A~! = A7, as this makes no sense at all (they are completely dif-
ferent maps). Indeed, we know that the components of AT are (AT),#, and consequently:

(AT)“oz = 7]“777004 (AT)'ya = (UATT])MQ (3.3.11)

so (3.3.10) becomes:
At =pATy (3.3.12)

All (3.3.10) is saying is that the Lorentz matrices are orthogonal in the Minkowski metric,
which is the expression we started with in the beginning. If we instead recognize A = [A,*]
then , but now the same argument must be applied to the inverse giving nA~!n = I'T.

Morale of the story: you can’t just equate stuff with same indices, they must have the
correct index structure too!

3.4 The Lorentz group and representations

3.5 The Poincare group and representations
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Relativistic dynamics

4.1 A4-force

Transformation law

From Newton’s second law, we can define the 4-force via the derivative of the 4-momentum

as follows: P LdE d
_ar _(lak ap
F= dr (c dr’ dT) (10

Let us define f = CC%’ as the 3-force, then we find:

1dE
F=qy(-= 1
'y(c dt,f) (4.1.2)

Obviously, an invariant quantity that we can construct is:

U.F:72(dE—u-f> (4.1.3)

We can calculate this quantity most easily in the particle’s rest frame where u = 0 and
E =mc% p p
m m
U-F=r22— =2——
T T
where we recast the result using invariant quantities. We see that when U and F are or-
thogonal, the rest mass is constant. Consequently, we get that:

(4.1.4)

dE
—=uf (4.1.5)

Such forces which go solely into changing the kinetic energy of the particle are known as
pure forces.

Using the Lorentz transformations, it is easy to see that the 4-force transforms according
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to:

dE' vl

ar 1—u-v/c? (4.16)
f”_l—u-v/02 (41.7)
= Ji (4.1.8)

Y()(1—u-v/e?)
As we can see, the 3-force is not invariant at all. Now we have that for a pure 3-force f:

d d d
_ P _ — (ymou) = ympa + mou—’y (4.1.9)

f_dt_dt dt

where a = ¥ is the usual acceleration. After some algebra one finds that:

dy 1 dE u-f

a = mocz E = 7m002 (4.1.10)
u-f
giving the parallel and perpendicular components to u:
u? 3
fi=vmoay + 5 fi = fj=7"mog (4112)
and similarly:
fL =~ymoa, (4.1.13)

Clearly, we see that the force acting on the particle is not necessarily parallel to its acceler-
ation. This follows from the fact that the component p* perpendicular to the force cannot
change. In other words, we require:

pr =pi = y(vp)vy =y(vi)v;- (4.1.14)

so we see that the perpendicular velocity component must change as a result of the y(v)
factor changing in the acceleration process.
The great train disaster

A train with rest length L is moving relative towards a bridge with Lorentz factor v = 3.
The bridge has a rest length of L and is divided into 3 sections of equal rest length.

From the bridge’s point of view, the train gets contracted by a factor of 3 so all of the train’s
weight is acting on just one section, so the bridge breaks and the train falls.

The bridge’s architect however states that from the train’s point of view the bridge is just
100 meters long so there’s no way the train could have fallen. In fact each section only had
to support 1/9 the train’s weight.

To resolve this paradox let’s consider two frames, the rest frame of the bridge S and the rest
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frame of the train S’. We note that the a force acting on the each train particle transforms
as f' = ~f while the weight force acting on each bridge particle transforms as W/ = W/~.

The breaking force of each section is smaller than f = nW in the bridge frame, where n
is the number of particles the train is made up of. The breaking force in the train frame is
then smaller than f = ynW = v*nW’. In other words, each section can’t support 1/9 of
the train’s rest weight W”.

4.2 Relativistic rockets

Consider a particle accelerating along a line. Suppose that in frame S the particle is moving
with speed v at event A. In a proper time dr, the particle is now moving at a speed v(t+dr)
relative to S:

v(t) + adr v(t)?
v(t+dr) = 1_1_(1})(15)6“”/02 ~ v(t) + adr — <02) adt (4.2.1)
do(t) v(t)?
— a<1 -2 > (4.2.2)
t
= v(t) = tanh <1/ CLdT) = tanh p (4.2.3)
C CJo
implying that: ;
p  a

This however only applies to event A and its vicinity, but how do we know that this applies
along the particle’s entire world-line?

We consider another frame &’ in which S has rapidity pg, thus obtained through a boost
which we take to be along the particle’s acceleration. Since rapidities add, we have that
the particle’s rapidity in S is p’ = pa + p and thus:

dp)  dps dp dp a
o _ s 0 _2_12 42,
dr dr dr dr ¢ (4.2.5)

since S is an inertial frame. So, we see that the time evolution of the rapidity is the same
in all inertial frames co-linear with the acceleration. Thus the relation

d

S (4.2.6)
dr ¢

applies to the particle’s entire motion in any inertial frame.

We can apply this to a rocket undergoing constant linear acceleration. Then we have that:
p(r) = 2= 4 cnst. (4.2.7)

C

We can set the constant of integration to zero by considering the particle’s rest frame at
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time 7 = 0. Then we find that the particle’s speed is:

v = ctanh <aCT) (4.2.8)
Next we wish to relate 7 to t in S. We have that:

& cosh (“T) — t= "sinh (‘”) (4.2.9)
C

dr a c

assuming clocks ¢, 7 are synchronized at ¢ = 7 = 0. Inserting this into (4.2.8) we reach:

o(t) = ——2 (4.2.10)

V1+a?t?/c?

Note that as t — +o00, v = £¢, an uniformly accelerating particle will seem to approach
the speed of light in the infinite time limit. Moreover, we see that:
du(t) a

At~ (1+a?t?/2)3 (4211)

so the acceleration in & approaches zero as ¢ — oo, while in the particle’s instantaneous
rest frame the acceleration remains constant at a.

Finally, we may look at the particle’s trajectory. We have that:

dr dx dt ) at
E = E% = c¢sinh (C> (4:.212)
and thus: )
z =< cosh (m) (4.2.13)
a c
where we assume that the particle has position z = 0 at t = 0. Hence
) 2\ 2 a2 ) - oA

The particle undergoes hyperbolic motion.

Note that ds? = 2% — ¢?t? is just the space-time interval between the events (¢t = 0,z = 0)
and (t, z). This suggests that a four-vector formulation of this problem. We have that:

C2 . a2
X = —(cosh p,sinh p) = A= U (4.2.15)
a C
Now, for a particle moving with constant acceleration then:
d, , d .
0=-—(a®)=—(A-A)=2A-AxA-U (4.2.16)
dr dr

so the 4-acceleration and 4-velocity are orthogonal.
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4.3 Central forces
In the case of a central force, f = f(r)t, we can define the 3-angular momentum as:
L=rxp (4.3.1)

As in classical mechanics, angular momentum is conserved:

L=vxp+rxf=0 (4.3.2)

Consequently, adopting polar coordinates so that p = ym(7,r$) = (p,, ymre), we find:

. L do
L= 2 — =" 433
ymrigp < e R ( )

This relates the angular momentum of a particle in some frame to the derivative of the
angular position of the particle with respect to proper time.

Now using the energy-momentum relation with p = (p,., ymr¢), we find that:

2_E72_L72 2.2

Pr=-_g -z me (4.34)
Now define the potential energy due to f as:
r
V= —/ f-dr (4.3.5)
(@]
Conservation of energy then requires that:
c2L?
Eiot = ymc® +V = cnst. <= p2c® + 7 +m?ct = (e -V)? (4.3.6)
Now: p i dt
r r Dr
B 437
dr dtdr m ( )
can be substituted into (4.3.6) to get the radial kinetic energy:
1 2 V)2 —om2t LQﬁ
m(d’"> _ V) mmid — LT (4.3.8)
2 \dr 2mc?
=ceff = Vers (439)
where
g2 —m2ct
= 431
Ceff = 5,3 (4.3.10)
2:V —V? L?
eff = 4.3.11
Vers 2mc? 2mr? ( )
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For a central potential V' (r) = —%:
—2a¢e/r — a2 /r? L?
Verr = o2 t 5 (4.3.12)
1 L?c? —a?  2ae
— = 4.3.13
2m02( 72 r ) ( )
1 ((L? =LY 2
- (( ) _ O‘E) (4.3.14)
2mc? 72 r

where we defined L. = %. The first term presents dominates at very small r and can be
either attractive or repulsive, while the second gives an attractive potential at large r. In
the regime where L > L. and e.ry > 0, then we have stable bound orbits, and we have
that:

dzr@ _ dVepp  dVegydr

arar 43.15
Mt T dr dr dr (43.15)
dPr Vi
d*r
E—— 43.17
02 ( )

4.4 Energy and momentum relations

We begin by justifying our definitions for the energy £ = ~(v)mov and momentum p =
~v(v)mov.

We consider a general elastic collision between two identical particles (elastic meaning
that the rest masses are left unchanged). We choose a frame F' such that the two particles
have opposite velocities, and orient our axes so that the z-axis bisects the angle of collision,
thus ensuring that P! is conserved.

We now consider two frames, one moving along the —z direction, following the right par-
ticle, and another moving along the +x direction, following the left particle. Let their
relative speed be v.

From the first frame’s point of view, the right particle doesn’t move along the z-axis, only
along the y-axis (say with speed u), while the left particle moves along the z-axis with
speed v, as well as along the y-axis (say with speed u'). By symmetry, from the second
frame’s point of view the speeds are exactly the same, but just with reversed roles.

We propose that there is a quantity p = a(v)mgv, known as momentum, is conserved in
this collision, and investigate whether or not it exists. In the first frame, we see:

_ / a(w) _u
2a(u)mou = 2a(w)mou’ = o) (44.1)
Lorenz boosting to the second frame, we get v’ = % and thus:
a(w) = y(v)a(u) (4.4.2)
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Finally, we have that w? = v? + (v/)? = v? + u? — u?v?/c%. Setting a(v) = v(v) in general
we see that (4.4.2) is satisfied. Therefore, we should have that:

p = v(v)mov (4.4.3)

We have yet to consider what happens when the collision involves photons which are
massless. We begin by using Planck’s relations for photons £ = hv and p = hv/c. We
consider a mass decaying into two photons. In the mass’ rest frame, the photons each
have frequency v, while in some frame moving with speed v to the right, the photons have
frequencies v; and v, as shown.

If energy and momentum are to be conserved, in the rest frame:

E = 2hv, p=20 (4.44)
while in the moving frame:
/ / h
E’ = h(v1 + o), p = E(I/g — 1) (44.5)

We now use the longitudinal Doppler equation to relate 11 and v»:

[1+v/c
= 44.
V2.1 1:Fv/cy (4.4.6)

= v+ =29, vn—1 = 2791/ (44.7)
c

Plugging these into (4.4.5) gives:
v
E' =~E, p = 'yEC—2 (4.4.8)
We now resort to the correspondence principle, our result from Special relativity should

reproduce Classical results in the limit £ — 0. Since in classical mechanics we expect
E' — E = $mgv?, we should have:

1
E(v-1)= 5m0v2 — E =mdc (4.49)

finally giving the desired relations:

E =~ymc?, p=~ymv (4.4.10)

4.5 Conservation laws

For a system of NV particles with 4-momenta P;, we define the collective total 4-momentum
to be:

P(t =to) = > Pi(t =to) (4.5.1)
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We have to specify the time at which the sum is taken since in general 4-vectors repre-
sent different events in different frames. Here ¢ is the time in the frame in which we are
measuring the total 4-momentum. By this definition, in a different frame we must have

Pt =ty) = > Pi(t' =1t0) (4.5.2)

However, due to the loss of simultaneity, it is not immediate that one can always find a
Lorentz boost A such that P(¢' = t{) = AP(¢t = o). Indeed if the particles have different
velocities and don’t move as a rigid body then in general P;(¢' = t,) # AP;(t = to), the
individual 4-momenta are not transforms of each other.

If we want the total 4-momentum to be an actual 4-vector that transforms accordingly, then
we need a new axiom, the conservation of momentum. Let:

Paa = 4-momentum in frame A at simultaneous times in frame A (4.5.3)
Pip = 4-momentum in frame A at simultaneous times in frame B (4.5.4)
Ppp = 4-momentum in frame B at simultaneous times in frame B (4.5.5)

If the conservation of momentum is satisfied then we must have P44 = P45, and thus

Pep = APap = APay (4.5.6)

as desired.
If a sum of 4-vectors evaluated at space-like events (4.5.7a)
is conserved, then this sum is also a 4-vector. (4.5.7b)

It immediately follows that if a 4-vector is conserved in one frame, then it is conserved in
all frames.

We prove one final result:

If one component of a 4-vector is conserved in (4.5.8a)
all frames, then the entire 4-vector is conserved. (4.5.8b)

To begin, note that if a component of a 4-vector is null in zero frames, then the entire 4-
vector must be zero. Indeed if one of the spatial components is zero in all frames, then by
rotations we see that all spatial components must be zero. If the time component is zero in
all frames, but at least one spatial component is not, then we can Lorentz boost along that
component to make the time component non-zero, a contradiction. Hence all components
of the four-vector must be zero.

Suppose P has a component P* thatis conserved so that P#* = P’**. Then letting Q = P'—P,
and applying the lemma we have proven, we see that Q = 0, and thus the entire 4-vector
P is conserved.
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4.6 Relativistic collisions

We can now use the tools we have developed on conservation laws to examine a plethora
of relativistic collisions.

Radioactive decay/absorption

Suppose a particle of mass M decays into two smaller particles of masses m; and my. In the
rest frame of the initial particle, the four-momentum of M reads P; = (M¢, 0,0, 0), while
for the final two particles it is Po = (E1/c,p1,0,0) and Ps = (E2/c, p2,0,0). Conservation
of 4-momentum implies that:

Ei+ Ey = Mc?, pL = —p2 (4.6.1)

The energy-momentum equivalence relation also implies that:

E? — p3c® = mict, E3 —pic® = m3c! (4.6.2)
<~ (E1 - EQ)(El + Eg) = (m% — m%)c4 (463)
m? — m3
— FE,—Fy = % 2 (4.6.4)
2 2 2
_ ml — m2 =F M )
— E; = Wi (4.6.5)

Suppose one of the particles is a photon so that m; = 0. Let Ey = Mc? — mac? be the
Change in rest mass energy. Then:

M? —m?2 Ey
E :“:(1-)13 4.6.6
1 oM oMz )0 (4.6.6)

so the energy of the photon is slightly smaller than the rest energy change, with:

2

A V7

(4.6.7)

known as the recoil energy reducing the photon energy. The recoil energy is required to
recoil the mass my as required by conservation of momentum.

If instead we have a mass my strike a mass m; thus forming a larger mass ), then one can
easily find through the same process as the case of emission that:

—m? —m%—l—Mzc2

E, = Wi (4.6.8)
Two-particle decay
Suppose a particle of mass M decays into several smaller particles. We have that:
P=>P; (4.6.9)
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4.6. RELATIVISTIC COLLISIONS

and thus )
M3t = (Z E> - (Z pi) : (Z pi> c? (4.6.10)

If we only have two decay products then:
P=P;+Py = M2 =mic* +m3c® + 2P -Py (4.6.11)

Clearly P1-Py = y(u)mima c? (evaluate this product in the rest frame of one of the particles)
where u is the relative speed of one decay product relative to the other. Hence:

M? =m?2 +m3 + 2v(u)mima (4.6.12)

If one is able to measure the outgoing particles’ masses and relative speeds, then we can
trace back to the original mass.

Threshold energy and the CM frame

Suppose we take a particle of mass m with energy E, momentum p and collide it with
another particle of mass M with the goal of creating new particles.

We can consider this from the center of mass frame where Poys = (Ecoar/c, 0), while in
the laboratory frame P = (E/c+ Mec, p). Thus:

By = (E+ Mc*)? - p*c® = m*c* + M%c* + 2EMc? (4.6.13)

Our goal is to find the minimum E, known as threshold energy, such that the collision
may create several particles of total rest mass ), m;. Clearly, this is achieved when all
the particles move with momentum p in the lab frame, and thus no momentum in the
CM frame. In this case Ecy = >, m;c? which when substituted into (4.6.13) gives the
threshold energy:

(Eimi)Q -m’—M?,

Ey, = 4.6.14
th oM c (6 )

It is also useful to know what is the relative velocity between the CM frame and lab frame.
Suppose we have a system with momentum p and energy E in the lab frame. WLOG we
can align our z-axis with p, and thus Lorentz boost to the CM frame:

Eow =10)(B—pv),  0=5)uE/c —p) (4.6.15)

the latter of which gives v = %2 and hence Ecyr = E? ;J?QCQ .

Three-body decay

We now consider a particle of mass M decaying into three products of masses my, ma, ms.
We have that:
P=P;+Py+Ps3 (4.6.16)
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4.6. RELATIVISTIC COLLISIONS

Now a useful trick when solving collisions problems is squaring both sides of the momen-
tum conservation law.

(P — P3)2 = (Pl + P2)2 — M262 + ’I’)’L362 — 2P -P3 = m%cQ + ’I?’LQC2 + 2P1 - Py (4617)
Note that the result is symmetric in m, M reflecting the fact that while in our derivation m
was made to collide with M, the opposite picture may also be taken.

Elastic collisions

In an elastic collision the colliding particles do not undergo any change in mass. This
alone allows us to derive an interesting result with a classical analogue. Suppose two
particles with 4-momenta P and Q collide elastically, outgoing with 4-momenta P’ and Q'.
Conservation of momentum implies that

P+Q=P +Q (4.6.18)
—P?+Q*+2P - Q=P” +§Q% +2P" - Q' (4.6.19)
— P.Q=P.Q (4.6.20)

Consequently, since P - Q o< 7, where u is the relative velocities of the particles, we see that
the particles will have the same relative velocity before and after the collision. Note that
the same result holds in classical mechanics.

Consider two identical particles of mass m colliding. We adopt the rest frame of one of the
particles and orient our axes so that the z-axis points along the collision line.

We find that before the collision the particles have 4-momenta:

P1 = (yume, yumu, 0,0) (4.6.21)
Py = (mec,0,0,0) (4.6.22)
while after the collision they are:
Ps = (yume, ypymu cos 01, y,mv sin 01, 0) (4.6.23)
P4 = (ywme, ypmuw cos b1, —y,mw sin 61, 0) (4.6.24)

Conservation of momentum then yields:

Yut+ 1=+ (4.6.25)
Yol = YoV + YW (4.626)

The second gives:
Y2u? = 20? + B 4 290V - W (4.6.27)

and substituting the first into the above we find

(Yo + Y — D)?u? = 320% + y2w? + 29,7,V - W (4.6.28)
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4.6. RELATIVISTIC COLLISIONS

and using the relation v2v? = (72 — 1)c? we find:

(Yo + 7w — 1)2¢% — & — 420% — y2w? = 2y, 0w cos 0 (4.6.29)
— 2¢% (70 — 1) (7w — 1) = 290w cos f (4.6.30)

—1 —1 —1 —1
s ocosp= = DW=l 2 =l =L (4.6.31)
Yo YwOW Yo+ 1y +1

This gives the angle between the outgoing elastically collided particles. In the low speed
limit the particles leave at right angles to each other, and as we increase the speeds ¢ de-
creases.

Compton scattering
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Covariant electromagnetism

5.1 Remarks on relativistic waves
5.2 The Continuity equation and 4-current

Electric charge is locally conserved, this is expressed using the continuity equation:

ap B
5 tVI=0 (5.2.1)

If it were possible to establish J = (pc,]) as a 4-vector, then one could neatly write the
continuity equation in a Lorentz covariant form: ! O J = 9,J+ = 0

Consider two frames S and &’ moving with relative velocity u. In frame S a finite region
of charge density p moves with velocity v to the right as shown:

Due to the Lorentz invariance of charge, we must have that the same amount of charge
must be contained within an infinitesimal volume, so that:

pdr = p'dr’ (5.2.2)

Now letting w be the speed of the charge volume in S’ then clearly 7., = 7,7, (1 + %) by
velocity-addition. Hence:

dr = dto — dr = Dar= dr 5 (5.2.3)
Yo Yw Yu(l+u-v/c?)
which gives:
-u

as desired. We now make use of the definition J = pv and ]ﬂ = p'w| to get the transforma-
tion of parallel components:

= u) Y — qup(u+v) (5.2.5)

Jj = %(p+ M)W =’Vu<p+p
I c? 2 J1l4+u-v/c?

1 orentz covariant means that it makes no reference to frame coordinates, sort of like how Newton’s laws
in vector form are Galilean covariant as they don’t make reference to spatial coordinates
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which gives:

Jjj = 7 + pu) (5.2.6)
Finally,
(RS P Ky P RRAT N S
]J__’Vu(P‘f' 2 W| =7l p+p 2 ’Yu(l—Fu'V/CQ) = pv (5.2.7)
which gives:
V=1 (5.2.8)

It follows that (pc,J) transforms as a 4-vector which we call the 4-current. We could have
also noted that J = poU where py is the rest charge density, a Lorentz scalar. The continuity
equation takes the form:

0-J=0 (5.2.9)

5.3 E and B, two sides of the same coin

Our discussion on charges and currents suggest that there is an interplay between charge
distributions and current distributions, which themselves produce electric and magnetic
fields. As Lorentz transforming charges produce currents and vice versa, one should ex-
pect that Lorentz transforming electric fields should produce magnetic fields too.

Consider in some frame & a neutral wire carrying a current / (made of moving positive
charges). If we place a test charge at some radial distance r with initial speed v along the
wire, then one would expect the force on it to be a purely magnetic Lorentz force:

qupol
2rr

(5.3.1)

Fmag:_

Let’s now boost to the test charge’s rest frame S’. Now the positive charge density will be

uv

pr = pin S and hence p/, = v,p(1 — % | in S’ while the negative charge density will
+ + c & & y

be p- = —pin S and hence p/. = —7,p in &’. The test particle will thus experience no
magnetic force but an electrostatic force due to a net charge density p' = v,p% . If the wire
has cross-section A then the electric field produced will be:

/ gpuvA quopuvA
Yo

- _ = — 532
el Yorc2eor 2mr ( )
We can transform this form in the original frame to find:
A
F, = —Rrt (5.3.3)
2mr

Recall that if the wire has current I and cross-section A then I = nAeu = pAu where n
is the charge carrier density and e the electron charge. Therefore the above result may be

rewritten as: 7
v
a 2;‘2 = Frag (5.3.4)

Fel:_

which is precisely the magnetic force we calculated earlier! In hindsight there was no real
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need to define a magnetic force, all of this could be calculated using Lorentz contraction
and Coulomb’s law.

5.4 Gauge invariance

What is a gauge?

We now seek to find a more general law of transformation between the electric and mag-
netic fields. To do so we must look at the gauge invariance of Maxwell’s equations.

V-E=p (5.4.1)
V-B=0 (5.4.2)
0B
E=—— 4.
V x o (5.4.3)
1 0E

From the second equation and the Hemholtz decomposition theorem we see that we may
write B =V x A where A is a vector potential. It then follows that:

OA oA
VXE:—VXat:>V><<E+8t>:O (5.4.5)

which means the electric and magnetic field may be written as functions of the scalar and
vector potentials:

B=VxA, E=-—Vo— N (5.4.6)
These equations have a hidden symmetry, known as a Gauge invariance, which follows

from the fact that the curl of a gradient is null. Consequently, suppose we perform the
transformation A’ — A + V for some well-behaved :

VxA'=VxA+Vx(Vyx)=E (5.4.7)

We therefore have an infinite family of possible A for a given A. This is somehow reminis-
cent of how an indefinite integral has infinitely many possible values due to the fact that
the derivative of a constant is zero. We can extend this argument to E:

o, 0A O(Vx)
E=-V¢ ot ot

(5.4.8)

so if we want this gauge invariance to apply to E then we need ¢ — ¢ — %’t‘. With this

choice then: 3 0A  O(Vy) oA
_ ox _ oA X _ g, 982
E=-V¢p+V a1 BT 5 Vo 5 (5.4.9)

as desired.
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To summarize, our definitions of E and B are invariant under gauge transformations:
9x
¢ P+ R A—A—-Vyx (5.4.10)
These transformations can be written more succintly as:

(p/c,A) — (¢/c — %%,A—I—Vx) (5.4.11)

which suggests postulating that A" = (¢/c, A) is a 4-vector. If this is the case then a gauge
transformation can be written as:

AP s AP+ M (5.4.12)

One very famous gauge that is often used in classical electromagnetism is the Coulomb

gauge:
V-A=0 (5.4.13)

With this gauge one obtains the homogeneous wave equations:

1 9A
2 —
VA~ 555 =0 (5.4.14)

as can be easily verified. Unfortunately this gauge is incompatible with special relativity
because it does not treat time and space on equal footing (it is not Lorentz covariant). It
would be nice to have a gauge condition that is manifestly covariant.

The Lorentz gauge

With this in mind, we try to formulate Ampere-Maxwell’s law using the vector potential:

10°A  10(Vo)

2
Vx (VX A)=V(V-A) = VA=) - 555 - 5= (5.4.15)
1 ¢ 1 9’°A 9

Note that V - A + C%% = 0,A*. It would be nice to set this equal to zero, so we define a
new gauge known as the Lorentz gauge:

0-A=0 (5.4.17)

Note that this finally shows that A* is a 4-vector, since its dot product with the 4-gradient
gives a Lorentz scalar.

Also, itis always possible to find a Lorentz gauge for a given E, B. Indeed, suppose we have
some 4-potential A* such that 9, A" = f. Then if we perform some gauge transformation
AP = AF 4 9Fyx we find:

OmuA™ = 9, A" + Oy (5.4.18)

For this to be zero we require [(J?x = —f. Due to the existence and uniqueness theorem
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this can always be done so one can always use the Lorentz gauge.
With this in mind we get that:

1 9%2A

S aE V2A = o] = %A = ) (5.4.19)

Knowing that (¢/c, A) and (pc, J) are 4-vector we should expect a very similar equation to
hold for p. We can use Gauss’s law to write:

0 1026
2 —_— . = 2 —_——— =
V3 + 5 (V- A) = V26 — o0 = p/eo (5.4.20)
102
= Vi¢/0) - 5 af‘z/ € = jope = 0% = pop (5.4.21)

We can combine [1?A = 0] and [?A = pp into a single, manifestly covariant equation:

%A = po) (5.4.22)

We have not yet proven that it is possible to find a Lorentz gauge for all possible electro-
magnetic configurations. We need to find a gauge transformation that reduces any given
4-potential to a Lorentz gauge.

Suppose that we are given some potential A, which does not satisfy the Lorentz gauge
condition: 9, A" = ¢ # 0 where ¢ is some function. When we perform a gauge transfor-
mation, we find that that the new gauge must satisfy 9,A4* + 0%y = ¢. For the Lorentz
condition to hold we require [y = ¢:

1 0%y

2

But the wave-equation has an existence and uniqueness theorem, thus given the necessary
boundary conditions this wave-equation always has a solution.

5.5 Making Electromagnetism covariant

The electromagnetic field tensor

With our development of the 4-potential we now seek to write Maxwell’s equations in
manifestly covariant form. To do so we will need a quantity which encodes both E and B
and that follows Lorentzian transformation laws.

Clearly this cannot be a 4-vector since we have a total of 6 electromagnetic field compo-
nents. The next logical step is a 4-tensor F**¥ which transforms as:

F'M = AP N g FOP = T = AFAT (5.5.1)
This is easily done by We can define the following rank-2 tensor:

FH = gl AY — §¥ AF (5.5.2)
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known as the electromagnetic field tensor. One very important property of this tensor is
that it is anti-symmetric. Consequently F** = 0.

Note also that A* — A* 4 Oy then:
Fr — 0F(A” +Ox) — 0¥(A* +0Ox) = F* (5.5.3)

so the electromagnetic field tensor is gauge invariant as one would require for it to encode
information about E and B.

Now we know that F*¥ will definitely include the electric and magnetic fields as we are
taking derivatives of the potentials. Indeed:

11 A A
Similarly:
0A 0A
F12 — _ 7Y z = —B RO
e (5:55)

We can cycle through the indices and find that F1? = By and F?* = —By. In general it is
easy to see that:

1 : , .
B; = Eeiijﬂ’f, E! = ¢cF™ (5.5.6)
Thus:
0 =l )e =i8je =18,/
E;/c 0 -B B
2 aE % Y
F EJe B S | (5.5.7)
e =18, I8, 0
The Electromagnetic field equations
Immediately we see that:
O F" = 9,0" A — 9,0" AF = ? A" (5.5.8)
so using (5.4.22) we find that:
Ou " = poJ* (5.5.9)

Also, we see that due to the antisymmetry of the electromagnetic field tensor the following
must also hold:
8[OCF5,Y] = 8QF57 + 67Fa/3 =+ 8,BF'ya =0 (5510)

known as the Bianchi identity. It is easy to see that this reproduces the homogeneous
Maxwell equations.

We can write (5.5.10) in another way by introducing the dual electromagnetic field tensor:

. 1
FH = iewaﬂFaﬁ (5.5.11)
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It is then easy to see that due to the anti-symmetry of the Levi-Civita 4-tensor:

O FH = %e“mﬁauFag (5.5.12)
1

= gewaﬁ (8uFap + 0uFap + 0, Fap) (5.5.13)
1

- 66“”0‘5 (8uFap + 05Fua + 0aFp,) (5.5.14)

We recognize that the factor in parenthesis must vanish, so we find:
O FH =0 (5.5.15)
Maxwell’s equations have thus been reduced to two manifestly covariant equations:

O FM = uoJ*, 9, F*™ =0 (5.5.16)

5.6 Lorentz transforming the Lorentz force

Manifestly covariant Lorentz force

In classical electromagnetism we define the electric and magnetic fields as vector fields
embedded in space which act on a charge ¢ with a Lorentz force:

f=q(E+vxB) (5.6.1)
We can write this as:
fi=q(E' + €7%v; By (5.6.2)
= q(cF™ 4 9%y, By) (5.6.3)
= q(cF" + F"v;) = qF'"U, (5.6.4)

which suggests writing down more generally that:
F=qF-U < ft=qF"U, (5.6.5)
which gives an additional equation:

dEen
dt

=qv-E (5.6.6)
where E, is the energy, and not the electric field amplitude. We can make sense of this

equation if the Lorentz force is a pure force (which it should be, electromagnetic fields can
only accelerate particles), then we see that:

— =v-f=v-E (5.6.7)
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E and B transformations

We now use the fact that the electromagnetic field tensor is a tensor to derive the transfor-
mation laws of the electric and magnetic fields. We see that:

E, = F"" = A AJF™ Ej = F"? = A2AJF™ E, = F"™ = AJAJF™
= AJAIFOT - ATAJF1O = AZAVF? 4 AZAJF?O = ASAVF3 - AAQ 30
= —*E, +7’E, = —yBcB; +vE, = v8cBy +E,
=E, =~(E, —vB,) =v(E, +vBy)
B _ A3 A2 B, =F'" = A AJF™ B, =F* = A AJF™
x:A%%&“” = ATASFY 4 ALASFO3 = AZAJF? + AZALF?!
::Ei 2 — By + BvE. /¢ = —VBEy/c+7B.
=v(By + U/CQEz) =(B, - U/CQEy)

Consequently for boosts along the z-axis:

E, =FE, B, = B,
B, =(E,~vB.) B, =~(B,+v/cE.)
E, =~(E. + UBy) B, =~(B; - U/CQEy)

These can be generalized to:

E| =E B =B,

E| =v(EL +v xB) B, =v(B. —vxE/c?)

As we can see, the electric field in one frame morphs into part of the magnetic field in
another frame, thus explaining the phenomenon in 5.3, as well as most of the interactions
in the natural world.
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Electromagnetic radiation

In classical electromagnetism it is known that Maxwell’s equations allow for electromag-
netic waves. We are interested in seeing how such waves can be generated in the first place,
how does one produce a changing electric and magnetic field? The answer is accelerating
charges.

6.1 The Hemholtz equation

In the Lorentz gauge 0,, A" = 0 the inhomogeneous maxwell equations read:

’ 1 62
2AH = pgJ" <028t2 — V2>A“ = poJ* (6.1.1)
Let us take a temporal Fourier transform:
< dw 5 —iw * dw - —iw
Aty = [ SRR ) = [ ST (612)
and substitute into (6.1.1):
* dw /1 32 - —iw * dw 7 —iw
/_ 27T<C26t2 — V2>Au(x,w)e t— /_OO %MOJN(x,w)e t (613)
AV
== <V + @)A“ = —poJy (6.1.4)

The last equation is known as the Hemholtz equation, and can be solved using Green’s
functions. We find that:

(v2 + ﬁ)a(x, W) = 53 (x — X) (6.1.5)

The Hemholtz equation is spherically symmetric so the solution can only depend on the
radial coordinate r = |x — x'|. Then we claim that the following are Green’s functions:

1 e:i:ikr
Gi(r)=—— T #0 (6.1.6)
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where k = % Indeed, we have that:

1 . . 1 o 1
V2GL(r) = ——V2etikr 4 ei”‘"v2< —~ W) + 2(Vetikry. v< - > (6.1.7)

47y

Term by term, we have that:

V2ethr — ¥ . (ikeT T E) = (— k2 + Q:f‘:)eﬂkr (6.1.8)
2 _1> _ 5
v ( 1) =@ (6.1.9)
: 1 ) 1
Fikry | I 27, tikray ~
(V™) V( 4777“) (£ike™""r) <47rr2r> (6.1.10)
finally giving:
V2Gi(r) = —k*Gy(r) + 6°(x) (6.1.11)

as desired. Consequently the general solution to (6.1.5) is:
1) aix N g 6.1.12
At = 4= [ 52 [ i i) (6.112)

For reasons that we shall clarify soon we only kept the G green’s function. We can define
the retarded time as:
x—x|

lret =1 — c (6113)
which finally gives the retarded potential:
) (X/ t t)
3 / re
Au(x,t) = yp /d —|x —x| (6.1.14)

Surprisingly, our general solution for the 4-potential is quite similar to the stationary 4-
current solution (Coulomb and Biot-Savart laws). The only difference is that we must
integrate over the 4-current at a retarded time ¢,.; rather than ¢. This is a consequence of
causality: the fact that if a we perturb the 4-current at (x’,¢') then an observer at position
x will have to wait ¢ — ¢,..; time to obtain this information. So to the observer the 4-current
is as it actually is at (proper) time t — ¢,.

We now see why the Green’s function GG could not have been chosen. It would have vio-
lated causality, implying that to know the 4-potential at time ¢ one should have knowledge

d

of the 4-current at a later time t,q, = t + ‘x X1,

6.2 Retarded and advanced Green’s functions

There is another method to derive the advanced and retarded potentials which is quite
useful, especially in later courses (e.g. QFT). Instead of finding the Green’s functions from
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the Hemholtz function, we start directly with the wave equation:
12 92
<v2 1L >G(r, 1) = 33(r)8(¢) (6.2.1)

where we set X' = 0 and ¢ = 0. We can once again take a Fourier transform, this time both
in space and time:
dwd?k - ;
t)= | ooy Gk, )t 2.2

Glr.) = [ oo lene (622)
One may be initially perplexed by the negative sign in the exponent. Relativistically, note
that K - X = wt — k - r thus giving the negative sign in the Fourier transform !. Physically,
this means that we want to decompose our solutions into waves propagating forwards in
time, rather than backwards.

The wave-equation now reads:

2 _ 1‘92) _ 5
(V 258 G(r,t) = 0°(r)o(t) (6.2.3)
dwd?’k ~ 9 w2 i(kr—wt) degk i(k-r—wt)
— / (27‘{‘)4 G(k,w) ( -k 4+ 02>€ = / We (624)
~ 1
= Cllow) = =17 o7z (629)

and reverting the Fourier transform:

dwd3k ei(k~r—wt)
Glr,t) = — / D (6.2.6)

We have an issue, there are two poles at w = %ck in our integrand that must be integrated
over. To simplify matters let us move to polar coordinates by setting the k.-axis to point
along r. One then finds that k - r = kr cos 6 and thus

1 > 2 > e_iUJt T . ikr cos @

—0o0

The integral in df can be evaluated by a simple substitution:

/ do sin eeikrcos 0—wt — _-L |:eikr cos9:| _ 2Sln(k’r’) (628)
0 ikr 0 kr
giving:
1 [ sin(kr) [ et
t) = —= dk K2 —"2 d 6.2.9
Gln1) 473 /0 ¢ kr /Oo “ (w — ck)(w + ck) ( )

(note the sign change due to the denominator). We can evaluate this integral in the com-
plex w-plane by choosing a contour running over Re(w) but jumping over the poles at
w = =*ck. There are several choices for such a contour, we present two that give the re-
tarded and advanced Green'’s functions found earlier.

'note that depending in the (— + ++) metric K - X = k- r — wt.
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Retarded Green’s function

Suppose that t < 0so thate=™* — 0 asw — ioco. This suggests that we close our contour in
the upper half plane ensuring that the integral due to the upper semi-circle does not give
any contribution. This contour does not enclose either pole so by the residue theorem the
integral vanishes.

Im(w) Im(w)

A Re(w)

ck

N LN Re(w)

—ck ck

(a) (b)
Figure 6.1. Contour for (a) G,.:(t < 0) and (b) G,¢:(t > 0)

Now suppose that ¢t > 0. Then e~ — 0 as w — —iocc. This suggests that we close our
contour in the lower half plane ensuring that the integral due t the lower semi-circle doe
snot give any contribution. This time, we enclose both poles, so by the residue theorem:

) e iwt e—lckt etckt 2’
d = 2| —— — = ——sin(kct 2.1
/ “ (w— ck)(w + ck) m( 2ck 2ck ) ck sin(ket) (6:2.10)

—0o0

where the negative sign comes from the fact that the contour runs clockwise. Finally, we
find that:

1 o
Gret(r,t) = _%c/ dk sin(kr) sin(kct) (6.2.11)
_ 1 Cl/ dk‘ ikr —zkr)( iket —zkct)dk (6.2.12)
iflz (26(r + ct) — 25(r — ct)) (6.2.13)
12,4 2m(200r +e r—c 2.

Physically > 0 > —ct so 6(r + ct) can be safely neglected, giving:

1
Grer(r,t) = =7 —0(trer), £ > 0 (6.2.14)

where we used the identity d(z/a) = |a|é(x). We rewrite this in the more usual notation:

1

- - _ / _ /
T O tret — )00 =) (6.2.15)

Gret (X7 t, xla tl) = =
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Integrating the wave equation with this Green’s function, we get that:

A= —po / X Grer(x, t,X 1) T, (X, 1) (6.2.16)
Ho 3./ Jp (xla tret)

_ Ko [y 6.2.17

4w X |x — x| ( )

as found previously! It is easy to check that this potential satisfies the Lorentz gauge con-
dition. Indeed:

A, = —% X (Grer(x, 1, %, 1)) Ju (X, ¥)

= +Z;O / dSX/a,M(GTet(X7 t, X/, t/))‘].“ (X/, t/)
m

= +;%?— / d3x/a,#(Gret(x7 t X,’ t/)JN(X/’ t/))

— ZE/d3x’Gret(x,t,x’,t’)@’“(JM(x/,t/))

Taking the integral to infinity then the first vanishes by the divergence theorem (assuming
localized sources), while the second vanishes due to charge conservation. Thus 0# A4, = 0
as desired.

Advanced potentials

With advanced potentials, we decide to integrate by skipping under the poles: The calcu-

Im(w) Im(w)

—ck ck

\ . J Re(w)

(a) (b)
Figure 6.2. Contour for (a) Ge:(t < 0) and (b) Gre:(t > 0)
lation is exactly similar, and gives:

1

Goan (Kt X ) = ———
adol ) 4r|x — x|

S(taay —t)O( —t) (6.2.18)

where
x—x|

tode =1 + (6.2.19)

C
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This gives the rather unphysical solution:

1o J, (xlatadv)
AN(X’ t) — 47.‘./d3x/pix_xl‘ (6.220)

In QFT we will use a mix of these two propagators, the Feynman propagator, which can
be found by using contours that go over one pole but under the other.

6.3 Jefimenko’s equations

Now that we have found the retarded potentials:

AN, ) =10 / iy T tret) d(x,t) = ! / d3x’M (6.3.1)

A Ix —x'|’  4reg Ix — X/|

let us find the electromagnetic fields associated to them. Firstly, we find that:

Vo = 1 /d3xl|:vp(x,7tret) p(xlutret)v(‘x_xl):| (6:3.2)

 4reg x—x|  |[x—x|?

Using the chain rule:

3P(X/7 tret)

V(X tret) =
p(X, ret) 8t7~et

Viret = p(X tret) ( — %V(\x — x’])) (6.3.3)

since %M = %. Consequently, using V(|x — x/|) = &:ij‘ , one finds that
_ 1 3 /|:p(xlvt7“et) p(xlvtret):| ’
ve= dreg /d X clx — x'|? * Ix —x/|3 (x—x) (6.3.4)
We also find that: D) 0t
OA(x,t) 1 1 3 JOX  tret
ot Adweg ' Ix — x| (6.3.5)
yielding:
_ 1 3 /li(p(x,Jret) p(x/atret)> AN j(x/atret):|
E(x ) = 77 /d A+ e e - (6.3.6)
Similarly, we find that:
_ Mo s, [V X J(X tret)  V(x=X|) Ty }
VxA= pm /d x[ x— x| e J(X' s trer) (6.3.7)
Now note that:
oJk Otrer OJF
(VX J(X tret))i = €ijik ! (6.3.8)

0x; 0z, Otrey
1 6|x—x’|8J’“_(1- x—x’)

AT TR T EJnyfxq

(6.3.9)
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so we find that:

/ 3 ’[ Xobret) | JOotred)] (o (6.3.10)

clx — x’|2 Ix — x'|3

Suppose the sources are slowly varying, and can thus be Taylor expanded.

It is then easy to see that Jefimenko’s equations reduce to the Coulomb and Biot-Savart
laws:

Interestingly, the quasistatic approximation, which we took to be a zeroth order approx-
imation, is actually a correct to first order due to this cancellation. Relativistic effects are
thus only noticeable from second order corrections upwards.

6.4 Electric dipole radiation

Suppose we have a localized 4-current distribution J,,(x, ) in a region V. We could use the
Jefimenko equations to compute the associated fields, but it is much simpler to compute
the potentials and then differentiate them. The retarded potential reads:

/
Ay (x,t) = “0/d3 o JuXs tret) (6.4.1)

47 Ix — x|

We now let r = |x| rather than |x — x/|. If |[x — x| > d where d is the size of V then for all
x' € V we may use the Taylor expansions:

X 1 1 :
B S T (6.4.2)

r x —x| 2 r3

We will also assume that the chracteristic time scale 7 of the charges and currents is much
larger than ¢. In other words, the charges can’t change significantly over the time it takes

for light to traverse V. This allows us to Taylor expand the 4-current in -

JuX t—rjct+x-X[re) m (Xt —r/c) + S (Xt —1/c) "TCX (6.4.3)
Keeping only the first term gives the dipole approximation:
Ay~ 4’jfr / &X' T, (Xt —r/c) (6.4.4)
In the Electromagnetism volume we encountered the useful identity
/ X' J(x) = p (6.4.5)
To prove this, consider the continuity equation in component form:
O +p=0 (6.4.6)
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Integrating over R?® we find that:

/ d*X0,)" = - / X p = / d°X 0] = — / d*X' @p (6.4.7)

35 0.(Ji! 3/ ) 5, 0%
= [ &X' 0i(J'2) =~ [ dX x;p+ [ d X@:c’ij (6.4.8)
= /dgx' V- -Jox)= /d3x’ (] - px’) (6.4.9)

Using Stokes’ theorem for differential forms the integral on the LHS vanishes for a localized
charge distribution that falls off at least as %, giving the desired result. Applying this to
(6.4.4) gives:

Ho

A(r,t) =~ — p(t —1/c) (6.4.10)

which is indeed a dipole! The magnetic field is then found to be:

B~ ;%2 (;(Vr)p(t —r/c)+ %(Vt —r/c) x p(t — r/c)) (6.4.11)
Ho

Ho .
= t— —
47TT‘2X xp(t—r/e) dre

XX p(t—r/c) (6.4.12)

Suppose the source oscillates at a frequency w. Then p ~ wp so the first term is negligible
as long as r > f, that is as long as we are in the far-field limit. We have therefore found
that:

B(x,t) ~ — L0 % x p(t — r/c) (6.4.13)

drre

Let us now compute the scalar potential by using the Lorentz gauge condition:

99

= —cVA (6.4.14)
From (6.4.10) we get:
VA= %Or Cv Pt —r/c) — T%(vr) Pt — r/c)) (6.4.15)
- %Or (ip(t —r/c)-V(t —r/c) — XP(;—T/C)) (6.4.16)
__ﬁ(X.p(i;r/c) +X'p(i;r/6)> (6.4.17)
SO:
— (r,t) = 47:60 (X : p(tcr_ r/e) | X p(i; T/C)) (6.4.19)
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Again, in the far-field approximation r > £ so the first term dominates:

o(r,t) ~ 477607“cx -pt—r/c) (6.4.20)
Taking the gradient of the potential gives:
Vo = o[£V Bl /) = Sxple— /o) (6421)
 Admege 7 P\t —T/e p2 X PemTe o
1 1 o . N 1, . N
— e (%0l = /) + (Ve = /)R ) = (k- plt—r/e)x|  (6422)
— | B /0 — (Bl /) X%~ (& Blt — r/0)x] (642
= Trece 2P = r/€) = (Bt — /o) R)X = G (X-p(t —r/e))X 4.
.. o
e (x-pt—r/c)x (6.4.24)
so that: ) )
E(x.t) & (- Bt — /)X — —plt —r/0) (6:4.25)
or equivalently:
P T
E(x,t) = 47r60Tcx X (X x p(t—r/c) (6.4.26)

6.5 Dipole radiation power
6.6 Magnetic dipole radiation
6.7 Lienard-Wiechart potentials

Suppose we have a point particle with charge distribution p(x,t) = ¢&3(x —r(t)) where r(t)
is the position of the particle at time ¢. The scalar potential reads:

d(x,t) = — /d3xw (6.7.1)

dmeg X —X|

This integral does not give the usual time-independent potential because t,.; depends on
x’ too. We fix this as follows, first we add an integration over ¢’ (note that ¢ does not mean
anything, it is a dummy variable):

53 (x' —r( t’))
3 !

— 7.
4 EO/dt /d (5(1‘, tret) (6.7.2)

~ dneg /dt WW t'—Ix—x(t")|/c) (6.7.3)

xt
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Now let R(t) = x — r(t) and f(t') = t' + |R(¢)|/c. We find that:

q , 1 dt’ 1 ,
x:1) = 4reg /dt R(t’)é(t a 471'60/ fdf IR(# — /)

~ oL R
47T60 df |R(t/)| fH=t

We quickly find that:

df 1d|R(1)] v(t') - R(t)
— =1 —+ - — [ A S
dt’ c dt IR(#)|
where we defined v(t) = i(t) to be the particle velocity. Consequently:

o0t) = g [cmw “R(") -v<t’>Lw>:t

Note that this expression must be evaluated at ¢’ such that f(t') =t = ¢
Similarly one finds that:

q ev(t')
At = [c|R(t')| R -V(t’)} s

Finally, (6.7.7) and (6.7.8) can be summarized into a 4-vector equation:

¢ U
Ap(x 1) =  4mege R”(ttsUV(t/>

where R”(t') = (|[R(t')|,R(t")).
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The Principle of Equivalence
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The Einstein Field Equations
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Swarzchild’s solution and Black holes

— 63 —




Part 11

Quantum Field Theory
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Classical field theory

11.1 Why fields?

There are two approaches to quantum field theory. In one approach, the particles are
regarded as fundamental giving rise to fields e.g. photons give rise to the EM field. The
other viewpoint is that the fields are fundamental, and they give rise to particles when
quantized i.e. EM field quantization gives rise to photons.

One reason we should think in terms of fields is locality: a perturbation has a local influ-
ence and does not propagate instantaneously, and fields naturally behave like this.

Also, all bosons (and fermions) are indistinguishable. Take an electron from the edge of
the universe and compare it to an electron in a coffee cup and they will have the exact
same properties, almost as if there was no “error in their production process”. This can
be explained by regarding any two electrons as both belong to the same field, so of course
they must be identical.

Furthermore,the total particle number is not conserved in relativistic quantum effects. In
a typical high energy collision (inelastic), two particles can give rise to several other par-
ticles of different nature. Consequently, one cannot take the Schrodinger equation (or any
single-particle framework) and “relativize” it without dealing with problems such as neg-
ative probabilities and unbounded energy levels, all due to the loss of particle number
conservation. The fix is, once again, fields.

As an illustrative example, consider a particle of mass m in a box of size L. By Heisen-
berg’s relation, Ap %, and thus in some frame we will have that AE 2 % However, if

AFE Z 2mc? then it is possible to create particle-antiparticle pairs out of the vacuum, thus
violating the conservation of particle number. This occurs when L $ 5 2

S 5,0 Where A = -
is known as the Compton wavelength. Just like the de Broglie wavelength delineates the
limit where a particle starts to exhibit wave-like properties, the Compton wavelength de-

lineates the limit where it no longer makes sense to talk about particles.

Finally, recall that in undergraduate quantum mechanics we took classical observables and
quantized them by promoting them to quantum operators. Similarly, in quantum field
theory we will take classical fields and quantize them by promoting them to quantum
fields. However, to do so we must first get comfortable with manipulating classical fields.
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Units

QFT is one of those subjects where we can afford to treat units more or less as we wish.
More specifically, we will be working in natural units where 7 = ¢ = 1, allowing us to
express all quantities in terms of mass/energy.

11.2 What is a field?

A field is a map that assigns a quantity at every point in space and time. It follows that
while in classical mechanics we have a finite number of degrees of freedom

(Q1(t)v ey Qn(t)>p1 (t)a "'apm(t))

In field theory, one the other hand, we have an infinite number of degrees of freedom ¢,,(t)
corresponding to the continuum nature of space and time. For example, the electric field
E(x,t) and magnetic field B(x, t) are, as the name suggests, fields. More precisely, they are
vector fields in R?.

The evolution of a field is given by a Lagrangian £(¢, ¢, V¢). We define the Lagrangian
density L(¢q, 0,0¢q) to satisfy:

L(t) = / d°x L(¢a; Dyutba) (11.2.1)
so that the action reads:
S = /dt L(t) = /d4x L(¢a,0uba) (11.2.2)

Note that since we are treating space and time on equal footing, we shall not consider
lagrangians with V¢, V2¢ and higher order spatial derivatives. On the other hand, in
condensed matter field theory where relativistic effects are negligible, we are allowed to
consider lagrangians with such terms.

The equations of motion for fields can be derived by the principle of least action:

Principle of least action: if we fix the value of the field on some boundary and
vary the field, the variation in the action will be zero.

Consequently:
68 = /d4x {géwa + 5‘(25;5@05(8“%)] (11.2.3)
_ /d4x {g(i - 8“(6(32@)]5% + 0, ((%(gﬁbu)dqﬁo (11.2.4)

The boundary term vanishes for any infinitesimal field variation d¢,(x, t) as long as it de-
cays at z — oo and d¢, (X, t;) = ¢a(x,t;) = 0. Requiring (11.2.3) to vanish identically for
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all 6¢, gives the Euler-Lagrange field equations (ELF):

oL oL
a6~ On <m> =0 (11.2.5)

11.3 Lorentz invariance

Since we are interested in unifying special relativity with quantum mechanics, we should
define what a Lorentz invariant field is. Suppose we have a field ¢(x) which solves the
ELF equations, and suppose we perform an active Lorentz transformation !

d(x) — ¢ (x) = d(A™x) (11.3.1)

To see why this should hold for active transformations, consider a 2D scalar field. If I rotate
this field by some angle, then the new value of the field at some point should be equal to
the value of the field at the original, unrotated point. For a vector field, not only do we
have to rotate the coordinates, we should also do this for the direction of the field:

Au(x) = Al (x) = AV A (A ) (11.3.2)

For a theory to be Lorentz invariant we need ¢/(z) = ¢(A~'z) to be a solution too. This
can be ensured by checking that the action is Lorentz invariant.

For example, consider the action
3 1 v 1 2.2
Slgl = | {50 0up0s) — 57 (11.3.3)

We claim that this action is invariant under Lorentz transformations i.e. S[¢] = S[¢'].
Indeed we have that the differential stransform to

1 1
ST N 20,60 w) = S B Dl () D s ) (11.3.4)

where welety = A~ 'z and 9/, = %. Consequently we have that

Sl¢'] = / B BH“Z’(A1)%(1\1)5”8’&(?;)8’@(;5@) - ;mzdﬁ(y)} (11.3.5)

We now use the defining property of the Lorentz group
A AP, = P (11.3.6)

so that . ,
SI0) = [ | i et soty) - ymPe )| = Sl8)  (1137)

as desired.

'we boost the field rather than performing a passive transformation and boosting the coordinates ¢(x) —

¢'(x) = $(Ax)
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11.4 Symmetries and Noether’'s Theorem

We define a symmetry of an action S[¢] as a transformation which can be performed on
any field ¢ such that 65 = 0.

Noether’s Theorem: every continuous symmetry of the action .S gives rise
to a conserved current j*(z) such that: d,,j" =0

Proof. Indeed, consider the infinitesimal transformation (which we are allowed to con-
sider for continuous symmetries):

ba(®) = Ba(T) + 004 () (11.4.1)

For this transformation to be a symmetry of the action, we need J L to change at most by
a full differential £ = 0, F* which vanishes when integrated to get the action. For an
arbitrary transformation of the field we then find that:

oL oL
o= 09a 0(Ouda 11.4.2
0600+ 50, OnP) (1142)
oL oL oL
a <8</ba G 8(8H¢a)>5¢a + O (3(%%)6%> (11.4.3)

but the first term must vanish by the ELF equations. Hence, for this to be a symmetry
transformation then we must require that:

oL
5£ = 8“ <(W5¢a> == O#F“(qb) (1144)
implying that:
. oL
Jt = W(Wa — FH(¢) (11.4.5)

is conserved. W

On-shell vs. Off-shell

At a first glance, it seems like the principle of least action ensures that any transformation
is a symmetry of an action S, giving an uncountably infinite number of symmetries!

However, there is a difference between the definition of symmetry and the principle of
least action. A symmetry transformation ¢ — ¢ + 0¢ is a symmetry if 6S = 0 for any
¢ regardless of whether it minimizes the action or not. A solution ¢ to the ELF instead
satisfies 0.5 = 0 for all possible ¢ — ¢ + d¢. Noether’s theorem then states that given a
symmetry transformation of the action, when applied to a solution to the ELF equation this
symmetry will produce a conserved current (which is why we could use the ELF equations
in our proof of Noether’s theorem).

Statements that are made on fields that minimize the action will often be referred to as
on-shell, while statements on all possible fields are off-shell. Thus the definition of a
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symmetry transformation is off-shell, while Noether’s theorem states that the current is
conserved on-shell.

Conserved charges

Given a conserved current, we must have an associated conserved charge:

Q= [ d&j° (11.4.6)
R3
since: 40 910
aQ _ d3J:/ BT i = 1147
dt R3 X ot R3 xVj=0 ( )
for bounded currents at infinity. Note also that given a finite volume V then:
d 95"
dQy _ / dB3xZ = —/ ds -j (11.4.8)
dt v ot oy

so not only is charge conserved globally, it is also locally conserved. In simpler terms: if
charge gets smaller in some volume then there must be a current flux out of this region’s
to compensate.

Consider an infinitesimal translation z# — z* + €* so that the field ¢, and the Lagrangian
L(¢q) acting on it:

ba(x) = Pa(x) — €00 (), L(x) — L(x) + "0, L(x) (11.4.9)

where we assume that the Lagrangian has no explicit  dependence. Since the Lagrangian
changes by a full differential, our action is translationally invariant giving rise to 4 con-
served currents (one for each possible translation in Minkowski space):

. oL
(") = mc‘wa —8iL (11.4.10)

This current is known as the Stress-energy tensor. The corresponding conserved quanti-
ties are:

E= / d*x TY which is the total field energy (11.4.11)
Pl = / d3x T% which is the total field momentum (11.4.12)
Again considering the following field:

then we see that: '
E=p= (11.4.14)
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11.5. KLEIN-GORDON FIELD

11.5 Klein-Gordon field

Consider the following Lagrangian density for a set of three scalar real fields ¢,, a = 1, 2, 3:

L= %  Dad o — %m%a% (11.5.1)

This lagrangian is invariant under SO(3) rotations. Indeed let us consider an infinitesimal
rotation by an angle ¢ about the axis f:

Rn(9)¢a = ¢a + eﬁabcnb¢c (1152)

The lagrangian after this rotation is given by (we can use the same a, b, ¢ indices as all
second order terms will be negligible):

1
L= §8u(¢a + O€abenv®e) 0" (da + Oeabcnvge)

1

- §m2(¢a + Heabcnbd)c)(ﬁba + eeabcnbgbc)

1
=L+ §9€abcnb [(8u¢cau¢a + 8u¢ca,u¢a) - 2m2¢a¢c} + 0(92)
Now note that:

€abc(0uPc0" bo + 0" Pc0uba) = €ape(Oupc0" pq — OV pa0upe) = 0 (11.5.3)

and recall that ¢ - (n x ¢) = 0 = eppenpde = 0. Then we find that £’ = £ so SO(3) is
indeed a symmetry of this lagrangian.

The equations of motion are given by:

oL oL
a“(a(ama)) = 96 (11.54)
where:
oL _ —m2¢ (11.5.5)
olom ¢ o
and
oL B R
Oy (8(@%)) = 0,0"¢p, = 0%, (11.5.6)
so we obtain:
(@2 + m?)¢y = 0 (11.5.7)

known as the Klein-Gordon equation. By Noether’s theorem, there must be a conserved
current associated to the SO(3) symmetry. It is given by:

oL
S = ———0¢p, — F* 11.5.8

but since 0, F* = 6L = 0 we can set F'* = 0. Then we see that since d¢, = €ucnpd. the
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Conserved current is:
JH = eabc(a“¢a)nb¢c (1159)

giving a conserved charge:

Q= / d3zJ = / d>zegpedanvde (11.5.10)

Now we can without loss of generality align our axes so that n points along one of the 3-
axes, hence nj = 0% where n = 1,2, 3. Then we see that we have three individual conserved
charges:

Qn = /dgxeabcgb‘aéz(ﬁc = /d?)xeanc@b‘aﬁbc = - / dgl'enacqb‘agbc (11-5-11)
We can also check that 9, J* using the Klein-Gordon equation:
8,u<]'u = au(eabc(auﬁba)nbﬁbc) = Eabcnb(au¢aau¢c + ¢CD2¢¢1) (11.5.12)
= €abep (0" Pa0ude — M Pade) (11.5.13)
=0 (11.5.14)

where we used the fact that €,,.0" 90,00 = gﬁeabcaﬂéaaﬂgbcnb =0.

11.6 Global symmetries

A global or internal symmetry is a transformation that involves the fields only and acts
homogeneously on space-time.

For example, consider the complex scalar field ¢ governed by the Lagrangian:
L =0, 0 ¢ —V]p|? (11.6.1)
Consider the following transformation:
b el = 0p =ind, 60" = —iag* (11.6.2)

where to compute ¢ we performed a taylor expansion to first order. This is clearly a
symmetry, and it is easy to see that the associated conserved current is:

gt = i(8"¢%) — (8" ¢)¢" (11.6.3)

There is a nice trick that can be used to compute these conserved currents for global sym-
metries. Suppose we have found a global symmetry d¢ = a¢ where « is a constant. We
now redo the transformation making «(z) depend on space-time. This is no longer a sym-
metry 6L # 0, but must become one as we make a constant. This can only happen if §£
depends on the derivative of « so:

6L = Oya(z)h” = 65 = — / d'r a(x)d,h" (11.6.4)
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11.7. ELECTROMAGNETIC FIELD

Note however that the action must be stationary so 65 = 0, so the integrand must vanish
identically, yielding:
Ouh* =0 (11.6.5)

We may identify the conserved current as j# = h*, this is much quicker!
11.7 Electromagnetic field

Consider the following lagrangian:

1

L=— wg 0 — g Ag P (11.7.1)
Its equation of motion is given by:
gfy = —uopJ”, 8(5;1”) = a“@(@fAl,) < — ;(aaAﬁ)Fw) (11.7.2)
= —%a“ laas aaAﬁa(afAy)(aaAﬁ - 0%4%)] (11.7.3)
- —%aﬂ [F* + 0aAp(g™g™ — g™ g™")] = =0, F* (11.7.4)
= 0, F" = jpJ"” (11.7.5)

which reproduces the inhomogeneous Maxwell equations. It follows that (11.7.1) must be
the lagrangian for an electromagnetic field.

One important property of the lagrangian is that it is not gauge invariant, but transforms
quite nicely under gauge transformations which leads to charge conservation. Indeed,
consider a general gauge transformation:

Ay — Ay +0,0"x (11.7.6)

The electromagnetic field Lagrangian is gauge invariant, since

1
L— —ZFQBFO‘B — po(Ap+ (11.7.7)

11.8 The Hamiltonian formulation

The Lagrangian formulation is so powerful and useful in QFT because it is a manifestly
covariant framework. On the other hand, we know from analytical mechanics that we
have an equivalent Hamiltonian formulation.

We define the momentum conjugate to ¢,(z) as:
oL
Oa

and the Hamiltonian density as a Legendre transform of the Lagrangian with respect to

m(x) (11.8.1)
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11.8. THE HAMILTONIAN FORMULATION

Pa:

H = m(2)¢(x) = L(), 0ud) (11.8.2)

We see that the Hamiltonian density is no longer manifestly Lorentz covariant as it picks
out a time derivative. Consider as an example Hamilton’s equations:

oH . OH

The theory is still invariant, but it is not clear at first sight unlike the Lagrangian theory.

(x) (11.8.3)
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Canonical quantization

12.1 Quantizing scalar fields

Quantum fields

To quantize classical mechanics, we took the Darboux coordinates (g,,p®) satisfying the
symplectic algebra:

{¢0, "} =1, {qa. v} = {p*, 0"} =0 (12.1.1)
and promoted them to operators §,, " satisfying the Poisson algebra:
{Ga: 7"} = 105, {da @} = {p*, 0"} =0 (12.1.2)

Similarly, we can promote classical fields ¢(x) and 7(x). We are working in the Schrodinger
picture where the fields depend on space coordinates only and have no time-dependence.
Furthermore we require these quantum fields to satisfy the commutation relations:

[Ba (X, Gu(y)] = i656%(x — y), (12.1.3a)
[P0 (%, D1(y] = [¢a(x), Bp(y)] = 0 (12.1.3b)

As in typical QM, all information about our system lies in the spectrum of the Hamilto-
nian. This is unfortunately very hard for most quantum fields due to the infinite number
of degrees of freedom. However, in free field theories, we can separate these degrees
of freedom and integrate them separately. Free fields usually have Lagrangians that are
quadratic in the fields giving linear equations of motion. We have already seen a classical
free field theory, namely the Klein-Gordon field governed by the equation:

00" +m?p =0 (12.1.4)
Let us take the Fourier transform:
d3p L
= [ ———¢PX 12.1.
ox.t) = [ e itp.n) (12.15)

and substitute into the KG equation:

(83:2 n wg)é(p,t), wp = \/p? + m? (12.1.6)
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12.1. QUANTIZING SCALAR FIELDS

We get a harmonic oscillator with frequency wy, for each momentum mode p, so the co-
efficients of each plane wave mode in our ansatz will oscillate in time (this is expected as
taking the FT of a dirac delta will give a sinusoid). Consequently we find that:

d(x,t) = / dp 1 (Agerr’ + Age"wpt)etPX (12.1.7)

Gr)? 2oy

L_ factor is inserted by convention, and will make the transition to quantum

Wp
fields more accessible. We can rewrite this as:

where the

cp 1 At o—ipx—wpt) | A= pilpx—wp)t 12.1
¢(X, t) — ( [ + P (& ) ( . .8)

(2m)3 \S2wp TP
Now since ¢ must be a real scalar field, we require AJ_rP = (4p)". So, by setting Ay = Ap
then we find that:
3 . .
(x,t) = / d_P;(APel(P'X*wp)t + Al’;eﬂ(P'X*wpt)) (12.1.9)

Gr) ooy

and similarly recalling that 7(x,t) = ¢(x, t):

dsp N WP i(p-x—wp)t * —i(p-Xx—wpt)
W(x,t):/(%_)?)(—@) T(Ape A= Abe pt)) (12.1.10)

When we quantize these fields we will work in the Schrodinger picture, so the fields them-
selves will not be time-dependent. Consequently we can drop the time label and work
solely in 340 space. It is now clear that:

$(p)e’P* = §(—p)e PX = ; (ApePX + Afe™PX)
' - ¥ - | (12.1.11)
T(p)ePX = (—ple PX = —i\ [P (Ape'PX — Age™PX)
Ay = /2 (o i~
— { PV (9(p) + £, 7(P)) -
Ay =1/ F(0(-p) - 7(—p))

Using (12.1.11) we can write the Klein-Gordon field Hamiltonian as:

1

H=g /d3x(7r2 + (V)% +m?p?) (12.1.13)

1 Pp & VWpW ip- « —ip- iq . —iq
T2 /dgx(27rl;3 (277(;3 [ B ; H(Ape'? - Ape” P (Age™™* — Age™ ™) (12.1.14)

1 . . . .
b (ipApe®X — ipALe PN . (iqAqe't™ — iqALe %) (12.1.15)
2, [Wpliq P 9

b g (Ape ™ AP (gl A7) (12.1.16)

This monstrosity simplifies a great deal, all thanks to Dirac and his delta function. Indeed
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12.1. QUANTIZING SCALAR FIELDS

note that when integrating over x, the only relevant terms will be the exponentials. These
will yield delta functions of the type:

1 P-X 19X X —iax
e e = PP+ ), oge P o Sptq) (12.1.17)
(2:r)36ip.xeiq.x ~0p-a) (Q:F)seip'xeiq'x — 3% (p— q) (12.1.18)
Consequently:

1 [d’pd®q 1 x _ ax
- / o (—wpwq = P~ q = m?)(=ApAy — A;4q)5°(p — q)  (121.19)

1] P o
+ (—uopg — P @+ ) (ApAg + A3 A)5(p + q) (12120
-3 / G 0 (45 P ) (Ap 4y 4 434 (12.1.21)
(PP m)(ApA £ A AT (12122)

Recall however that wf, = p% + m? so the second term vanishes, giving:

1 [ dp e d’p
H= 2/(%)3 wp(Ap A+ A5 A) = /Wwpmp\? (12.1.23)

Using (12.1.12) an immediate calculation finally yields:

Pp o, -
H= % / ﬁ [w2dpd—p + Tp—p] (12.1.24)

As expected, we get a bunch of independent harmonic oscillators!

The Quantum Oscillator

To quantize this classical field it will be useful to revisit some fundamental results about
the quantum harmonic oscillator. The Hamiltonian operator reads:

1 1
H=_-p*+-u?¢ (12.1.25)
2 2
We define the ladder operators:
w 1 w 1
=[50+ —=—p d =/2¢— —— 12.1.26
a=\/5et =pa 297 5P ( )
or alternatively:
1
q= m(a+aT), p= —i\/g(a—cﬁ) (12.1.27)
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12.1. QUANTIZING SCALAR FIELDS

Using the canonical commutation rule we find:

p,gl =i = [a,a] =1 (12.1.28)
and the Hamiltonian now reads:
H= w(aTa + ;) (12.1.29)
It can easily be shown that:
[H,a'] = wa', [H,a] = —wa (12.1.30)

implying that given an eigenstate | E)) with energy E then:
Ha'|E) = (E+w)d' |E), Ha|E) = (E — w)a|E) (12.1.31)

The spectrum of the Hamiltonian thus consists of a ladder of energy levels with spacing
w. We must have a lower bound to the spectrum, so given a ground state |0) then we must
require @ |0) = 0 and thus:

H{0) = %w 10) (12.132)

Finally, defining [n) = (a')" |0) then

Hn) = (n + ;>w n) (12.1.33)

Quantizing the Klein-Gordon field

Returning to the Klein-Gordon equation, we can promote ¢(x) and ¢(x) to operator-valued
fields, quantum fields. As a result A, and Ay will be promoted to operators ap and aI,,
defined as:

ap = % (¢3(p) + wipfr(p)) (12.1.34a)
a} = % ((]3(1)) - wipfr(p)> (12.1.34b)

completely analogously to Ap and Ag in (12.1.12). This yields the following expression for
the quantum fields (note importantly that these fields are operator valued):

3 . .

P(x) = / (;lTP;g,\/%p(ape’P"‘JraLezp*) (12.1.35a)
3 w: 5 9

m(x) = / (;53(—@‘) ?p(apelp’x—a;r,e_lp'x) (12.1.35b)
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12.1. QUANTIZING SCALAR FIELDS

We see that the canonical commutation rules for the fields are equivalent to the canonical
commutation rules for the ladder operators:

{[¢<x>,¢<y>1zpw§xm(y)}zo . {[ap,aq} a.al] =0 (12.1.36)

lap, al] = (27)263(p — q)

Proof. We prove this in the = direction (the other way is more of the same stuff). It is
easiest to first derive the commutation rules for ¢(p) and 7 (p). We have that:

3(p). 7(a)) = [ dxalye PXe 1 jo(x), n(y)] (12.1.37)
= / dxd3ye”PXeT Y53 (x —y) = i(2m)30(p + q) (12.1.38)
where we used the linearity of [-, -|. This is an interesting result, it tells us that the conjugate

operator to ¢(p) is not 7(p) but rather 7(—p). Similarly:

3(p).3(a)) = [ dixayePxe (o) o(y)] =0 (121.39)
[7(p), 7(q)] = / d*xd3ye"PXe ™Y [1(x), 7 (y)] = 0 (12.1.40)
Therefore, we find that:
lap, ag) = w;’wq <Ljp[frp, ¢_ql — qu[gfbp,frq]) (12.1.41)
= z@ : (27r)3i( - 53(};; 9 53(1;; q)) (12.1.42)
= (21)°6°(p — q) (12.1.43)

as we wished to prove. Similarly we find:

lap, aq) = 7V°"2P°"‘1 (qu[gz;p,ﬁ'q] n pr[frp, asq]> —0 (12.1.44)
lab, af] = _ngwq <w2q[¢3p, 7+ bjp[ﬁp, qu]> =0 m (12.1.45)

Now the Hamiltonian in (12.1.23) becomes a Hamiltonian operator expressed as:

1 d®p ; ;
=5 | n)r “p(teap + apap) (12.1.46)

Using the commutation rules in (12.1.36) this may be written in a more suitable form:

d? 1
H= / ﬁ wp (a;ap + 5(277)353(0)) (12.1.47)

Note that a each momentum mode evolves independently, there are no interactions be-
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tween different p’s so we do indeed have a free field theory. One worrying term however
is the delta function which we are evaluating at zero, the only point where it is defined
to be infinitely large, and we do not want infinities in our theory. Even worse, we are
integrating this infinity over all our degrees of freedom, which are uncountably infinite.

12.2 Infinities in the vacuum

The vacuum state

Define the vacuum state |0) to be such that:
ap |0) =0, Vp (12.2.1)

Applying our Hamiltonian on this state we find:

d3p 1 3.3 21
H|0) = —(2 = 12.2.2
0) = [ G2 5en 0 £ ) (1222)
As we said earlier, there are two infinities in this result: one coming from the infinite num-
ber of degrees of freedom (infra-red divergences due to the large length scale), and one
from the delta function.

Thus, let us consider a box of size L. Trivially

L2 ‘
(27)363(0) = lim d3x e'PX

=13 (12.2.3)
L—oo —L/2

p=0

so in a finite box the delta function could have been replaced by the volume of the box.
Consequently the ground state energy density is:

Pp w
o = / (2;)’37" (12.2.4)

This integral is still infinite as p — oo, that is at infinitely small wavelengths (UV diver-
gence). However, we should not expect our solution to hold for arbitrarily small length
scales !, so we should impose an energy cut-off to our integral. For example, in condensed
matter theory we often deal with discrete lattices, so the minimal length scale to be con-
sidered is the lattice spacing.

More practically, since in experiments we can only really measure energy differences, we
can ignore delta function and simply write:

d3
H= / #wpa;ap (12.2.5)

This is equivalent to redefining our hamiltonian so as to remove the delta function. Note
that now the zero point-energy is equal to 0. For example, we could have written the

Ljust like we would not expect classical electromagnetism to hold at quantum scales where Coulomb’s law
diverges
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classical hamiltonian as H = 3(wq — ip)(wq + ip). This however would give a quantum
hamiltonian # = wa'a, so there is an ambiguity in the quantization process due to the fact
that while classical observables commute, quantum operators do not. To deal with this we
can set a convention, namely normal ordering which places annihilation operators to the
right of creation operators, and (12.2.5) would be written as:

d3
cH ::/(2:)’3wpa};ap (12.2.6)
It is now easy to check that:
[H, a;r,] = wpa};, [H,ap) = —wpap (12.2.7)

The Casimir effect

12.3 Particles from fields
Let us define |p) = alT, |0), so that H |p) = wp |p) = Ep |p)- It follows that:
E;=p°+m’ (12.3.1)

which is the relativistic dispersion relation for a massive particle with momentum p. Thus
we should interpret |p) as the state of one such particle. So the coefficient of ¢? in the KG
field became a mass, and the frequencies decomposition became momenta!

Since |p) is a momentum state (plane wave), we would like to have a momentum operator
to give us p when acting on this state. In classical field theory we defined the momentum
of a field as:

Pl = / d3xT% (12.3.2)
which for the Klein-Gordon field reads:
p=-— / d>x7(x) Ve (x) (12.3.3)
which upon quantization turns into the operator:
d®p
p= / ( 27r)3;>cq,ap (12.3.4)
Note that: e 8
_ P i _ p _ — 12
Pl / (o) Pep7p q9) / (zﬂ)3p5(p q)la) =4qlq) (12.3.5)
as desired.

Similarly, we can also define an angular momentum operator:

Jt= ¢k / d3x(MO)k (12.3.6)
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12.4 Quantizing the electromagnetic field

A very similar quantization process can be performed for vector fields, most importantly,
the electromagnetic field.

For non-relativistic systems we typically use the Coulomb gauge V - A = 0, so that in
vacuum the electric and magnetic fields are given by:

B=VxA (12.4.1)
OA

E=—— 1242
5 ( )

Inserting these into the Ampere-Maxwell law we find that:

1 9%2A
A= - 12.4.
v c? Ot2? ( 3)

which is the classical wave-equation. If we take A to be in a box of volume V with periodic
boundary conditions, then the solutions to the above will be those of a waveguide, and
can thus be expanded into modes:

=" Ag(t)e™™ (12.4.4)

which when substituted into (12.4.3) yields:

A(x,t) = Z(A+ ot | A et ikex (12.4.5)
}:_Afke illex—wd) 4 A - pillox—ad)) (12.4.6)
k

Since the vector potential must be a real quantity, we must have that:

Z(A—k —i(k-x—wyt) + A— i(k-x— wkt)) _ Z((Ai—k)*ei(k-xfwkt) + (A;>*67i(k-x7wkt)) (1247)
k k

so that AT, = (Ay)*. It follows that we may decompose the vector potential into modes
of wave-vector k and polarisation €, by letting A, = Ay y€x:
Z 37 (Apeltxmad) 4 gp | emiload)) g (12.4.8)

k A=1,2

where {€1, €2,k/|k|} form an orthonormal basis and wy = |k|c. The classical hamiltonian
for the electromagnetic field is given by

-1 1 1
H=- E|*> + —|B|?)dx = =
2/(ffol "+ g 1Bl")dx 2/(&0

We now use some Fourier analysis trickery to simplify the above expression. Firstly, note
that by applying Parseval’s theorem (not to be confused with Parseval’s identity), which

2
1
—| +—|Vx A|2>dx (12.4.9)
Ho
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states that:

1 .
FOPdx = — |f(K)|? 12.4.10
J reopix= 5 S1w) (12:410)
then we get (we ignore any prefactors in front of the sum as we will normalize everything
at the end):
0A 0A
/1% (%)

Computing the Fourier transform is immediate:

2
dx:z
k

2, /yv x AlPdx = Y| F(V x A)? (12.4.11)
k

F(V x A)(K) = (ik x € )) (A e M6 — A ye™'6_y) (12.4.12)
kA
0A\ ., . iyt * it
Flor (K') = (i) (A pe ™0 — A 1™ 6 1) € (12.4.13)
kA

where 4y is shorthand for dys ;. We also note that:
€l * Etkel, = OAN (12.4.14)

and?
(ik x €)) - (—ik x €x) = [k[?6x (12.4.15)

so that

STIF(V x AP = (ik x €)) - (—ik x ex) (A e o0 — A \e™5_1)  (124.16)
k/

kK
AN\

X (Af e — A e “K5_10)  (124.17)

=3 KPP (2 Al — Ay Arne 2 — AL AL et (12.4.18)
k,\

and similarly:

OAN |? . ' | |
Z f(&f) = Z(iw)(—z’w) (Ak’)\eﬂwkt — Alt,)\ekat) (Aky)\efzwkt _ Alt,/\ewkt)e)\ €
% Y,
P
= Zwﬁ(2|Ak7)\’2 + Ak,)\Ak,)\e*inkt +Alt,)\Alt,/\62iwkt)
k,\

2this is easy to prove:

(axDb)-(axc)=€,ra;br€imnamen
= (5jm(skn - 5jn6km)ajambkcn

=la*(b-¢) —(a-¢)(a-b)

and since b = €, is orthonormal to ¢ = €,/, and since k is orthogonal to both polarization vectors, we get the
desired, result.
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12.4. QUANTIZING THE ELECTROMAGNETIC FIELD

Finally, we find that (we switch k' — k for convenience):

H =

AP =260 wi(|ARA 7 + 1AL (12.4.19)
k,\ k,\

where Ay )\ = Aff \ T+ iA{( - Note that if we define Ay \(t) = Ay, ye it then:

Afz)\ = WkA{(,,\a Af;,)\ = —kafZA (12.4.20)
and thus:
OH 9 R .
DAL = degwicAicy = —deowicAi (12.4.21)
OH .
— = deqwip Ay, = deowicAR (12.4.22)
0A ’ )

implying that A, and A{ , are canonically conjugate variables (up to some proportion-
ality constant). So, we may define the conjugate position and conjugate momenta to be:

Qux = 2vE0 Ay (12.4.23)
Py = 2wiv/E0Aj (12.4.24)

respectively. Clearly, these satisfy:

: 0H _ _f
{Qk,)\ = B\ s ~Hi (12.4.25)
Py = —wiP 8Pk T = Qo

as would be the case for a harmonic oscillator. Consequently, also the hamiltonian will be
identical to that of a harmonic oscillator:

1
H = 3 > (P + wiiQu,n) (12.4.26)
k)
We can now quantize the electromagnetic field just as one would quantize the harmonic
oscillator. We promote P y and Qy ) to quantum operators py , and g , which satisfy the

canonical commutation relations:

[Gicns Pre w] = R0y O (12.4.27)
[Gic.xs Gir 3] = [Prers P ] = 0 (12.4.28)
so that: )
H =33 (b +wicdicn) (12.4.29)
K\

We introduce the ladder operators:

GL,\ = \/ o (@icdicr — i) G = £/ 5 (alT( A Hak)
e = o (12.4.30)
) = \/ o (@i n + iPkA) Proy =1y T3 (@, — ak,n)
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With these new operators, the Hamiltonian turns into the familiar quantum harmonic os-
cillator:

=t Y (af yawer + %) (12.4.31)
kA

Finally, to relate this hamiltonian to our classical expression (12.4.8) of the vector potential,
we make use of the fact that:

Ag oy = ka( wa taka) + 2\ﬁwk \/7(ak \ — Ok,)) (12.4.32)
ax,\

Af = 12.4.33
\/ 250wk — Mk T 2€0wk ( )
giving:

[ h . .
A t) = i(k-x—wyt) —i(kex—wyt) T 12.4.34
(x,1) SRR, ; . (e ag\ + e ay ) €x ( )
E(x,t) =iy i 3 (eilkex—wd) gy — emillxmad)of e, (12.4.35)
QEOV Kk A—1 ’

h . .
B(x,t) =i gilkx—wndt) g pmilkx—wit) 4T () € 12.4.36
() =iy CERY zk:/\:m( KA ) (kX €) ( )

12.5 Quantizing a complex scalar field

We have discussed real scalar and vector fields, so it is now time to tackle complex scalar
fields.
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Second quantization

13.1 The need for second quantization

Suppose we have an N-particle system, where particle i resides in a hilbert space ;. The
system as a whole will then be described by a state in the tensor product space ®;-; H,;.
In the special case where the N-particles are indistinguishable, special care must be made
due to the distinction between fermions and bosons. The states describing bosons will be
totally symmetric under particle exchange, and thus belong to the subspace Sym” # while
states describing bosons will be totally anti-symmetric, and belong to the subspace A H.

Let [¢) = [¢pM), @ @), @ ... [p(V)) € HN. This doesn’t automatically qualify |¢) as a
physical state describing bosonic or fermionic systems. We must find a way to symmetrize
or anti-symmetrize this state. It can be shown that this can be done through the projection
operators:

~ 1 .

= ;: " (13.1.1)
OESN

N 1 N

-= 7w > sgn(o)Ps (13.1.2)
toESN

known as the symmetrization and anti-symmetrization operators. Using the definition of
permanents (denoted by a + sign at the top) and determinants, it follows that:

Oy ™), [y o @) |
B N
), =8y V) == W), @)y [0y @)y (13.1.3)

Y ), [, )y o

and similarly:

W@y By [y o [®) (13.1.4)

W), @), [y, )

— 85 —




13.2. THE OCCUPATION REPRESENTATION AND FOCK SPACES

We can write these results more intuitively as:

). = <5 (10) + permatations of [1) (1315)
1 .
vy = W(W) + permutations of |¢)) (13.1.6)

To summarize, we started with some ket where a list of IV states in H were occupied by
a particle, and produced a new state where each state is still occupied, but that is now
(anti-)invariant under any particle exchange. We have gone from thinking about the state
of each particle to thinking about which states are occupied.

It is clear that calculations involving permanents and determinants can get very messy in
the thermodynamic limit, due to the ~ o(N!) complexity of evaluating determinants and
permanents. A new convention is thus needed to deal with many-body systems such as
the ones encountered in condensed matter systems.

The situation is further worsened by a redundancy in the standard notation we have used
thus far. Consider the following states:

10,) = [p1), @ |93, @ [P, © [p?D), (13.1.7)
Wy) = [p @), @ [vP), @ [pD), © [y, (13.1.8)
(13.1.9)

It is clear that (anti)-symmetrizing | V) and |Vy) will give the same state. More generally,
for fermionic systems, given any state in H', there will be N! states generated by the
symmetric group Sy which get symmetrized to the same state in A . 'In other words,
the dimension of H" does not match the dimensions of Sym ,H and A" H.

13.2 The occupation representation and Fock spaces

One important concept that came up in the previous section was the occupation of states.
Indeed, in both the symmetrized and anti-symmetrized states, the occupation of each state
was preserved. This suggests using a notation where instead of referring which particle oc-
cupies which state, we refer to which states are occupied. This is known as the occupation
representation.

Generally, if we let {|y(1) |12} | ..., [o*) . ...)} be an ordered basis of 7, then we define
|n1,n2,..,nk,...) (1321)

to be the state where |1)(1)) is occupied by n; particles, [1)(?)) by ns particles, etc...

In other words, for bosons we have that:

N

MS+<@3 W), ) & ((Xf |¢<2>>m+i)-.-(5§1> $9)_ )

 (1322)

<

|n1, nNo, .., Nk, «..

lthe situation is more intricate for bosons where a state may be occupied by more than one particle
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where N = >, n;, while for fermions:

In1,ng, .., g, -..) = WS-((%) w(1)>i) ® ((%21) \w(2)>m+i)...<§) y¢<’f>>m)... (13.2.3)

where n; = 0,1 by the Pauli exclusion principle. The occupation representation is much
more abstract and harder to use for fermions due to their state’s anti-symmetry. Indeed,
note that:

lni=1,.,n;=1,..) = VNIS_(.. @ |[v) @ .. @ [p)) )
— |onj=1,..,n=1,.) =VNIS_(.®[pV) @ .. [yp®)..)
= — \,nz = 1, cy g = 1, >
Clearly, the order in which we state the occupation of states is important, even though

we're still denoting the same physical state. This corresponds to the fact that the order of
the rows in a determinant matters, exchanging two rows yields a sign change after all.

States in the occupation representation constructed from a single-particle space H belong
to the combined space of all possible states for an N-particle system, which we denote as
F N-:
Fn =Span{|ni, ng,....) 1 3_n; =N} (13.2.4)
1

For example, letting N = 2 and H = {|1), |{)} then:

Fa= {119 1. 101 © Wy, (1 © 1, + 1 @ 1), (1325)
€Sym,H
1
5t © e = e 1)) | (13.26)

eN*H

The Fock space F is defined as the direct sum of all F;:

F=pF (13.2.7)

13.3 Creation and annihilation operators

Bosonic operators

There are two important maps between Fy and Fy 1, known as the creation and annihi-
lation operators. The bosonic creation operator is defined as:

al :Fn = Fnia (13.3.1)
]nl, ceey Ty, > —vn;+1 ]nl, e+ 1, > (1332)
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so that (restricting the fock state to the occupation of |)())) only):

= (nilai|ni+1) = (ni+1]af|n)" = Vi +1 (13.3.4)

In other words, we have that the hermitian conjugate of the creation operator, known as
the bosonic annihilation operator, is defined as:

a; :Fnt1— Fn (13.3.6)
|n1, ey + 1, > —vn; + 1 |7”L1, cey Ny, > (1337)
These operators allow us to create or destroy particles in a specific state. One must be

wary however, since destroying too many particles eventually leads to the destruction of
the vacuum state |0), where each state is not occupied, giving zero as a result.

We find that if 7 # j:

aza} Ini,nj) = \/n; + 1y/ng |ng — 1,5 + 1) (13.3.8)
a;ai |ni,nj) = /niy/n; +1n; —1,n; + 1) (13.3.9)
= [a;,al] =0, i #j (13.3.10)
while if i = 5:
aia |ni) = Vg + 1v/ni + 1 |n;) (13.3.11)
ala; [ni) = /miy/mi |ng) (13.3.12)
— [a;,al] = 1 (13.3.13)
implying that:
la;, al] = 6 (13.3.14)
Similarly, one finds that:
a}a;r Ini,ng) = /n; + 1vn; + 1 |n; +1,n; + 1) (13.3.15)
alal [ng, ;) = vni + Ly/ng + 1|n; + 1,0 + 1) (13.3.16)
= [a],al] =0,i# (13.3.17)
and since [a], a!] = 0, we find that:
[af,al] =0 (13.3.18)
Therefore:
la], al]" = [aj, ai] = 0 (13.3.19)
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giving:
[ai, aj] =0 (13320)
These relations define the commutator algebra for bosonic creation/annihilation operators.

Moreover, we may also use these operators to generate the Fock space from the vacuum
state |0), since:

1
\/nl'ng'nz'z

N
In1,mg, .y iy .. (a)™ |0) (13.3.21)
=1

Finally, (13.3.12) suggests that we define a new operator, the occupation number operator
7;, as the following automorphism:

ni 2 FN = FN (13.3.22)
|n1,...,ni,...) Hni\nl,...,ni,..) (13323)

which gives the occupation number of the ith state.

Fermionic operators

Just as in the case of bose statistics, we may define creation and annihilation operators
for fermi statistics. However, care must be taken due to the exchange anti-symmetry of
fermions, and a necessary revision to the bosonic operator definition will therefore be re-
quired.

The fermionic creation operator is defined as:

cFn = Fn (13.3.24)
|n1, ceey Ny, > — (—1)Si\/ n; + 1 |n1, ey + 1, > (13325)
where s; = ZZ;_II ng-

Consequently, we see that (restricting the fock state to the occupation of |()) only):

(ni+1|cf|ni) = (-1)" (13.3.26)
= (nilai|ni+1) = (ni+ 1|l |n;)" = (-1)* (13.3.27)
= ¢ ni +1) = (—1)% |n;) (13.3.28)

In other words, we have that the hermitian conjugate of the creation operator, known as
the fermionic annihilation operator, is defined as:

ci Fny1 — FN (13.3.29)
|7”L1, vy 1 > — (_1)81'\/”@. +1 |7’Ll, vy N, > (13330)
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To understand the significance of the (—1)* term, consider:

Cj ]n, = 1, e, N = 1,nj = 1> = —Cj \nj = 1,n,~+1 = 1, N = 1,n¢ = 1) (13331)
= — ‘7’L7;+1 = 1, ey N = 1,’[7,1‘ = 1) (13332)
s;—1
= (=D (=1)* ;=11 =1,....,n, =1)  (13.3.33)
= (—1)Si |TL,L = 1,7”Li+1 = 1, ey N = 1> (13334)

and similarly:

Cj ]nz = 1, N = 1> = ]nj = l,ni = 1, N = 1> (13335)

Si

=(-1%n;=1,...,n,=1,n;=1) (13.3.36)

We see that the definition of the fermionic creation and annihilation operators still have
the action of creating and annihilating fermions, but now taking exchange degeneracy into
account.

Therefore:
|ni = 1,nj = 0> = ]nj = O,Hi = 1) R and\ni = 1,le = 1> = — |nj = l,ni = 1> (13337)
so that:
cichlng =1) = ¢;n; = 1,n; = 1) = c;(— |ng = 1,n; = 1)) = — |n; = 1) (13.3.38)

which agrees with our definition of ¢; since s; = 1 and s; = 0 gives a sign change. Similarly,
we have that:

CiCj \nz = l,nk = 1,7”Lj = 1> = Ci(— \nk = 1,ni = 1>) = cl(\nz = 1,nk = 1>> = ]nk = 1>
(13.3.39)
which agrees with our definition of ¢; since s; = 2 and s; = 0 give no sign changes. We can
use these results (and similar ones) to evaluate the commutation relations for fermionic
operators.

We find that if i # j:

cic} ni=1,n;=1) = cic} Inj =1) = cic} |0y =0 (13.3.40)
cleini =1,n; =1) = cle;In; = 1) = cle; j0) = 0 (13.3.41)
and:
cichlng=1) = ¢;nj =1,n; =1) = — |n; = 0,n; = 1) (13.3.42)
c;.ci Ini =1) = c} 0) =|n; =1) (13.3.43)
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while if i = j:
cicl [ni = 1) =0, cicl 10) = |0) (13.3.44)
cleilni=1) = n; = 1), clei|0) =0 (13.3.45)
— {ci,cl} =1 (13.3.46)

implying that:
{ei,ch} = 03 (13.3.47)

Similarly, one finds that the only non-zero effect of ¢! ¢ c is on the vacuum:

clel |0y = [n; = 1,n; = 1) (13.3.48)
c}c;r 0)=|nj=1n=1)=—|n; =1,n; =1) (13.3.49)
= {cz, ]} =0,i#j (13.3.50)

and since {c!, ¢/} = 0, we find that:

{cl,cly=0 (13.3.51)
Therefore:
{cl, i}t = {ej,ei} = (13.3.52)
giving:
{eiei} =0 (13.3.53)

These are the anti-commutation relations for fermionic creation/annihilation operators,
and are equivalent to the bosonic relations if we replace the anti-commutator by a com-
mutator. Moreover, we may again use these operators to generate the Fock space from the
vacuum state |0), since:

In1,ng, ...y N, ...) = \/WH )" |0) (13.3.54)
where the ordering of the products is as follows:
N
[T(ehm = (chym (... (13.3.55)
i=1

Finally, the occupation number operator 7; is defined as usual, only that now its eigenvalue
spectrum is restricted to 0 and 1, due to the Pauli exclusion principle.

General summary

In summary, if we define the following generalized commutator:

[A,B], = AB —nBA (13.3.56)
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then the generalized creation/annihilation operators a;r, a; satisfy the following algebra:

[ai,a}]n =05, ai,aj]y = [a] aT]n 0 (13.3.57)

177

13.4 Field operators

The creation and annihilation operators may be used to convert operators in first quanti-
zation into field operators in second quantization.

In vague terms, a field operator is a field which assigns an operator to every point in real
space. If we let {|v;)} be a basis of a Hilbert space equipped with the continuous position
basis {|r) }, then we define:

(1) = > wi(mal, () =3 viwa; (13.4.1)

As Bruus and Flensberg [? | puts it, these field operators are the linear combination of “all
possible ways to add a particle to the system at r”. An important special case of (13.4.1) is
when we use the momentum basis |k) = |¢);) normalized over some volume V. Then we
find that:

h( e*lk Tl , elkf 13.4.2
—qf = / eik-r\lﬂ(r) dr, ay = / e—“"f\y(r) dr (13.4.3)

where we used the fact that:
e DT gr = Vi (13.4.4)

Clearly, these represent Fourier transform relations between the creation/annihilation op-
erators and the field operators.

It is easy to see that:

[W(r1), \IﬂL (r2)] =3 {zk: ikery ax, Z e—iq~r2a:ﬂ , (13.4.5)

1 T I
= v eilleri—q- 2)[ak aq]n (13.4.6)

kq
=Y eklemm) (13.4.7)
Kk
= (5(1‘2 — 1'1) (1348)
and similarly

[W(r1), U(r)], = [¥F(r1), ¥ (r2)],, = 0 (13.4.9)
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Representing single-body operators

Consider a single particle operator f acting on H. In the full product space H", then we
would define: R R
=K. .0 fK.. (13.4.10)

to be the single particle operator acting on the ith particle Hilbert space. Taking the sum
over all particles, we recover the one-body operator:

F=X"1 (13.4.11)
which in a {|i)} basis of H reads:

F= kazZ\k iy fu= (k| F|1) (13.4.12)
q

Our goal is to second quantize the expression }_, [k), (I|,, and do so by investigating its
effect on some fock state |n;, nj, ...). We find that in first quantization:

> k), (1, m » <® |4) ) ® <§|j>m+m>... (13.4.13)

= S S, gg ) @ (@ o )- (13.4.14)

since F' is exchange invariant, and therefore commutes with S..

We can expand the sum in ¢ to find that (we omit ® to save space):

=1 1k)y (1) 18y oo [0, [Pt o | o, o 1) (13.4.15)
=20+ i)y 1K)y (g 1i5) o (1), 7)1 e ), o [t (13.4.16)
¥ (13.4.17)

G i) ) e D, 1)y o 1Dy (], - (13.4.18)
¥ (13.4.19)

In the gth line, we will get that |u), — &, |k),, where |u), is whatever state is in the
gth position. Consequently, the only lines that will survive will be the ones with state
1), in the appropriate position ¢. Since there will be n; particles in the state |l), this
will lead to n; lines not vanishing. Each of these lines will also be some permutation of
i)y |i)g - i), 17) 11 -+ 1K) -, and since Sy commutes with P, for any o € Sy, we find
that:

Xq: k), (| ,n » ( ® i) ) ® (n(%l \j>ni+m>... (13.4.20)

N!
niln;l...

— A T ) S 1 (13.4.21)
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and since:
N! & s . .

’nia sy N — 17 ceey T + 17 > = n2|(nl - 1)'(nk + 1)|Si ‘Z>1 |Z>2 ‘Z>n1 |]>ni+l |k>q
(13.4.22)

we find that:
Z|k (U 172y coes ity ooy gy ) (13.4.23)

! N N
7.’”5} |i)1 [8)g o [0 [3) g1 \k>q (13.4.24)
ilo(ng — 1. ..

\/" (nu ;v' (g +1) Ny osmy — 1, g + 1,0 (13.4.25)
=vuvng+1ng,..,n—1,..,npg+1,..) (13.4.26)
= azal [Ty ey My ey Ty o) (13.4.27)

Finally, we get the very elegant representation of a one-body operator:

F=Y" fuala (13.4.28)

If we are working in a Hilbert space embedded with a position representation then we may
also write that:

F=Y fuila = / Gi(0) f(x) drafa) = / W () f U (x) dr (13.4.29)
kl kl

Representing two-body operators

We begin by deriving a useful property of creation/annihilation operators. Firstly note
that the commutator algebra for these operators may be written as:

aka; = na}ak + ik, ara; = najay, (13.4.30)
where 7 = 1 for bosons and 1 = —1 for fermions. Then:
aTakaTal = aI(na}ak + 0jk)a (13.4.31)
= naTa apa; + 5jka1al (13.4.32)
=7 aTaTalak + 6jka;ral (13.4.33)
= alalaay, + 60l (13.4.34)

Now consider a two-body operator written as g, = fqﬁ; where fq acts on H, and gy acts
on H,. Then, we find that the total two-body operator may be written as:

Z Gaq (13.4.35)
qiq
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where 3 takes care of double counting, and we discard ¢ = ¢’ terms since a two-body
operator must involve two different particles.

Therefore:

G5 dw = (ququ qu@q) (13.4.36)
q

(Fé -y fqﬁq) (13.4.37)

(13.4.38)

Now we use the fact that F' = > fo G = > fy and >q faiq are single-body operators,
and thus have a field representation of the type in (13.4.28):

A 1
=5 < Z finalay Z gpatar = Y (fh)ual a;) (13.4.39)
j j il
< > fikgjia) akaTal Z(fh)z‘la;ral> (13.4.40)
ijkl il
<Z fwgiala alak + > firgiid; rala; — Z(fh)ila;ral) (13.4.41)
ijkl ikjl il
<Z fzkg]za azak + Z fz]g]la a; — Z Jijhjia; az) (13.4.42)
ijkl il 5l
=5 Zfzkg]la a;aiay (13.4.43)
zgkl

Note that the matrix elements of §, f, h are related by:

so that:
G = ngkla aTalak (13.4.45)
zgkl

Luckily, any two-body operator may be expanded as a power series in one-particle opera-
tors:

G=> cas Y foH) (13.4.46)
aﬁ q74q'
5 Z %) jual aTalak (13.4.47)
zk]l
5 Zgz]kla a;aag (13.4.48)
zk]l
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Change of basis

Finally, we must comment on how changes of basis affect the field representations we have
derived. We have already observed that the change from the position to the momentum
basis is given by a fourier transform.

More generally, we have that given two bases {|u;) } and {|v;) } of H. Then, for any [¢) € H:

af, 10) = Jui) =Y (vjlug) [vj) = > (v | wi) @ [0) (13.4.49)
J J
implying that:
ali = Z (v | us) alj = Qy, = Z (u; |vj) ay, (13.4.50)
J J

Clearly, we see that using {|u;)} = {|r)} then 4, = 3, (r|v;) a,; which is just the field
operator U (r) we defined earlier.

Using a change of basis allows us to derive in a much simpler way the field representation
of diagonalizable operators. Indeed, suppose we have some one-body operator f with
eigenbasis {|;) } and eigenvectors \;. Then:

F=3" Mg =Y Nal, ay, (13.4.51)

Consequently, using another basis {|¢;)} then

F= o= MY (o) o, 3 (v 05) o (13.4.52)
t ¢ J
=3 (elv) (wi| Flwi) (wil ) al, s, (13.4.53)
= %]: (ok| F| 85)al a0, (13.4.54)
= i frjals, ao, (13.4.55)
kj

as we found earlier. Similar arguments may be used to show that for two-body operators
G:

A 1
G = 3 Z,% gijkla;ra;alak (13.4.56)
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Solid state physics
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Solids: Boltzmann vs Einstein vs De-
bye

15.1 The heat capacity of solids
Recall from Thermodynamics that

VTa? 1 dp 10V
—Cy — it - 15.1.1
Cp CV KT ) & vV orT V7 KT % 8]3 . ( 5 )

where « is the thermal expansion coefficient and ~r is the isothermal compressibility. For
solids, the expansion coefficient is very small, so usually we can set the isobaric and iso-
choric heat capacities to be equal to each other:

Cp~Cy=C (15.1.2)

The goal of this chapter will be to study the heat capacity using different models, namely
the Boltzmann, Einstein and Debye models.

15.2 Boltzmann model

The simplest model for a solid was given in 1896 by Boltzmann, where he took each atom
in a solid to reside in a (classical) harmonic potential. The resulting heat capacity can
be calculated using the typical method of writing down the partition function, finding the
free energy and then using the appropriate thermodynamic relation (see statistical physics
lecture notes). There is however a much faster way to calculate C.

The short-cut is to use the equipartition theorem. We argue that there are six degrees of
freedom in our system, p,, py, p. (due to kinetic energy) and z, y, z (due to the harmonic
well being translationally invariant). Since each degree of freedom contributes 1 Nkp to
the heat capacity we should expect

C = 3Nkg (15.2.1)

which is precisely what the rigorous method yields.

The law in (15.2.1) is known as the Dulong-Petit law. While the Boltzmann model works
fairly well at high temperatures where the classical picture holds, we get deviations at
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lower temperatures for certain materials, most notably for Diamond where C' < 3Nkp
even at room temperature.

15.3 Boltzmann model

In 1907 Einstein solved this inconsistency by adding some quantum flavour to Boltzmann’s
model (19 years before Schrodinger’s paper even came out!). Instead of treating the har-
monic potential as classical, we can use quantum mechanics and use the quantised energy
levels of the quantum harmonic oscillator:

1
E, = 3hw <n + 2) (15.3.1)

From the statistical physics lecture notes we find that

1

1
U:3ﬁw<n35hw—|—2>, nB:eﬁT

— (15.3.2)

where np is known as the Bose factor, and roughly represents the average excitation level
of the system at a given temperature. Differentiating with respect to temperature we find
that

o e
In the high temperature limit then e’ ~ 1 + fhw so to first order
C ~ 3Nkg(1 + hpw) (15.3.4)

which (to zeroth order) reduces to the Dulong-Petit law. In the low temperature limit, on
the other hand, we find that
C = 3Nkp(Bhw)?e~ P (15.3.5)

so we get an exponential temperature suppression factor.

P El i
ar a2 ad o 4

kpT/hw

ar afF o= 7.0

Figure 15.1. Plot of the heat capacity according to the Einstein model, from Einstein’s original 1907
paper.
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Unfortunately, Einstein’s model still has some shortcomings, most notably at really low
temperatures where the heat capacity seems to have a ~ T type of behaviour.

15.4 Debye model

This inconsistency was solved by Debye in 1912 by noting that if we displace an electron
from one state to another, it will push on the other electrons, which will themselves move
and form sound waves, quantized modes known as phonons. Thus, instead of considering
a set of N harmonic oscillators, let’s consider a set of phonon waves with IV possible modes
(up to a polarisation factor).

The internal energy is now given by the sum of the energies for each mode w;:

U= Z hw; (nB(,Bhwi) + ;) (15.4.1)

where the sum is over all phonon modes i. We can have three different polarisations of
our sound waves, and we can assume that the speed of sound is independent of direction
and polarisation. We find that

> (modes) — (5’:)3 / d’k (15.4.2)

(]

and using the dispersion relation w(k) = vpk then

3V 3V e
Z(modes) — o) /d3k—> 27T22}3/0 wldw (15.4.3)

We can therefore read off the density of states as

3V

9w? N
- W“Q = NE, wp = ,/67#?@3 (15.4.4)

where we defined the Debye frequency. Consequently the total energy reads

g(w)

U= /OOo g(w) e (nB(,Bhw) + ;)dw (15.4.5)

This is slightly worrying, the % factor will give a diverging term in the integrand, and we
do not want infinities. However, this term will be temperature independent, and since
we are interested in the heat capacity it will drop off when differentiating it with respect
to temperature. Later we will see how to deal with this infinity more justifiably, so we
proceed with resolve and ignore the factor for now:

ONK [ w3
U="3" / T (15.4.6)
CUD 0 e
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15.4. DEBYE MODEL

and recognising the Bose-Einstein integral we get

3 (ksT)* 4
=—-N 15.4.7
U=sNop)E™ (15.4.7)
which when differentiated gives the Debye heat capacity
12 T hwp
C=-"-Nkp|— |7*, Tp = —— 15.4.8
57 (TD) P kg ( )

Here Tp is known as the Debye temperature. This result gives the required low tempera-
ture T2 behaviour, but it seems like this came at the cost of losing the empirically verified
high temperature result C' ~ 3Nkp. Going back to the Boltzmann model remember that
the factor of 3 came from the fact that we have 3 degrees of freedom, but in Debye’s model
we included an infinite number of wave modes, and thus infinitely many degrees of free-
dom. However, it is incorrect to assume that arbitrarily high frequency sound waves can
propagate through a solid since if the wavelength of this wave becomes smaller than the
atomic spacing in the solid then the wave will not propagate at all. To fix this issue we can
impose an ad-hoc high frequency cut-off w. so that

/ " () dw = 3N (15.4.9)
0

This is saying that the total number of permissible wave modes must be equal to the num-
ber of degrees of freedom in the system. Intuitively this makes sense because to fully
specify a system it suffices to know how many particles occupy each occupable mode, so
that if there are 3N modes then we must specify 3N occupation numbers. Consequently

we find that -~ "
w? dw =

T 3 — —
27208 |, 3723 %e = 3N = we=wp (15.4.10)

The Debye frequency thus represents the highest frequency mode that can travel through
the solid, above which the density of states vanishes. If we redo our calculation we see that

wp 1 INB (9P W
U—/O g(w)hw<n3(ﬁhw)+2)dw— w%/o g T (15.4.11)

where the zero-point energy contribution not longer diverges, but can be omitted since it
is temperature independent. We obtain the heat capacity by differentiating

9Nkgh? , [“P whefw
= - - 15.4.12
i e v L (1o412)
This can be rewritten more nicely as
=9Nkpg| — —d 15.4.1
Cy =9 B(TD> /0 e (15.4.13)

Note that at low temperature it does not matter whether we cut off the integral at 7p /T" or
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Figure 15.2. The heat capacity predicted by the Einstien model vs. the Debye model.

00, so the result we previously found

12 T
Cv = =Nkg <—>7r4, atlow T (15.4.14)

still holds !. At high temperature instead we can Taylor expand the integrand

7\3 [Ip/T
U =9Nkp () / 2% dr = 3Nkp (15.4.16)
TD 0

just as required by the Dulong-Petit law (and most importantly by experimental data).
Other than the fact that the Debye model is just visibly a better fit to experimental data,

its other strength is that unlike the previous models it has no fit parameter: wp, the Debye
frequency, can be measured in a lab.

lit is easier to directly evaluate the infinite integral in U and differentiating than calculating the integral

oo gl 47t
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Metals: Drude vs. Sommerfield

16.1 Drude model

Consider a system of electrons moving under the influence of a force F, and which scatter
with each other with scattering time 7. We assume that the scattering process is com-
pletely inelastic so that the momentum after a collision is zero (although this obviously
does not hold for individual collisions, the average effect is that the particle can scatter in
any direction and thus p = 0).

If we picture a single electron with momentum p(t) at time ¢, then after some time dt we
will find that

p(t + dt) = (1 - ‘f) [p(¢) + Fdt] + %o (16.1.1)
= p(t+dt) —p(t) = (F - f)dt (16.1.2)
= %5 =F- E (16.1.3)

so we see that the scattering effects act as a drag force. If the electron is in an electromag-
netic field then

dp p
—= = —e(E4+v x B) — - (16.1.4)

The steady state condition %2 = 0 fixes the equilibrium drift velocit
y dt q y

—¢(E+vxB)— g =0 (16.1.5)
Let’s define the current density j = —nev, then
1
E=—jxB+—j (16.1.6)
ne ne<Tt

so we get two contributions to the electric field, a contribution parallel to the current, and
a Hall electric field perpendicular to the current.

Suppose initially that B = 0, then we find that

neQT

(16.1.7)

j=o0E, o=
m
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16.1. DRUDE MODEL

so the current produced is proportional to the applied electric field, with conductivity o
being the proportionality constant.

Now let’s turn on the magnetic field: B # 0. Suppose we measure the Hall electric field
Ep, then if we know n and e then we can evaluate the magnetic field via

1
EH:RHB Xj, RH = - (1618)
ne
where Ry is known as the Hall coefficient. More specifically, assuming we have a constant

magnetic field then we can let B = Bz. This then yields

1. m .
E, = —%Jsz + —5 (16.1.10)
E.=——j. (16.1.11)
nest
or in matrix notation
Pl Pxy 0 m B
E = —Pzxy p” 0 j, p” =5 Pxy = 722 (16112)
0 0 p” nest ne
We define the matrix p as the resistivity, and its inverse is the conductivity
o Ozy 0 ) ol
0 0 pL“ P+ ng Pt pa%y
m

As expected we get a parallel resistivity p| = 75~ = % which we calculated earlier, but
now we also get off-diagonal resistivities given by p,,, which correspond to longitudinal
currents producing transverse Hall electric field. This electric field is proportional to B,
and inversely proportional to the carrier density n and charge e.

Unfortunately, the Drude model for conductivity is not always correct. Indeed, for materi-
als such as Beryllium or Magnesium the Hall resistance, which is supposed to be negative,
actually takes positive values. Nevertheless, let’s go on and calculate the thermal conduc-
tivity which we know from classical thermodynamics is given by:

1

K= gney (v) A (16.1.14)
According to the Drude model the scattering length A is A = (v) 7, and (v) = Sfrff to
find that 2

y 2 AnThpT (16.1.15)

™ m
The question mark arises from dubiously inserting ¢, = 2kp. a result which applies to
ideal gases. We still do not know what 7 is so it is difficult to compare with experiment.
However, since o= ne’T ye can take the ratio and remove 7 to find the Lorentz number

m
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Lgr

Lgr

- TO'” e

K 4 (kp\> -8 -2
—|—) =10x100°WQK (16.1.16)

e
Empirically the Lorentz number is 2.2 x 10~8 W Q K2, a result known as the Wiedemann-

Franz law.

Note that the Lorentz number is universal and should be the same for any metal, it only de-
pends on fundamental quantities such as the Boltzmann constant and the electron charge.
This result is quite intuitive since we should expect thermal and electrical conductivity to
be governed by analogous transport processes, so taking the ratio of analogous transport
coefficients should give a constant. Indeed we also find that the thermal current density j¢
and the electrical current density j are related by j¢ = IIj where Il is the Peltier coefficient:

cyT
3e

II = (16.1.17)
If we run current through a metal then this will produce a thermal current and cool one
side of the material. However we cannot cool the material to arbitrarily low temperatures
as the Joule heat dissipation I2R can quickly dominate over the Peltier effect. We can get
another universal constant from II

H CV ? k B _4 -1

S=—=—-——=—-—"—~-04x107"VK 16.1.18

T~ 3¢ 2 8 ( )
where in the last step we substituted ¢y = 3kp. Experiments show that S should be about
10~ times smaller! Of course, the mistake comes from haphazardly substituting ¢, = 3kp,
since the electrons in a metal are not ideal gas particles! In reality, cy < 3kp, so S should
be much larger. However this should also mean that Lz should be much smaller, how did

we get such good agreement with experiment? The answer is that we made two cancelling

errors, one was of course ¢, = %kB, but the other was (v) = 8%? which again comes

from the kinetic theory of ideal gases. In reality (v) is much larger, by about the same
amount by which ¢, is smaller than the ideal result. Inserting these two expressions into
k gave a roughly good approximation by pure coincidence, while for S this did not occur.

16.2 Sommerfield model

The reason we made the two cancelling errors in calculating the thermal conductivity was
that we treated the electron gas as an ideal gas, while in reality it is a fermion gas. Recall
that the average number of particles occupying a state with energy e at temperature 3

1

and that (T = 0) = EF is known as the Fermi energy which for a given particle density

n takes the form

a3 _ WPkE

h2
Ep = %(37r2n) . kp = (37n)/3 (16.2.2)

In principle, one could calculate the average number of particles /V as an integral, which
would yield a Fermi-Dirac function. One could take a low temperature approximation of

— 106 —



16.3. CONCLUSIONS

this expression and find the chemical potential as a function of n. Then one could similarly
calculate the energy U as an integral and insert the expressions for i to get something
completely in terms of n and 7'. Finally one takes the derivative with respect to temperature
to find C'y. This is the approach taken in the Statistical physics lecture notes. However, we
can cheat a little and derive the same result with more physical intuition.

As we slightly raise the temperature above T' = 0, the number of particles that move from
the grey region to the white region is roughly the same. Consequently, to keep n fixed one
does not need to change 4 significantly, thus allowing us to approximate . ~ Er. We also
assume that

E(T) = E(T = 0) + %N*E* (16.2.3)

where NV* is the number of electrons that can be excited, and E* is the average energy that
each state can absorb. We also introduced 7 as a fudge factor. We see that the average
number of electrons that can get excited (by thermal fluctuations) must be roughly within
a distance kgT of EFr so

Ep—kpT
N* = / g(Eynp(E)dE ~ g(Er)ksT (16.2.4)
EF+I€BT

since kg1 << Ep. Moreover, by this argument the energy that each electron absorbs is
roughly kgT so that

E(T) = E(T = 0) + Jg(Er)(ksT)’ (16.25)
Therefore, defining Tr = f—g as the Fermi temperature and using g(Er) = %E—]\; then
Cv = Y ok Tg(Er) = 4 Nk (16.2.6)

where it turns out that v = %2

16.3 Conclusions

The free-electron model is quite successful, it yielded good values for the heat capacity,
thermal and electrical conductivity, the Peltier coefficient and so forth. Nevertheless, it
still has several shortcoming which must be addressed. Firstly, experiments are able to
measure the scattering time 7 of electrons, and the resulting scattering length A\ = vp7 is
unreasonable large, reaching values as high as Imm at low temperatures. Furthermore,
the anomalous sign of the Hall coefficient is still unaccounted for, and so are the various
optical properties of metals. The main that we have been neglecting is the microscopic
arrangement of the electrons in matter.
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Vibration of solids

17.1 1D Monoatomic harmonic chain

The “old quantum theory” models we have constructed for electrons in solids and met-
als still have several shortcomings, such as the negativity of the Hall resistance and the
impossibly large scattering length. One important feature of electrons in crystals that we
have not exploited yet is the microscopic lattice symmetry. To investigate the fundamental
aspects of electron arrangements in solids, we will investigate a mono-atomic harmonic
chain.

Let’s consider two atoms with separation z in an attractive potential V'(z) which we can
expand about the equilibrium distance xy as a harmonic well:

V(z) =V(°) + g(x — 29?2 4+ o((z — 2%)3), k = V'(aY) (17.1.1)

As long as we are at sufficiently low temperatures, this expansion is valid and the average
separation between the atoms will be the equilibrium distance 2° due to the symmetry of
quadratic potentials. At high temperatures however, thermal fluctuations can cause the
electrons to deviate outside of the quadratic well region. Since the potential is steeper on
one side (small separation), this causes the average distance between the atoms to shift
away from the equilibrium.

Consider an infinite chain of atoms with mass m separated by a distance a, known as the
lattice constant, and connected with springs of constants . Let 20 = na be the nth atom’s
equilibrium position, and let ¢,, = x,, — ) be the deviation of atom n from its equilibrium.
Newton’s second law applied to the nth atom yields

Mén = K(qn+1 = Gn) + K(qn—1 — qn) (17.1.2)
We make a wave ansatz g, = Ae®!=#n and get
_AmWQeiwtfik’na _ H(Aeiwtfik(n+l)a + Aeiwtfik(nfl)a _ 2A€iwt7ikna) (1713)
2 k| . [(ka
— —mw” = k(2 —2cos(ka)) = w(k) =2 —psin{ (17.1.4)

In the long wavelength, low wavenumber limit we should get sound waves, and indeed a
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Taylor expansion quickly gives the correct dispersion relation

K |kla K
_ o [kl _ _ R 17.1.
w o vlk|, v —a ( 5)

We also found that the speed of sound in this chain is given by the lattice spacing times the
spring frequency. We could also obtain this result by first calculating the compressibility

B
1oV 19L 1

P= Vo) T TTOF wa

and then using the following result from fluid dynamics

v:\/pTﬁ:Mmfll:\/za (17.1.7)

Note also that the dispersion relation has a maximum

Winax = 24 /% atk = g (17.1.8)

and the corresponding mode is given by ¢, (t) = Ae™!(—1)" which corresponds to each
atom being out of phase with its two neighbours.

(17.1.6)

17.2 Reciprocal space

Reciprocal space (or momentum space) is the space of ks, it is the Fourier transform of
real space (or direct space). Interestingly, our modes are periodic in momentum space:

qn(t> _ Aeiwtfi(k+27r/a)na _ AeiwtfiknaQQﬂ'n _ Aeiwtfikna (1721)

Therefore, shifting our wavenumber by 2% we obtain the same physical mode, the period-
icity of the lattice in real space yielded a periodicity in reciprocal space.

To understand the in the wavenumber, note that the following waves, with £ differing
by 27/a, predict the same value for the displacement of each mass. Since that is all the
information we can obtain from the ¢, (¢) functions, both solutions are equivalent.

We can then define the reciprocal lattice as the set of all points in momentum space equiv-

alent to £ = 0, they are given by
2mn

Note also that there is a fundamental interval in reciprocal space, the Brillouin zone (BZ),
which contains all non-equivalent wavenumbers, it is the unit cell of the reciprocal lattice.
Every point outside the BZ will be equivalent to some point inside the BZ. In our case the

Brillouin zone is
™ T

BZ = ( - a} (17.2.3)

and since the spacing of the reciprocal lattice is % we find that the total number of modes
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with periodic boundary conditions is

2r/a

ber of modes = =
number of modes = - Na

(17.2.4)

Exactly as Debye had predicted, there are as many normal modes as masses in the chain.

17.3 Quantum modes: phonons

We have already encountered phonons in the Debye model, they are quanta of vibrations
which possess a quantized energy 7w (k). Note that since two or more phonons can have
the same mode, they follow Bose-Einstein statistics. The energy of a collection of phonons
is then given by

1 1
keBZ

Assuming a << L we can approximate the sum as an integral
L w/a
> —— dk (17.3.2)
keBZ 27 J—n/a

This is a good point to stop and review what dispersion relations the various quantum

models use:
K ka
hain: =2y/—/|sin | — 17.3.

Chain: w(k) ,/msm(2>’ (17.3.3)
Debye: w(k) = vl|k| (17.3.4)
Einstein: w(k) = wp (17.3.5)

Since the dispersion relation is even in k we can write
U=2 7r/aalkhwk: __L 1 17.3.6
- 0 () elgm}(k)_l_’_i ( )

Using the chain dispersion relation

dw = ay/ ~ cos (ka>dk = a4/ SRV (17.3.7)
m 2 m

2V'm 1 1

we then write

17.4 1D Diatomic harmonic chain

Often there will be more than one type of atom in a solid, and one shortcoming of the
monoatomic chain is that all atoms are treated as identical (not indistinguishable). To fix
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this, let’s consider a chain with the same mass m, but alternating spring constants x; and
k9 as shown below.

We therefore have two different types of atoms: one type, whose position will be denoted
by x,,, has a spring constant ~1 to the left and x to the right. The other type, whose position
will be denoted by y,,, has a spring constant x5 to the left and x; to the right. Note that the
unit cell now contains two atoms, so the real space lattice has periodicity a spanning two
atoms. The implication of this is that the number of modes is no longer equal to 2N, the
number of masses, but rather N, the number of unit cells.

number of modes = number of unit cells (17.4.1)
The equations of motion now read

My, = Kk2(Yn — Tn) + K1 (Yn—1 — Tn) (17.4.2)
myn = R1 ($n+1 - yn) + KI2($n - yn) (1743)

Once again we propose an mode ansatz

Ty = Agetwt=ikna (17.4.4)
Yn = Ayet=ikna (17.4.5)

which possesses the same reciprocal space periodicity encountered in the monoatomic
chain.

o mwQAme—ikna _ K;z(Aye—ikna - Ame—ikna) + Hl(Aye—ik(n—l)a - Axe—ikna) (1746)

_ mw2Ay67ikna = Ky (Amefik(nJrl)a o Ayefikna) + HQ(Amefikna . Ayefikna) (1747)
which we can write in matrix form as:
A — (k1 + K2) Ko+ K1et*e\ (A
_ 2 T | _ 1 2 2 1 x
mw (Ay> (mem +ha — (k1 + #2) A, (17.4.8)

This is just an eigenvalue problem, and we find that

(k1 + ko — mw?)? — |k1e + ko2 =0 (17.4.9)

— mw? = K1+ ko £ \/KJ% + K% + 2K1k2 COS(kCL) (17.4.10)

As expected, because each unit cell has 2 atoms, each wavenumber £ has two associated
normal modes. The dispersion relation is plotted below:

We see that one type of mode, known as acoustic mode, behaves similarly to the monoatomic
chain. However, we now get a second type of mode known as an optical mode. More gen-
erally, in D-dimensions, if there are n atoms in each unit cell, there we will obtain D - n
degrees of freedoms and thus modes, of which d are acoustic (one for each direction) and
the remaining are optical.

Let’s calculate the speed of sound in the acoustic modes. The compressibility was given
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w(k) optical
acoustic
-nt/a 0 kK rt/a’

Figure 17.1. Dispersion relation w = w(k) for a 1D classical diatomic chain

by
1 0L 1
B=—777 = 7o (17.4.11)

where K is the effective spring constant in the chain, which in the case of two springs in
parallel is K = -F1%2- Therefore

K1t+kK2

1 2

vy = S Y L U (17.412)
2m/a akika 2m(K1 + K2)

Let’s look more closely at the long-wavelength regime. The eigenvalue equation reads

—mw? @Z) = —(Kk1 + K2) <_11 _11> (ﬁz) (17.4.13)

which we solve

Acoustic mode : w =0, (Ax> = <1> (17.4.14)
Ay 1
. . N 2(1{1 + Iiz) Am - 1
Optical mode : w = — (Ay> = (_1> (17.4.15)

The optical mode corresponds to out-of-phase motion, so very high frequency motion
(optical), while the acoustic mode corresponds to in-phase motion with lower frequency
(acoustic) due to a lower compressibility.

17.5 1D Tight-binding chain

Having looked at classical 1D chains, let us now add quantumness to our discussion. We
consider a 1D chain of nuclei with spacing a and position vectors R;, and electrons mod-
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17.5. 1D TIGHT-BINDING CHAIN

elled by the independent-electron Hamiltonian
p?
H=g— +Zj:V(r—Rj) (17.5.1)

We define |n) to correspond to the state where the electron is localised on the nth nucleus,
and assume that they are orthogonal

(n|m) = dpm (17.5.2)

This holds in the atomic limit where the a — oo, but is pretty bad otherwise. Nevertheless
this could still yield good qualitative results so we will proceed and insert the LCAO ansatz

) =3 enln) (1753)
into the Schroedinger equation

> (n|H|m)dnm = E¢, (17.5.4)

n
To calculate the matrix elements we split the Hamiltonian

2
H= 2p—m +V(r—Rp)+ > V(I —R)) = Hp + Hyyy (17.5.5)
j#m

and find
(n|H|m) = catomicOmn + Z (n|V(r—Rj)|m) where eatomic = Hm |m)  (17.5.6)
JjF#Em

> jzm (0| V(r — Rj) | m) will give two types contributions, one when n = m which corre-
sponds to the atom increasing its energy while remaining on site m:

Vo = Z (m|V(r—Rj)|m) (17.5.7)
j#m
and the other when n # m which corresponds to the atom hopping to site n
—t=> (n|V(r—R;)|m) (17.5.8)
j#m

It should be hard for an electron to hop very far so we can restrict |n — m/| < 1. Finally we

have that
Vo ifn=m

> (n|V(r—=R;)|m),catomic = § —t if [n—m| <1 (17.5.9)
i#m 0  otherwise
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We define the on-site energy to be €y = €atomic + Vo and write the Hamiltonian as

g —t 0 0 ... —t¢
—t g9 —t 0 ... 0
0 —te —t... 0

Jlin = Efis g — t((si’]q_l + (51'7]'_1) ~— H= (17.5.10)
0 0 ...—t €0 —t
—t 0 ... 0 —t &g
We make the same wave ansatz as in the classic monoatomic chain
1 ,,k
= — e "M n 17.5.11
)= S S (175.11)
and find
Eoe—ikna o t(e—ikn(a—l) + e—ikn(a+1)) _ Ee—ikna (17512)
= E(k) =& — 2tcos(ka) (17.5.13)

Newton’s equations are second order in time derivatives, so this will provide two fre-
quency solutions. Schroedinger’s equation instead is linear in time derivatives so we only
obtain one energy solution. This is why we only obtained one energy band with our tight-
binding model, rather than two like in the classical chain. For low momenta we can taylor
expand (17.5.13)

k%a?
2
At low frequencies/energies we expect long-wavelength solutions, so free electrons will

follow this dispersion relation. We can define an effective mass

B(k) ~ Ey + (17.5.14)

h2
Meff = 5 57 (17.5.15)
so that the dispersion relation at low frequencies becomes
hk?
E(k) ~ 17.5.1
(k) ~ 5o (175.16)

As one should expect, the effective mass is larger as the hopping parameter gets smaller
(less hopping implies more inertia). The range of energies, Emax — Emin = 4t is known as
the bandwidth of the system.

This solves our problem of the disproportionately large scattering length in the Sommer-
feld model. Therefore, the

Let’s consider a chain of monovalent atoms where every nucleus gives away one electron
from its valence shell. This will produce half-filled bands, with low energy excitations
involving the promotion of electrons over the Fermi energy. This means that if one applies
the current the Fermi surface can be shifted to the left or the right, thus producing a current.
For a chain of diavalent atoms instead, we will obtain a filled band so there will be no low-
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energy excitations. The heat capacity and the conductivity will therefore be zero.

For a two-orbital model where each unit cell contains two different nuclei then we will
obtain two energy bands. If each nucleus gives away three electrons then the lower band
will be completely filled, while the upper band will only be half-filled. This means that to
investigate transport properties we need only to look at the upper energy band (intraband
excitations require massive energies). This explains why when studying materials with
several electrons per atom, we do not need to take all of them into account as most non-
valence shell electrons will be inert.

A notable exception occurs when two energy bands overlap. Then even a diavalent ma-
terial will have two partially field bands which will both be active in heat and electrical
conduction.
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Crystal lattices and reciprocal lattices

In the previous chapter we saw that the translational symmetry of materials can account
for several, such as the propagation of sound modes/phonons, and can provide a better
approximation for the specific heat capacity. Nevertheless we were restricted to the 1D
case due to its simplicity, and in this chapter we will develop the vocabulary necessary to
describe higher dimensional periodic structures. This will be necessary in order to extend
our ideas of the 1D chain to the general case of 3D lattices.

18.1 Real space lattices

A crystal is defined as an infinite periodic arrangement of its constituent atoms. A crystal’s
Bravais lattice, also known as real space lattice/direct lattice (DL), is the set of the infinite
points defined as integer sums of the crystal lattice vectors, which are vectors connecting
any two atoms in the crystal. Each point on the real space lattice corresponds thus corre-
sponds to an atom. The primitive lattice vectors are the smallest (in magnitude) lattice
vectors that span crystal lattice:

span(aj, az,az) = DL (18.1.1)

For a Bravais lattice, the primitive lattice vectors always connect two nearest neighbour
sites. The number of nearest neighbours to a given lattice point is known as the coordina-
tion number.

Qe . .

a

a,

In general, the vector pointing to a point in a Bravais lattice is then given by

R = nja; + ngag + nzag <= R = [ny1,ne,n3|, n; €7Z (18.1.2)
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Equivalently, we can define a Bravais lattice as a set of points such that it looks the same
viewed from any lattice point. From this definition it is easy to see that the honeycomb
lattice

Figure 18.1. The honeycomb lattice is not a Bravais lattice.

is not a Bravais lattice, since a red point’s environment is not equivalent to a blue point’s
environment (it is rotated by 7). It is however a lattice as it is an infinite periodic structure.

By definition, a periodic structure has a repeating motif, so given a lattice any such repeat-
ing cell is known as a unit cell. It follows from this definition one should be able tessellate
R™ using the unit cells to obtain the corresponding lattice. Note that unit cells are not
unique, this can be seen by choosing a specific unit cell, tessellating the lattice with it, and
then translating the lattice by some small distance thus obtaining a new unit cell. Further-
more, a unit cell which contains only one lattice point is known as a primitive unit cell.
Finally, if the unit cell is made of orthogonal axes then it is a conventional unit cell (this
does not have to be primitive, but it could be). To top off this definition extravaganza, we
define the Wigner-Seitz cell (WS cell) as the region around a lattice point that is closer to
that lattice point than any other.

A WS cell can be constructed using the Wigner-Seitz con-
struction: o

(i) choose a lattice point P around which we will con- Q
struct the WS cell

(ii) choose a neighbouring lattice point () and draw the
line PQ

(iii) draw the perpendicular bisector of PQ

(iv) repeat this for all other neighbouring lattice points o

(v) the WS cell is the area enclosed by all these perpen-
dicular bisectors.

The WS cell is a primitive unit cell: for obvious reasons it
only contains one point, and by the symmetry of its con-
struction it tessellates the lattice. The Voronoi cell is a Wigner-Seitz cell for a non-lattice
set of points (and it’s really important for pizza-delivery).
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Since any periodic structure has a repeating motif, it can be viewed as a lattice where each
lattice point is occupied by this motif. For example, the following tiling of armadillos can
be viewed as a triangular lattice where each site has an armadillo.

The description of objects in a unit cell with respect to the
reference lattice point of the unit cell is known as a basis. Periodic Structure
The lattice plus the basis thus defines any periodic struc-

ture. By convention, if the reference lattice point is split mwmmmwﬂbw
into the corners of the unit cell, it is counted only once and wmmwwwmm

:
s
s
&
s
e
.

taken to be on one site only. For example, the honeycomb

lattice can be viewed as a triangular lattice with a repeat- ¥ P B BPo

ing WS cell enclosed in dashed lines. Each WS cell contains —

only one lattice point, and has one dark gray and one light Lattice

gray point inside of it, connected by lines to form a motif.

The primitive lattice vectors of the triangular lattice are Ya T e e o
a1 = ax, a; = 3 (x+ V3y) (1813) * , * . * . * .

so this implies that the basis for the honeycomb lattice is ) .
X Repeating Object

2 -
Riight = g(al + ag) (18.1.4) P
1
Riark = §(31 + az) (18.1.5)

Since the reference point of each unit cell has coordinates
[n1, n2], the basis completely specifies the positions of all points in the hoenycomb lattice.

18.2 3D lattices

In 3D we have the following important unit cells
(i) simple cubic unit cell wherea =b = ¢
(ii) simple tetragonal unit cell wherea =b # ¢
(iii) simple orthorhombic unit cell where a, b, c all different

There are two notable 3D lattices with cubic unit cells that do not fall under this category,
but are nevertheless important to remember.

The body-centered cubic lattice (bcc) is a simple cubic unit cell with the addition of an
extra lattice point at the center of the cube.
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0 °
\ [¢]
a a/2
e
6 o
a Plan View
Conventional Unit Cell (unlabeled points at height 0 and a)
The primitive lattice vectors are
a; =[1,0,0], a2 = [0,1,0], a3 = [1/2,1/2,1/2] (18.2.1)

The points of the bcc lattice are given by the lattice vectors

Reorner = [n17 nz, 77/3], (1822)
Reenter = [nh n2, 77,3] + [1/2, 1/2, 1/2] (18.2.3)

from which it follows that the bcc lattice can be viewed as a simple cubic lattice with basis
Reenter- Also, note that the conventional unit cell contains 2 points, one point in total from
the eight corners and another point from the center of the cube. Furthermore, the bcc
lattice has a coordination number of 8, 4 nearest neighbours from the plane above, and
another 4 from the plane below.

The reason we use the conventional unit cell for the bec rather than the Wigner-Seitz cell
(primitive unit cell) is because the latter, known as a truncated octahedron, is terribly
complex.

The face-centered cubic lattice (fcc) is a simple cubic unit cell with the addition of an
extra lattice point at the center of each of the cube’s faces. The primitive lattice vectors of

a/2
X @ - @ - .
/\ a a/Q? ° 75/2
‘ xﬁa\ oo
a a a/2
Conventional Unit Cell Plan View

(unlabeled points at height 0 and a)
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the fcc lattice are The primitive lattice vectors are

a; = [1/2,1/2,0] (18.2.4)
a, =[1/2,0,1/2] (18.2.5)
as =[0,1/2,1/2] (18.2.6)

The points of the fcc lattice are given by the lattice vectors

Reorner = [11, M2, n3), (18.2.7)
Reenter—ay = [11,n2,n3] + [1/2,1/2,0] (18.2.8)
Reenter—azz = [n1,n2,n3] +[1/2,0,1/2], (18.2.9)
Reenter—yz = [111, 12, n3) + [0,1/2,1/2] (18.2.10)

The fcc lattice has a coordination number of 12. Indeed, the points closest to [0, 0, 0] are
given by any point [+1/2,+1/2, 0] and permutations thereof, which are 12 in total.

An important application of the fcc lattice is that if we place a sphere at each site then
we obtain the most efficient spherical packing. This was conjectured by Kepler and only
formally proven recently by the Flyspeck team in 2014.

18.3 The reciprocal lattice

We define the reciprocal lattice to a direct lattice as the set of points with lattice vectors G
such that ‘
¢CRn — 1 (18.3.1)

where R,, is any direct lattice vectors:
R = njaj; + ngas + nzas (1832)

To see why (18.3.1) defines a lattice, we suppose that the reciprocal lattice has primitive
lattice vectors b; satisfying

bi caj = 27r6ij (1833)
which is satisfied whenever
by =27 2223 (18.3.4a)
aj - (ag X a3)
by = 27— XA (18.3.4b)
a; - (ag x ag)
by = 271 X &2 (18.3.4¢)

aj - (a2 X a3)

Taking as a definition of the reciprocal lattice primitive vectors, then the reciprocal lattice
is indeed a lattice if we can show that any G satisfying the definition ¢! ®» = 1 can be
written as

G = miby + moby + m3b3, m; € 7 (1835)
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Consider any reciprocal space vector G with m; € R, then we see that
1= eiG.R — 627T(m1n1+m2n2+m3n3) (1836)

Since n; € Z, it follows that this is only satisfied when m; € Z.

Using the expression for the primitive reciprocal lattice vectors we see that the volume of
the primitive reciprocal unit cell is

(27)?

2T 3
)> (ag x a3) -aifag - (a1 x ag)] = (18.3.7)

by - (by x bs) — <a1 aEes

where v = V/N = a; - (a2 x a3) is the volume of the unit cell in direct space.

Interestingly, the reciprocal lattice of fcc is bcc and vice-versa. Indeed more generally the
reciprocal lattice is the Fourier transform of the direct lattice. For example, in 1D, setting
R,, = an to be the lattice vectors then we may write the mass distribution as a Dirac comb

p(x) = 6(x— Ry) (18.3.8)
Taking its fourier transform we find

Flo)] = / dz 6 p(z) = 3 ethan = 2;” S 6k — Ga) (18.3.9)

n

where G,, = %’rn for n € Z. Here we used the fact that
. 21
ikan
= — ok — G, 18.3.10
Zem =T k-G 10

which we will prove in the next section. We can extend this argument to 3D, taking

p(r)= > 6(r—R) (18.3.11)
ReDL
so that
Flp(r)] = / Pre®p(r) = > R = (2m)° > §(k-G) (18.3.12)
REDL Y GerL

where v is the volume of the primitive unit cell U. Finally, we can further generalise our
argument to any function with the periodicity of the direct lattice

p(x) = p(x+R), VR € DL (18.3.13)
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We find that
Flp(r)] = / dPre*p(r) = > / d3r e p(r) (18.3.14)
ReDLYU
=Y / dPre® TR p(r) =3 kR / d3r e Tp(r) (18.3.15)
ReDL Y Ur R U
3
NG > (k- G)S(k) (18.3.16)
V' GerL
where we defined the structure factor
S(k) = / d3r e p(x) (18.3.17)
U

and where U is a primitive unit cell with volume v. We have therefore broken down the
problem of Fourier transforming a periodic function over all space to that over just one
unit cell.

18.4 Fourier analysis on lattices

Here we summarise some other important properties of Fourier analysis on lattices. Let f
be a function with the same periodicity of a Bravais lattice: f(r + R) = f(r) for all lattice
vectors R. It follows that we can expand this function as a superposition of plane waves

fr) =" Fk)e ™ (18.4.1)
keRL

where the Fourier coefficients are given by

flk) = 1 /U ™ f(r) dr (18.4.2)

(%

as follows immediately from the orthonormality of e’ in any unit cell U

/ kDT gy — pi(k — q) (18.4.3)
U

Similarly, for a function ¢ (k) that is periodic in momentum space then

~ _ ez’r-k _ v e—ir-k~ 4.
P09 = 3 plele™, o) = g | R0 ai (18.4.4)

where U is a primitive unit cell in reciprocal space.

We may also need to consider functions that do not have the lattice periodicity, but never-
theless satisfy the Born-von Karman boundary condition

f(r+ N;a;) = f(r), V primitive vectors a;,7 = 1,2,3 (18.4.5)
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as often happens with finite crystals. This time the formulae read similarly
, 1 A
F) =3 e ™, fic= V/e’k'rf(r) dr (18.4.6)
k

only that k is discrete and takes the values
3
k=) —b;, meZ 18.4.7
; A7 Do i € (18.4.7)

)

and V' is now the volume of the crystal.

We now prove (18.3.10). Consider

Fk)= > ¢*R (18.4.8)
ReDL

Let’s write R — R + Ry where Ry € DL which should leave the sum unchanged so that
R p(k) = F(k) (18.4.9)
implying that F'(k) vanishes unless k € RL.

Letk = k1by + kobs + ksbs and R = nja; + neas + nsas. Then

Z Gk R _ Z e2mikiny 2mikong 2miksns _ f (k1) f(k2) f(k2) (18.4.10)

ReDL n1,n2,n3

where we defined f(k) = 3, ¢’*". This sum ranges over Z, but let’s consider the finite
sum:

N/2 2mik(N/2+1) _ 2mikN/2 n[(N
; e e sin + 1)7k]
fn(k)y= Y ™= ST = (18.4.11)
n=—N/2 esmh —1 sin(mk)
Then we find that
L . sin[(N 4 )7k
fk) = lim fn(k)= lim () ngé(k —n) (18.4.12)
and therefore
Z R = Z 6(k1 —n1)d(ka — n2)d(ks — n3) (18.4.13)
ReDL n1,mz,n3
B a1 /2mky as /2mks as /2mks
—n1%n36[2ﬁ( a1 Gl)]5[2W< as GQ):|6|:27T( as G3)}
(18.4.14)

— 123 —



18.5. LATTICE PLANES AND MILLER INDICES

where we let G = [n1, na, n3]. Using the property d(az) = ﬁé (x) we finally find that

. 3
3 kR = (2m) 3 (k- G) (18.4.15)
ReDL Y GerL
Similarly one can show that
Y €CT=v > §(r—R) (18.4.16)
GERL ReDL

We can formulate a very similar relation for a finite crystal lattice with N site satisfying
Born-von Karman conditions. This time we find that

>~ €*R = Njy, k € FBZ (18.4.17)
ReDL

To see why, we transform R — R + Ry where Ry is another lattice vector. Since we have
Born-von Karman conditions the sum overall will not be changed, so we find that

3 kR — gikRo §7 kR (18.4.18)

ReDL ReDL

The sum therefore vanishes unless k - Ry = 27n for some n € Z. This must hold for all
Ry € DL, implying that k must be a reciprocal lattice vector. Since it is also restricted to be
in the FBZ it follows that k = 0. If k is allowed to be outside the FBZ then we only require
k to be a reciprocal lattice vector. By similar arguments one can show that

> e*R = Nogy (18.4.19)
keFBZ

18.5 Lattice planes and miller indices

A lattice plane is a plane containing at least three non-collinear lattice points. A family of
lattice planes is then a set of equidistant parallel lattice planes that contain all the points
of a lattice.

We now claim that the spacing between two neighbouring planes in a family of lattice
planes is
2m

|(;nﬁn’

d (18.5.1)

where Gnin is the shortest reciprocal lattice vector normal to these planes. Moreover, the
different families of lattice planes are each orthonormal to a different reciprocal lattice
vector. Indeed for a given a vector G, G - x = c defines a set of points x forming a plane
orthogonal to G. The distance between the plane and the origin can be found by choosing

x to be parallel to G and taking the modulus of the dot product which yields |x||G|cos 6 =
d|G| = c and thus

d=— (18.5.2)
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We can now define a set of planes satisfying ¢/6* = 1 and thus G - x = 27m, m € Z, with
each m defining a different plane.

Geometry of e =1
G
N
/3
Gy
G-F=2r(m+1)
Z=2mm

|#1] = 2m(m +1)/|G|

|Zo| = 27m /|G|

This time the spacing between the planes is

2
d=— (18.5.3)
G|

To see why, note that letting x lie on the m-plane and x on the (m + 1)-plane then G - (x —
x') = 27 and again choosing x — x’ to lie parallel to G then we obtain the desired result.

If we take G to be a reciprocal lattice vector then we see that R must be direct lattice vectors.
Hence the family of planes generated by ¢’¢* = 1 will contain some lattice points and will
be perpendicular to G by definition. However, if we want all points to be included, then we
need to choose the shortest possible reciprocal lattice vector Gmin parallel to G. Choosing
a multiple of G,,,;, would only include a fraction of the lattice points, as shown below

27

min

d= 2T

To label families of lattice planes, and their corresponding vector in reciprocal space, we
can define reference vectors b; which need not be primitive and use Miller indices (A, k, {):

(h,k,1) = hby + kba + (b3 (18.5.4)
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These are analogous to the notation we use in real space [u, v, w]. It is essential to note that
if a; are not chosen to be primitive lattice vectors, then the corresponding reference vectors
b; vectors will not be reciprocal primitive lattice vectors !, and consequently not all (h, &, 1)
will be reciprocal lattice vectors. This is especially important for bcc and fcc lattices where
it is often easiest to use the conventional x, y, z axes instead of the reciprocal lattice vectors
as basis vectors to simplify calculations. The result is that not all Miller indices produce
reciprocal lattice vectors and correspondingly families of lattice planes.

A simple way to evaluate Miller indices of a lattice plane is to compute the intercepts
x1, 22, v3 with the axes (defined by the reference vectors) and use the following propor-

tionality

1 1 1
h:k:l=—:—:— (18.5.5)
1 T2 I3

These can be easily understood by noting that G ;) - x = 27 defines the cartesian plane

o

hx1 + kxo + lzg = 27 from which we find that the intercepts z; = %’T, Ty = %’T and 3 = 7

18.6 Brillouin zone

Any primitive unit cell in reciprocal space is known as a Brillouin zone (BZ). The first
Brillouin zone, in particular, is the region of reciprocal space that is closer to the point at
G = 0 than to any other reciprocal lattice point. Analogously, the nth Brillouin zone is
the region of reciprocal space such that G = 0 is the nth closest reciprocal lattice point.
To obtain the nth Brillouin zone one can still use the Wigner-Seitz construction, but this
time applied to the second nearest neighbours. Since we can map every point in a given
Brillouin zone to the FBZ, the areas of the Brillouin zones must all be the same.

The boundary between two Brillouin zones is known as a Brillouin zone boundary. The
distance between two Brillouin zone boundaries is always a reciprocal lattice vector. Also,
just like in 1D, the number of momentum states in each Brillouin zone is equal to the num-
ber of unit cells.

for example in 1D if we choose the direct lattice vector R = 2a then G = 2% = = is not the primitive

R
reciprocal lattice vector
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X-ray and Neutron scattering

19.1 Why scattering?

Scattering is how we see (literally) the world. It is also how we know what DNA, protons,
quarks looks like, and in solid state physics it can be used to examine the geometry of
crystal lattices. Understanding how scattering experiments can be used to study the will
be the goal of this chapter.

19.2 The Laue and Bragg conditions

Choosing the wavelength of the incoming wave to match the size of the scatterer is usually
advantageous, and since we are interested in atomic structures which have a size of ~1A,
the corresponding energy scale is

E = % ~ 12.3keV (19.2.1)

which is characteristic of X-rays.

Laue condition

Consider an incoming electromagnetic wave with wave-vector k incident on a scatterer
which we can model as a potential V' (r). The result of elastic scattering will be a transmitted
wave k and a scattered wave k'. Fermi’s golden rule gives the scattering rate

2
Ik K) = %| K|V |K)|26(Ey — Ey) (19.2.2)
where we require Fy, = Ej and |k| = [K| for elastic scattering. The matrix elements are
given by
1 - / -
K|V]k)= v / Br &Y (1) = V(k - K) (19.2.3)

where V (k) is the Fourier transform of V'(r) and V is the volume of the sample. Assuming
the scatterer is a crystal lattice then we can model V' (r) as a periodic potential V' (r + R) =
V(r) for all R € DL. Consequently using (18.3.12) we find that

Vik-k)= (2:)3 > F#k-K-G)Sk-K) (19.2.4)
GeRL
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We can make two important observations from this, firstly that crystal momentum must
be conserved

Laue condition: there is no scattering unless k — k’ € RL, so the wave-vector transfer
must be a reciprocal lattice vector G.

and secondly the intensity of scattering is proportional to |S(k — k')|2.

This Laue condition can be understood alternatively using diffraction. As a starting point
we consider two lattice points that are separated by a lattice vector d. An X-ray with wave-
vector k is incident on these two lattice points (since the source is far away we can assume
the rays to be parallel) and gets elastically scattered to some wave-vector k'. For the two
scattered rays to interfere constructively we require the difference in path lengths they
travelled to be an integer multiple of .

dcos@' =-d-n'

Figure 19.1. Laue condition for constructive interference between two scatterers in a lattice.

From the figure above we see that the incident waves have a path difference of d - k while

the scattered waves have a path difference of —d - k. Thus the condition for constructive
interference is o
d-(k —k)=m\ = d-(K'—k)=2mm, meZ (19.2.5)

where we multiplied by 2* and made use of the fact that |k| = [k|. Now consider the
entire lattice, the condition for constructive interference turns into

R (K — k) =2mm, m € Z for all lattice vectors R (19.2.6)

Defining G = k’ — k then this is equivalent to ¢/®'G = 1 for all R € RL which requires G to
be a reciprocal lattice vector.
Bragg condition

Let us now consider an X-ray undergoing specular scattering (so that the incident and
scattered angles are the same) at an angle 6 from two successive planes in a given family
of lattice planes.

Assuming the planes are separated by d then the condition for constructive interference is
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that the path difference, which is 2d sin 6, is an integer multiple of the X-ray wavelength.
nA = 2dsin @ (19.2.7)

This is known as the Bragg condition.

Equivalence of Laue and Bragg conditions

The derivation of the Laue condition has the advantage of not explicitly choosing a specific
family of lattice places as well as not assuming that the X-rays will be specularly reflected.
Nevertheless it turns out that the Laue and Bragg conditions are equivalent due to the
one-to-one correspondence between lattice planes and reciprocal lattice vectors.

To prove this equivalence suppose that the wave-vectors k and k' satisfy the Laue condi-
tion. Then we find that
G k=k-K-k=-G-K (19.2.8)

implying that k and G make the same angle with G. If we look at the scattering process

K=k'-k

so that the wave-vectors k, k' lie in the page then we see that Laue scattering with mo-
mentum transfer G can be viewed as Bragg scattering against the family of lattice planes
perpendicular to G. Letting this angle be m — 6 then

27 A

k-G = —sin#, R/~G:Sin0, k= Tk (19.2.9)
The Laue condition with these definitions becomes
I At A
K-k=G = 7”(1{ -k =G (19.2.10)
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and dotting with G then we get that
— - 2sinf = A (19.2.11)

Finally, since G = nGmnin for some n € Z we find that
n\ = 2dsin 0 (19.2.12)

as desired. Thus the condition for constructive diffraction between lattice planes perpen-
dicular to G is equivalent to conserving crystal momentum with the momentum transfer
being equal to G. In other words, the Bragg scattering from a family of lattice planes per-
pendicular to K is equivalent to the Laue scattering with momentum transfer G, and the
order n of the Bragg peak corresponds to ratio between |G| and |Gmin|.

The Ewald construction

A nice way to visually see if the Laue condition is satisfied (and thus the Bragg condition
as well) is via the Ewald construction. Consider the reciprocal lattice of a crystal and an
arbitrary wave-vector k as shown below. We draw a circle (or more generally a sphere) of
radius k centered at the tip of this wave-vector. Clearly, if there is at least one reciprocal
lattice point on the circle/sphere’s surface then the Laue condition will be satisfied. Indeed
the scattered wave-vector k lies on the sphere’s surface so that |k'| = k and moreover
k' — k = G (since the vector joining any two lattice points is a lattice vector).

Figure 19.2. Ewald construction for a 2D lattice.

19.3 The scattering amplitude

Depending on what type of wave is being scattered the interaction potential V (r) will take
different forms. Generally it is a good approximation to write the scattering potential as a
sum of the potential for each individual atom:

V)= Y Vjr—r) (19.3.1)

j€atoms
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where j runs over all atoms in the system. This ignores the effects that different atoms have
on each other. For example, neutrons interact through short range nuclear forces which
we approximate as Dirac combs centered at each atom

V)~ > bud(r—r1,) (19.3.2)

ne€atoms

where b, is the nuclear scattering length, and r,, is the position of the nth atom. Assuming
by, is given then
S(G) =D bpe’S™ (19.3.3)
nel

where n runs over the atoms in the unit cell U.

X-rays, on the other hand, scatter from electrons so instead of interacting through a delta-
function peaked at the nuclei, the interaction is mediated through the electron cloud with
density g(r — r,). Then the potential experienced by the X-ray wave when encountering
atom j is

Vilt—1,) = > Zpg(r—r,) (19.3.4)

n€catoms

and thus the structure factor is

S(G) = > €S fu(G) (19.3.5)

nel

where f, is the atomic form factor

fn(G) = Z,, / d3r €67, (1) (19.3.6)
R3

In general f,,(G) can be taken as a decreasing function of the deflection angle. Indeed it

can be shown that the electron cloud has constant density within a sphere of radius ¢ and

vanishes elsewhere then

sin(|Glro) — |G]ro cos(\G]ro))
G[3r)

£(G) ~ 3 Zj< (19.3.7)

Note that in both neutron and X-ray scattering experiments, the structure factor has the
same form: a sum over the atoms in a unit cell of some form factor (constant for neutrons
and G-dependent for X-rays) weighed with ¢/G'T,

Example 1: simple cubic

Consider for example CsCl crystal which is simple cubic with a basis

Cs: [0,0,0], Cl:[1/2,1/2,1/2] (19.3.8)
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Then the structure factor for G = (hkl) is given by

S(Gnikny) = Sturty = Finaay + SGpaye” ™MD (19.3.9)
= [y + foh (1) (19.3.10)

Example 2: BCC

Pure Cs on the other hand forms a BCC lattice, or alternatively a simple cubic lattice with
Cs: [0,0,0], Cs:[1/2,1/2,1/2] (19.3.11)

so that
Stnkty = fimy [1+ (=1)" ] (19.3.12)

Note that the structure factor vanishes unless h + k + [ = 2n for some n € Z. This is a
selection rule on which Miller indices result in scattering. Note that a similar thing can
occur in the simple cubic lattice such as in the CsCl crystal if the structure factors of the
constituent atoms are very similar. This can happen if the atomic numbers of these atoms
are close, since to lowest order fy;; ~ Z.

Example 3: FCC

Finally, let’s consider a Cu crystal which forms an FCC lattice, which is a simple cubic
lattice with basis

Cu: [0,0,0],[1/2,1/2,0],[1/2,0,1/2],[0,1/2,1/2] (19.3.13)

Therefore
Sthiy = i [1+ (=1 4 (1) (=1)*] (19.3.14)

from which we find that &, k, [ must be either all even or all odd for non-zero scattering.

To understand where the selection rules come from, recall that not all Miller indices for
FCC and BCC lattices represent a set of lattice planes. It turns out that only the wave-
vectors with Miller indices that correspond to lattice planes can give non-zero structure
factors. Indeed we note that for any atom n in a unit cell then r,, = R,, + X,,, where R,, is
the vector to the reference lattice point in the cell and X,, is the position of the atom in the
basis. Therefore

SG) = > fxeC®XN = (Z eiG'R>( 3 fxeiG'X> (19.3.15)
ReU Xéebasis ReU X€Ebasis

which we can write as
S = Slattice X Sbasis (19-3.16)

We see that the structure factor vanishes when either the lattice selection rules or the basis
selection rules are not satisfied. The lattice selection rules just give the Laue condition for
scaterring, while
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19.4 Debye-Scherrer powder diffraction

We now consider how one can experimen-
tally determine the crystal structure of a
given material. We set up our wave-source
which will scatter X-rays against a sample,
and set up a detector at a specific solid an-
gle which will measure the light-intensity
incident upon it. If one uses a single crys-
tal it is unlikely that for a random orienta-
tion of the set-up the crystal will scatter the
X-ray towards the detector. Thus there are
two options as to how the experiment can
be done: one could either rotate the sample
with a fixed wave-source or fix the sample
and vary the wavelength. Both of these methods are very difficult to achieve and they
require virtually perfect crystals. In reality most materials which we consider crystalline
are actually poly-crystalline: they contain several domains of crystals oriented in differ-
ent directions. Although this makes them less pretty visually, for an experimentalist this
is good news because one should expect that at some point in the sample there will be
a region where the crystal planes are oriented perfectly to achieve detectable scattering.
By rotating the sample about the source axis one effectively obtains the scattering pattern
from rotating the crystal sample (in a given orientation) around all possible axes.

B

Figure 19.3. The Ewald construction for the Debye-Scherrer powder diffraction. A sphere centered
at the origin with radius K is formed from the rotation of the polycrystalline sample, and points
lying on the interesction between this sphere and the Ewald sphere are suitable scattered wave-
vectors k.

1 micron

This method is best understood by looking at the Ewald construction. Let’s take an inci-
dent wave-vector k and a reciprocal lattice vector G (which will later become the momen-
tum transfer). We draw the Ewald sphere associated to k so that any vector joining the
tip of k to a reciprocal lattice point on the Ewald sphere will satisfy the Laue condition.
However, since we are effectively rotating the crystal about all axes through some origin
O, it could be that some reciprocal lattice point lying outside the Ewald sphere will, at
some point in its rotation, be on the Ewald sphere !. Therefore we should be looking at the

'remember the source is fixed so k and the Ewald sphere will remain fixed throughout this rotation
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sphere with radius K centered at O (which gives all the positions of the lattice point at K
throughout the sample rotation) and its intersection with the Ewald sphere. An intersec-
tion always occurs as long as K < 2k.

Points lying on this intersection (which in most cases is given by two circles) will at some
instant lie on the Ewald sphere and thus be suitable scattered wave-vectors. Consequently
any wave-vector k' joining the tip of k and any point on the two circular intersections will
be a wave-vector satisfying the Laue condition. A Debye-Scherrer cone of scattered X-
ray waves is obtained, with any wave-vector joining the tip of the k with any point on
this cone’s circles representing a possible scattering direction. We will then get different
diffraction peaks at different deflection angles 26, with 20 = 0 indicating no scattering and
20 = 7 indicating perfect back-scattering.

\ X-ray diffraction
| gl 3 o

} : 1 1 rings recorded on ¢
photographic film
! t

20=0° 260=90° 260=180°

Debye-Scherrer
cone

i
e

~<—72%

incident
X-ray beam

Figure 19.4. The Debye-Scherrer scattering experiment set-up

This method is known as the Debye-Sherrer powder diffraction method:
(i) Determine the wavelength of the X-ray
(ii) Obtain the scattering peaks as a function of 26, as outlined above.
(iii) Obtain the lattice plane spacing for each peak using 2dsinf = .

(iv) Assuming the crystal lattice is cubic, the lattice constant (conventional cubic unit
cell’s length) a is given by

2
% =R+ K2+12=N (19.4.1)
Since a must be fixed, we are interested in integer sequences of 3—5 corresponding to

integer values of N. We can find these by looking at the normalised ratios j—; where
dy, is the lattice spacing obtained from the mth peak. It is clear that

i _ | i _No df Ny (19.4.2)
di 7 d3 N di Ny
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so by multiplying the sequence of {j

15

} by an integer (N;) then one obtains the se-

RIS

quence of values of V.

(vi) Look for selection rules of different values of N and determine the lattice constant
a=dN.

In ?? we construct a table of selection rules that is often useful. The meaning of each col-
umn will become apparent in a second (recall that {hkl} represents a family of equivalent
Miller indices e.g. {100} = {(100), (010), (001)}).

P = Primitive (simple) cubic  All ikl

Scattering I =BCC h+k+l=even
Selection Rules F= FCC Ikl all even or all odd
{hkl} N=h’+k2+F Multiplicity P 1 F
100 1 6 *
110 2 12 * *
111 3 8 * *
200 4 6 * * *
210 5 24 *
211 6 24 * *
_— 7 -
220 8 12 * * *
221,300 9 24+6 *
310 10 24 * *
311 11 24 * *
222 12 8 * * *
320 13 24 *
321 14 48 * *
- 15 -
400 16 6 * * *
Sequence of P: 1,2345689,..... (= allintegers excluding 7, 15, 23,...)
I: 246,810,12,14 ... (= even integers excluding 28, 60...)

N values F: 348,11,12,16,19,20 ....

We see that SC can have any N value that can be written as the sum of three squares
(importantly 7, 15 and 23 are not included). BCC on the other hand only has even values
of N (not all), and FCC has more difficult patterns.

Example 1: aluminium lattice

Let’s consider the aluminium lattice which has the following scattering peaks: We label

Intensity (%)

20= 3843

ALUMINIUM
A =1.540562 A

11636,

Figure 19.5. X-ray scattering amplitude of aluminium as a function of the deflection angle 26.
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the peaks as a,b,c,...,.h and their corresponding deflection angle 26. From these and the
X-ray source wavelength )\ one can calculate d = )\/(2sin6) for each peak. We then set
d, to be the lattice spacing calculated from the first peak and compute d2/d?. The pattern
isn’t quite obvious yet but multiplying by three shows that only certain integer values are
allowed, which of course correspond to N.

20 (deg) | d (nm) | d3/d? N | a(nm) | {rki} | BCC | FCC
38.42 0.234 | 1.000 | 3.000 0.405 | {111} 2 3
44.67 0.203 1.334 | 4.002 0.405 {200} 4 4
65.02 0.143 | 2.668 | 8.004 0.405 | {220} 6 8
78.13 0.122 | 3.668 | 11.005 | 0.405 {311} 8 11
82.33 0.117 | 4.002 | 12.006 | 0.405 | {222} 10 12
98.93 0.101 | 5.335 | 16.006 | 0.405 | {400} | 12 16
111.83 0.093 | 6.336 | 19.007 | 0.405 | {331} 14 19
116.36 0.091 | 6.669 | 20.007 | 0.405 | {420} | 16 20

We see that N = 3,4, 8, 11... produce the peaks, which corresponds to the sequence for an
FCC lattice with h, k, [ alll even or all odd! Knowing that the lattice is FCC one can then
calculate the conventional unit cell size as a = dN =~ (4.0540 £ 0.0002). In some cases the
intensity of scattering [(;;,;) may also be a useful probe. There are three main factors that
determine | S |*:

(i) the structure factor S(;;) determines the phase difference and thus the interference
between all the atoms in a primitive unit cell. Indeed if ¢’G'(d=11712) gives the differ-
ence in amplitude between the waves scattered at r; and ry then the amplitudes of
the waves scattered at ry, 1, ..., ¥, will be in proportions e/GT1 ¢iGT2 G Tn  The
ray scattered from the entire primitive cell will then have an amplitude given by
S(nkry, and it follows that 1,y o< [ |-

(ii) the multiplicity My of {hkl} determines how many distinct Miller indices give the
same scattering angle. It follows that 1,1y o< M1y

(iii) the geometric Lorentz factor (dependent on experimental set-up) which can be taken
to be constant for intermediate values of # where most Bragg peaks occur.

To summarise, we have found that

Lnkty o< Mgy - |S iy (19.4.3)

Example 2: iron
For example, consider the following (bad) scattering data for pure Fe:

This data is quite bad because the peaks are fairly broad and there are not enough of them
for an complete comparison between lattice types to be made. Indeed we can go through
the typical procedure and find that the allowed values of M are 1,2, 3 in the simple cubic
case or 2,4,6 in the BCC case. So how do we tell them apart? From the plot we see that
the peaks can be ranked in order of height as a, c and b. The form factor is a decreasing
function of the deflection angle so the only way c can be taller than b is if M¢ > M. In the
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X-ray A=1.54 Angstrom

3.0
d

15 b pure Fe c
0.0 ‘ ' : ‘

40 50 60 70 80 90
Simple Cubic {100} (110} 11
Multiplicity 6 12 8 20 (deg) N a(nm) {hkl}

447 1.000 0.202 100

Bec (10} (200} 211) 652 2007 0202 110
Multiplicity 12 6 24 82.70 3.018 0.202 111

simple cubic case M9y = 12 and M,1;) = 8 which does not fit the intensity patterns. On
the other hand, for a BCC lattice M 509y = 6 while M2y = 24, as expected.
Example 3: Titanium carbide

As a final example, let’s look at a neutron scattering experiment where the form factor is
now just a constant. Here is the data for TiC.

3

] 30

3 s 20 (deg) | d (nm) | d3/d? N a (nm) | {hkl} | BCC | FCC

331
26.0 0242 [ 1.000 [ 3000 | 0420 | 11T | 2 3
tao 220 202 400 a2 440 \ 30.1 0.210 | 1.332 | 3.997 | 0.420 200 4 4
A\ f SN J 4238 0.149 | 2631 | 7.893 | 0420 | 220 | 6 8
L. . . 50.2 0128 | 3.556 | 10.668 | 0420 | 311 | 8 | 11
20 %5 0 H 0 40 B T 0r e w58 0123 | 3907 | 11.721 | 0420 | 222 | 10 | 12
o s PR 476 8 79 8o 62.4 0.105 | 5303 | 15909 | 0420 | 400 | 12 | 16
67.6 0.098 | 6.116 | 18347 | 0420 | 331 | 14 | 19

Multiplicity: 8 6 12 24 8 6 2424 24 24+6 24 24 70.0 0.095 6.501 | 19.504 | 0.420 420 16 20

au

O — M WA OO N ® ©

We can perform the typical analysis and it is easy to see that TiC forms an FCC lattice. Now
let’s try to understand the basis of TiC, where are the titanium and carbon atoms located?
We can define Ti to be at [0, 0, 0], and let C be at [u, v, w] where u, v, w are unknowns to be
computed. The basis structure factor is given by

Sbasis = Z eicirnbn = ‘Sbalsis‘2 = ‘bTi + bC€2ﬂ(hkl).[uvw]‘2 (1944)

atomseU

We can make use of the fact that virtually all FCC lattices with a two-atom basis fall under
one of the following categories

ZnS basis: [u,v,w] = [1/4,1/4,1/4] (19.4.5)
NaCl basis: [u,v,w] =[1/2,1/2,1/2] (19.4.6)
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With the ZnS basis we find that

|Sbasis|2 = |bTi + bC(i)h+k+l’2 (1947)
from which it follows that
h+k+1=4n = |Spasis|? = |bmi + bc|? (19.4.8)
h+k+l=4n+2 = |Spasis]> = |bni — bc|? (19.4.9)
h+k+l=2n+1 = b} +0b% (19.4.10)

The largest peaks therefore occur when h + k + [ is even, which certainly does not fit the
data where the peaks occur with odd h + k 4 [. Let’s check that with the NaCl basis we
get the desired behaviour. We find that

|Sbasis|* = [bri + be(—1)" 2 (19.4.11)

from which it follows that
hdk+1=2n = |Spasis|® = |bmi + bc|? (19.4.12)
h4+k4+1=2n+1 = |Spasis]> = |b1i — bc|? (19.4.13)

Since the main peaks occur at odd, we find that br; and bc must have opposite signs. In
conclusion, TiC forms an FCC lattice with basis

Ti = [0,0,0], C =[1/2,1/2,1/2] (19.4.14)
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Electrons in periodic potentials

20.1 Bloch’s theorem

Consider the following Hamiltonian for electrons moving in a periodic potential V' (r)

2

H= ;’—m LV (1), V(r+R) = V(1) (20.1.1)

Here V (r) could represent the electron-ion lattice interaction, with R being the lattice vec-
tor. Bloch’s theorem states that the eigenstates of H can be written as

wn,k(r) = eik-rQﬁn,k(r) where ¢n,k(r + R) = ¢n,k(r) (2012)

Proof 1: group theory derivation

This follows immediately from the fact that the Hamiltonian has discrete translational sym-
metry. Let us define the translation operator

T = ePR" — TRf(r) = f(r+R) (20.1.3)
We see that given any reciprocal vectors R;, R; then
(TR, Tr,] = 0 (20.1.4)
and due to the translational invariance of the lattice potential we can also write that
[H,Tr] =0 (20.1.5)

Since the translation operator for all lattice vectors and the Hamiltonian commute with
each other, we can write down the energy eigenstates as translation operator eigenstates.
Since the translation operator is unitary, we can assume that the translation operator eigen-
values are complex phases of the form e’*R so that

Hpp (1) = Ep x¥n (1), TRy k(1) = ™R, 1 (1) (20.1.6)

Writing 1, 1 (r) = e™*%¢,, 1 (r) then we must require

Tan,k(r) = Q;Z)n,k(r + R) = eik.(H_R)gbn,k(r + R) = eik-Rd}n,k(r) (2017)
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This condition also implies that ¢, k(r + R) = ¢,, i (r), thus proving Bloch’s theorem.

There are two important implications of Bloch’s theorem. First, the excitations of a periodic
potential are fully described in one BZ (usually the FBZ since it is simplest). Secondly, a
Hamiltonian with periodic potential conserves crystal momentum, and as such an electron
with momentum k will always remain in that momentum state, it does not get scattered.
This solves our mystery of why electrons had such long scattering lengths (hundreds of
times larger than the atomic spacing), their wave-functions are well-described by a modu-
lated plane wave which virtually doesn’t get scattered, although impurities of course ruin
this picture.

Born-Von Karman boundary conditions

Following the first proof it still remains to be shown what the k vectors are allowed to be.
This depends on the boundary conditions of the lattice, the most important being the Born-
Von Karman boundary conditions. We which imposes periodicity of the wave-function

»(r+ N;a;) = ¥(r), Va; lattice vectors (20.1.8)

where N = []; IV; is the number of unit cells in the crystal. This periodicity of the wave-
function can be imposed by taking the crystal lattice to lie in a finite box with periodic
boundary conditions. Using Bloch’s theorem we see that

_ 2mmy

Y(r+ Njag) = eNikaiy(r) = (r) = k-a; = N €L Vi (20.1.9)

Letting b; be the reciprocal lattice vectors, then let’s write

m;

N €L Vi (20.1.10)

k:Zk,bZ = k; =

Finally, we have found that the allowed k-vectors are given by
m;
k= Z ﬁibl (20.1.11)

In 3D, the volume of in momentum space afforded to each k is given by the volume of the
parallelepiped whose edges are 2-

i

b1 . (bg X b3)

vol(dk) = N (20.1.12)
Since the volume of the primitive lattice cell in momentum space is
9 3
by - (by x b) = . :) N (20.1.13)
it follows that
3
vol(sk) = (2:) (20.1.14)
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This is equal to the volume of the primitive lattice cell divided by N. Therefore the number
of allowed wave-vectors k in the FBZ (or any primitive lattice cell) is given by the number
of total unit cells.

Proof 2: momentum space derivation

Since the potential is periodic it can be expressed as a Fourier series

= > MV (20.1.15)
qeRL

We impose Born-Von Karman conditions so that in the momentum basis the wave-function
may be expanded as a superposition of plane waves

1) = > cqe'l” (20.1.16)
qeRL
Schroedinger’s equation then reads
h2 2 ) )
> ( 2q + Vie'® T — E) cq€ 1" =0 (20.1.17)
qKerL N <
h? 12 .,
= > K - E> g+ > Vch/_K] 1T =0 (20.1.18)
q'€RL KERL

where in the second line we introduced a change of variables q" = q + K. Multiplying by
e 9T and integrating over real space we then obtain that
ﬁ2q2
( S E) cq+ Y Vkeqg-x =0 (20.1.19)
KERL

Note that each of the N wave-vectors q in the FBZ will produce an equation coupling cq
to its representatives cq 1k, VK € RL in the other BZs. The end result is that we obtain
N distinct equations, and generally there will be more than one solution. Therefore each
eigenstate can be labelled by k € FBZ and n, the band number identifying which solution
{ci} is used:

1/}" kI Z C Z(k+G = 6ik'r¢n,k(r)a an k(¥ Z Ck+G6 iGr (20120)

GeRL GeRL

Finally, note that

Pn (1 = Y g CTeECSR = 4,4 (r) (20.1.21)
GERL
as desired. Also
Pnk+q = Pnk> Vq € RL (20.1.22)
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20.2 General remarks on periodic potentials

Before looking in depth at the behaviour of electrons in periodic potentials, let’s look at
general features of the problem. We have already proven a fundamental result, namely
that the eigenstates can be written as

U x(t) = € 1 (1), Up1(r+ R) = 1,1 (r), VR € DL (20.2.1)

Although it may be very intuitive and almost obvious, k and p are separate things. The
crystal momentum k gives us the of the discrete translational symmetry of the Hamilto-
nian, while p is related to a continuous translational symmetry of the Hamiltonian which
is not in general present.

Note also that k can vary continuously, so we should expect to find a continuous spectrum
of energy levels that can be labelled by the crystal momentum number k and the band
number n. We refer to the energy levels for a specific band number as energy bands. We
can find the wave-function by substituting the Bloch ansatz into the Schrodinger equation

h2

— 5V U1 (1) + V(1) 1o (1) = ey, 1 (1) (20.2.2)
m
2
— | - —m(v +iK)? + V(1) |ty x(r) = Bu, i (r) (20.2.3)
Hy

Defining Hy = —%(V + ik)? + V(1) then this boils down to Hyu,, k(t) = Eu, x(1).

As mentioned previously, Bloch’s theorem solves the mystery of the abnormally large scat-
tering length measured for electrons in solids. Indeed consider expanding the energy of a
band around k:

E(k+q)= Ek)+q-ViE + o(¢%) (20.2.4)

Note however that E(k + q) is an eigenvalue of

2 5 ’Lh2 h2q2
(V+ik+iq)" + V(r) = Hy — a (V +ik) + Dy (20.2.5)

Hyyq=—
+q m

2m
Since ¢ < k we can treat the last two terms as a perturbation so that

v i)+ B H+V (20.2.6)

= —q" 1 e = L.
m q om k+q k

Then the terms in (20.2.4) can just be computed as perturbative corrections to the energy
E(k). If we are interested in the first energy correction only and keep only the terms linear
in ¢ then we find

_int

EY(k) = (n,k|V|n,k) = dPrut 1 (1)[q - (V + ik)]uy, 1 (r) (20.2.7)
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so that
ih? 3 * . Zh2 3 *
ViE = - d°t up, 1 (V + iK)up 1 (r) = ——— [ d’r ¢, 1 Vb (20.2.8)
Letting v = %p = —%V be the velocity operator then
1
(Vo) = ﬁVEn(k) (20.2.9)

Thus, the mean velocity of an electron in a periodic potential is given by the gradient of
the energy in momentum space with no degradation despite interactions with the lattice.

Finally, let’s look at the density of states for Bloch electrons. We have that g, (E) dE is the
number of states in the nth band within an energy interval [E, E + dE], which we can write
as an integral over momentum as

3k 1, E<E,K)<E+dFE
d { < Eull) s B+ (20.2.10)

n(E)dE =2V | — X
gn(£) / 43 0, otherwise

where the 2 comes from spin degeneracy. We can write this volume integral as a surface
integral. Consider the energy surfaces S, (E) and S, (E + dE) found by solving E,, (k) = E
and E, (k) = E + dE. Let k(k) be he perpendicular distance between the two surfaces at
k. Then

as
gn(E) dE = V/ Rék(k) (20.2.11)
Note that dE = |VE(k)|6k(k) so we finally find that
as 1

The total density of states is then the sum of the density of states for each band

dsS 1
E)=V E _— 20.2.13
9(E) — /Sn(E) 43 [V Ey, (k)| ( )

Note that if VE,, (k) = 0 then the integrand diverges yielding a van Hove singularity. In
3D these can typically be integrated over, but they do result in discontinuous slopes of g;,.
The figure below shows how these singularities occur where the energy bands get flat.

20.3 The Kronig-Penney model

We begin by looking at some general properties of electrons in periodic 1D potentials.
Consider a lattice of ions sitting at the minima of a periodic potential U = >72._ __ v(z—na)
which are taken to be zero. We also assume that v(z) is an even function for simplicity. The
potential U therefore corresponds to a superposition of single-ion potentials centered at

na for n € Z which vanish if |z| > (n+1/2)a. This is known as the Kronig-Penney model.
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40

Thef

4

DOS(state/eV/atom)

To evaluate the resulting energy spectrum we need to solve the Schrodinger equation

h2
" 2m

V2 + i v(z —na)p = B (20.3.1)

n=-—o0o
This is greatly facilitated by the Bloch’s theorem, which requires

Y(x +a) = e*(z) = ¢'(x+a) = Y/ () (20.3.2)
Now consider the single-ion Schrodinger equation

—QH;V% +v(z)p = E¢ (20.3.3)

This is simply a scattering problem so we can take a plane wave incoming from the left,
¢1 = €* in 2 < a/2, which scatters into v(x) producing a reflected wave ¢ = re”**? in
r < a/2 and a transmitted wave ¢ = te’** in x > a/2. We therefore try the ansatz

oL =

iKx —iKx —a/2 2K2
{e +r , v < —a/ E:h (20.3.4)

telfT x> a/2 ’ 2m

By inversion symmetry, we can consider the reverse situation of a plane wave incoming
from the right and find

telf r < —a/2 h2K?
= , . , E= 20.3.5
on {ele + KT 2> a)2 2m ( )
Note that these are two independent solutions of the Schrodinger equation with energy
E = %, as can be easily proved by evaluating the Wronskian W (¢r,, ¢r). Therefore the

general solution to the TISE can be expressed as a linear superposition of ¢, and ¢r

¢(x) = AgL(x) + Bor(w) (20.3.6)
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But this is the solution to the single-ion Schrodinger equation, how do we relate it to the
general problem of a periodic potential? Note that (20.3.1) and (20.3.3) are the same in
the region |z| < a/2, so by the uniqueness theorem (20.3.6) must be the restriction of ()
to the neighborhood of the ion at the origin:

P(x) = A¢L(x) + Bor(z), |z] < (20.37)

We can then use Bloch’s theorem to find the wave-function in the other ion’s neighbor-
hoods, so that in general

¥(a +na) = [ Ag L (x) + Bop(x)], [a] < 5 (203.8)

Now it remains to find what values of K are allowed. In general we should expect the
presence of band gaps, values of E where there are no solutions to the TISE. To understand
why, consider the free electron model. Here we expect to get Without a potential both
solutions are degenerate with each other, but as we turn on the potential V(z) = V(z +a),
one of these will have its peaks aligned with the maxima of V/, while the other will have
its maxima aligned where V' vanishes. This difference leads to a separation in energy and

a gap opening.
In our case, we can impose the Bloch conditions on (20.3.7). We find that ¢(z + a) =
e’k (x) requires

Alteifal? _ gika(o=iKa/2 | . iKa/2)] _ BlpeikagiKa/2 _ o igcq /9 — peikal2]  (20.3.9)
and ¢/ (x + a) = e™*%)’(z) requires
Alteila _ gika(o=iKa/2 _ . piKa/2y| _ B[_yeiKa/2gika | =iKa/2 _ . iKa/2) (203 10)
Taking the sum of these two we get
A(te'al2 _ gikag=iKa/2y — g, Beiia/2 (20.3.11)
while their difference yields
AreiKa/2 — _gpe=ikayiKa/2ika _ ,~iKa/2y (20.3.12)
Substituting the latter into the first and simplifying we find that

2 7‘2

_t B iKa 1 —iKa
coska = 57 € +2t6 (20.3.13)

We are still not done since ¢ and r are not independent. Indeed note that given two solu-
tions to Schrodinger’s equation, then

Wi(61,62) = 6} (2)n(a) — ir(w)(e) = 2T =By, 2T 2B~ 0
(20.3.14)
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The Wronskian for the solutions ¢, and ¢7 is

2iK|t]?, 2 < —a/2
W(ér,¢1) = 20.3.15
(92.91) {QiK(l —1|r?), = > a/2 ( )
Since W cannot have any z-dependence we require
Ir? + 1t =1 (20.3.16)

as expected from probability conservation. Similarly evaluating the Wronskian for ¢, and
¢F we find

—2iKt*r, © < —a/2 A LA
W(or, d%) = = t = [t|e">, r = Li|r|e’ 20.3.17
(61.67%) {MW s ¢ r (203.17)
Substituting these conditions into (20.3.13) we find
Ka+ A
cos ka = % (20.3.18)

This fully solves the problem, given the form of v(z) one can find the values of |¢| and
A by imposing necessary boundary conditions, and then one can find for which energies
E = ’i;—mK we get a solution and the corresponding crystal momentum k. It is important to

note that —1 < cos ka < 1 so that a solution will only exist for those values of K where
—|t| < cos(Ka+ A) < [t| (20.3.19)

An example is plotted below

For very small values of || (very strong potential) there will be very narrow regions of
allowed K. On the other hand for very large values of |t| (very weak potential) there will
be very narrow regions of forbidden K, which are band gaps. These occur near the peaks
of cos(Ka + A) which are larger than |¢|, but since |t| ~ 1 these regions will be narrow.
Indeed the width of these band gaps can be found by setting |r|/|t| < 1, A ~ 0, and
finding the distance between the solutions to cos(Ka) = [t| = cos?(Ka) = |t|*>. Thus we
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taylor expand cos?(Ka) about nr to get

h2K?2 h?2

— (Ka—nn)® = [t|? =
(Ka = nm) i om  2ma?

(%|r| + nm)? (20.3.20)

The distance between these two solutions is the band gap centered at nx

2
ABgap ~ 2n7r n " |7] (20.3.21)

which is indeed very small.

For a more concrete example, consider the case where v(z) = vpd(x). Here we get a Dirac
comb of potentials centered at the ions. Focusing on the region |z| < a/2, we obtain a
boundary condition by integrating the TISE:

2mug

W'(07) = 9'(07) = ——5=vr(0) (20.3.22)
We must also require that /(=) be continuous so that

$(0%) = (07) (20.3.23)

The Hamiltonian for = # 0 is just a free-particle Hamiltonian so we can use the plane-wave
ansatz

e o p=iKe g < h2K?
= , ’ E= 20.3.24
Vi) {te’Kl’, x>0 ’ 2m ( )
We then find that
. . 2muy
l+r=t, and iK(1 —r) =iKt — 72 t (20.3.25)
and after a bit of algebra this yields
1 2K
_ _ muv
r=—— z’fjf’ t= TR z‘hOQK (20.3.26)
0 mug
Letting t = |t|e® and r = +i|r|e’® then we see that
¢ K ¢ WK
LAY S L (20.3.27)
r mug 7] mug
so we should take 7 = —i|r|e**. We then see that
t+1+r = |1t|2e2iA =1 — |r?e?2 — 2i|r|e’® = |r| = —sinA, [t| = cos A (20.3.28)
Socot A = mvo K and

cos A cos(ka) = cos(Ka + A) = cos(ka) = cos(Ka) + s1n(Ka) (20.3.29)

hQK
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POTENTIALS

20.4 Nearly-free electron model: electrons in weak periodic
potentials

We consider a free-electron system Hy = % with and treat the ion-lattice potential as a

weak periodic perturbation V(r) = V(r + R). The eigenstates of H are Bloch states |k)

such that
h2k2

=k
2m
To first order in perturbation theory we find that

Hy |k) = ) = ep k) (20.4.1)

ex =g + (k| V| K) (20.4.2)
Vo

which is just a constant offset Vj. Second order perturbation theory is more interesting

K|V]|k)|?
5k:5ﬁ+‘/0+ Zw

&
K/ £k k

(20.4.3)
— e,

However, Laue’s condition requires (k' | V' | k) = &)y . Therefore the second order cor-
rection is K VK P
+G|V
FEES

o (20.4.4)
(GA0eRL kT fk+G

This is quite problematic because the denominator blows up due to degeneracies:
k| = [k + G| (20.4.5)

These denegeracies occur on the Brillouin zone boundaries, as shown below for the simple

1D case where G = —2”7”:

Energy

1
_n/a 0 T[/a
Wavevector

To account for this degeneracy one must use degenerate perturbation theory and diago-
nalise the Hamiltonian in the degenerate subspace. Letting

) = ¢x [K) + Py [k + G) (20.4.6)
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then the Hamiltonian matrix elements in the degenerate subspace are

(k|H|k) =€) + V) (20.4.7)
(kK|H|k+G)=e)+ Vg (20.4.8)
k+G|H|K) =€ + Vg (20.4.9)
(k+G|H|k+G)= e g+ Vo (20.4.10)

Here we defined the Fourier coefficients

Va=13 / drV (r)e~ar (20.4.11)

Simple case: k on the BZ boundary

Suppose that k sits exactly on a BZ boundary. Then in the 1D case we have that G = —22%
and thus the degenerate space Hamiltonian takes the form

0 *
N CES Y
Hdeg - ( VG 61(1 + ‘/0 (20412)

This can be easily diagonalised to yield the energies to first order in degenerate perturba-
tion theory

6 = ep + Vo + Vg (20.4.13)

This perturbation opens a gap A = 2|V| near the Brillouin zone boundary, while in the
rest of the Brillouin zone the dispersion relation will look roughly parabolic (as predicted
by the free-electron model).

We can understand the opening of this gap more qualitatively by looking at the eigenstates
of H, deg:
1

() = m(ei’“ + ¢! (F+G)z) (20.4.14)
and so the probability density is
it (2)|? = %[1 + cos(Gi)] (20.4.15)

We see that the the probability density of the plus state has maxima concentrated near the
maxima of |Vg|cos(Gx), while the minus state. Therefore the electron in the plus state
is more likely to be in the high-potential regions of the lattice while the electron in the
minus state is likely to be in the low-potential regions. All other sinusoids in the Fourier
expansion of V' do not contribute as they are out of phase with the probability amplitudes
which have wave-number G. The result is that a gap of 2|V;| will open up.
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NNV
(b)

o N @ k

nr)
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2a -a a 2a

General case: k close the BZ boundary

Suppose that £ is a distance 6k from the BZ boundary so that £ = =+ + §k for some n € Z.
The degenerate subspace Hamiltonian now reads

0 * 2

Hieg = (6“ v ) ,G=_"7 (20.4.16)
VG e a

where we absorbed Vj into € (this is equivalent to shifting the potential so that its zero-

wavenumber mode, the value it oscillates about, is zero). The energy levels are found by

solving the secular equation

(e — @) (kg — @) = [Va/? (20.4.17)
We get
O N i\/(o— 9)2 4 4|Vg |2 (20.4.18)
k= 5% T k+G 0 %k ~ %k G -
Substituting
o _ I 2 0 12 2
we get that
—h—2(K2+5k2)i\V l\/1+ (th‘Sk) (20.4.20)
«= om ¢ m? Vgl o
12 R K26k?
~ — (K2 4 6k*) + |V (1 — 20.4.21

The Taylor expansion is valid when Kk < |Vg|, so for large values of n we will need & to
be closer and closer to the BZ boundary. If this assumption is satisfied then

G = 5 Vol + = i (20.4.22)

+_ h2n?n? h26k? <1 n R2n2m? 1 )7 G _2nm
ma |Vg|
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The band structure is shown below

\/’ ‘ I \

ka

=3 =2n -n 0 n 2n 3n

Figure 20.1. The band structure in the nearly free electron model looks parabolic due to small
contributions from perturbation theory. On the other hand, near the BZ boundaries a band gap

opens due to hybridisation of plane wave forming ungerade and gerade orbitals.

Letting € then the electron effective mass is

Meff =

1 h2n2n2
mal|Vg]

Example: silicon carbide

(20.4.23)

We show below the Brillouin zone of an FCC lattice, which is equivalent to the Wigner-

Seitz cell of a BCC lattice. Then

Figure 20.2. Brillouin zone of an FCC lattice

Lets look a the dispersion of pure silicon which forms an FCC lattice with basis (zincblende

structure)
. 111
Siat [0,0,0] and [Z’ 7 ﬂ
and silicon carbide which also forms an FCC lattice with basis
. 111
Si at [0,0,0] and C at [Z’ T ﬂ
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which are shown below Interestingly the dispersion relations look very similar for both

r K X r L T K X r L

Figure 20.3. The dispersion relation of Silicon carbide (left) and pure Silicon (right).

materials, especially considering the first four bands. Indeed we can see that near the
origin I' the dispersion looks parabolic for both materials. However SiC exhibits a gap
opening at X as predicted by our nearly-free electron model, while silicon does not.

The reciprocal lattice vector connecting X on one side of the BZ to X on the other side (that
is, -X) is (200). We see that

S200) = Secc - fei(l+€™) =0 (20.4.26)

This means that X does not get scattered to -X implying that the gap will close.

20.5 The tight-binding model: electrons in periodic potentials

The largest short-coming of the nearly free electron approximation is that it takes the elec-
trons in a solid to be weakly bound to the ion lattice. We need a complementary method
that treats strong potentials V' (r), the tight-binding model.

Suppose we start off with a single electron in a single-atomic potential V, due to an ion at
the origin. The Hamiltonian then takes the form

2

H, = g—m 4 V(r) (20.5.1)
This will form a discrete spectrum of bound states with energy ¢,. As we slowly turn on
the potential AV due to the rest of the lattice, the states with large binding energies at the
bottom of the spectrum will remain bound. However, the valence electrons states at the top
of the spectrum are less tightly bound to their respective atoms, and hence their tails can
overlap with the wavefunctions on neighbouring sites. This overlap leads to hybridisation
of the wavefunctions and a delocalisation of the valence electrons.
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LCAO method

The goal in this subsection will be to compute the energy spectrum of electrons in a peri-
odic lattice using the LCAO method. As a quick summary, in this method one defines a
basis of states |n) and writes

= cnln) (20.5.2)

The energy is then given by solving the secular Schrodinger equation

> (n|H|m) ¢y = E¢y, (20.5.3)

n

To find the required basis, we begin by considering the atomic Hamiltonian for a single

electron ,

H,(R) = 21’71 ~ Vy(r—R) (20.5.4)

where V, is the potential due to the atom at R. Suppose we have found the spectrum ¢,
and the corresponding wave-functions ¢, (r) for this Hamiltonian

Hy(R)¢n(r — R) = e,n(r — R) (20.5.5)

We can write the Bloch states (which will be the basis for our LCAO expansion) as
U e \ﬁ > e Re,(r—R) (20.5.6)

which satisfy the Bloch condition

Uni(r+ Ro) = e“‘"‘OjN Y el ® Rl (r— R+ Rg) = e Roy, 4 (1) (20.5.7)
R

It is easy to get confused with the indices here: n is not a band index, it is the list of quan-
tum numbers specifying the single-atom wave-functions ¢y, (r). Once we solve the secular
equation arising from the LCAO method we will find several solutions which can then be
labelled by a band index.

The Bloch wave-function in (20.5.6) is not normalised. Indeed

(n, K[’ k) = / 01 5 1 (1) b (1) = / dr e RR) e (1 R')p, (r— R) (20.5.8)

RR/

By translational invariance, each term in the R’ sum will look the same, so we can simply
set R" = 0 and hence

(n,k|n’, k Z / P’re*Rer (g (r—R) =1+ > e*Ray, 1 (R) (20.5.9)

RA0
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where we defined the overlap integral

. (R) = / a3t ¢7 (¥)dpp (r — R) (20.5.10)
The total single-electron Hamiltonian is
2
P
H=o—+ > Var—R)=H,+ > Vi(r—R) (20.5.11)
ReDL R#£0
AV (r)

This corresponds to breaking up the Hamiltonian into an atomic Hamiltonian centered at
the origin, and a potential term due to the rest of the lattice. Therefore we find

(n,k|H|n' k) = % 3 ekR-K) / Br ¢k (r — R (Hy + AV (1)) (r —R)  (20.5.12)
R,R’

=) kR / d3r ¢* (r)(Hy + AV (1)) dp (r — R) (20.5.13)
R
= (k) (n,k|n/ k) + ) R / dr ¢L (1) AV ()¢ (r—R)  (20.5.14)
R

where in the second line we used the translational invariance of the sum over R’ which we
could set as N times the summand at R’ = 0. We now define the energy shift due to AV

Ay = / dr ¢F (1) AV (1) dp (1) (20.5.15)

and the hopping amplitude of the electrons

Yo' (R) = /dgr or (r+ R)AV () (1) (20.5.16)
This enables us to write

(n,k|H|n', k) = e (k) (n, k|, K) + Acy + > Ry, 0 (R) (20.5.17)
R#A0

We finally define our LCAO ansatz

Uie(X) =D bathpi(r), D |bal> =1 (20.5.18)

n

so that

Hin(r) =D bpHiyp(r) = E(K)bp (m, k|m, k) =Y by (m,k|H|n,k)  (20.5.19)

n

This is an eigenproblem whose solution gives the energy F(k) and the wave-function v (r)
via b,,. There will in general be various solutions corresponding to different energy bands.
For example, for a p-shell there are three total orbitals (denoted by the n,m indices) we
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are summing over, so the secular determinant will be a 3 x 3 determinant yielding three
different bands.

Using (20.5.17) we find the secular Schrodinger equation

R+#0

For a single band, such as in an s-orbital, then we can drop the band index and find that

Ae+ 3 R0 e ®Ry(R)
1+ 3 g €*Ra(R)

B(k) = e(k) + (20.5.21)

where €(k), Ag, 7(R) and a(R) can be computed numerically.

Wannier wave-functions

The Bloch wavefunction is a delocalised wavefunction spreading along the entire crystal:
Ui (1) = e® T (1) (20.5.22)

However for the development of the tight-binding model it will be useful to obtain wave-
functions that are localised at a lattice vector R. To do so we introduce the concept of a
Wannier function defined as

or(r) \F > e Ry (x (20.5.23)

keFBZ

The normalisation factor comes from the fact that there are IV allowed values of k in the
FBZ. To understand why the sum is restricted to the FBZ, suppose q = k + G such that k
is in the FBZ and G is a reciprocal PLV. Then we find that

TR Yq (1) = Ry 6 (1) = e Ry (r) (205.24)

so that the normalisation within a single FBZ is sufficient, extending the sum to all re-
ciprocal space would just repeat this sum. Note that given any lattice vector R’ then
dror (r + R') = ¢r(r), so we can write ¢r(r) = ¢(r — R). The Wannier function only
depends on the separation of the electron from the lattice site at R. An important property
of the Wannier functions is that they are orthonormal

/ Pr ¢ (x Z / @t R KR g (0 () (20.5.25)
kk’
— Z I R=R) — 5p r/ (20.5.26)
kGFBZ
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We can invert (20.5.23) and get

SN @Ry (1) = Y gp(r)elt® (20.5.27)
\/7 ReDL keFBZ ReDL
= VN Y d(k-qi®) = Y ¢r(r)e R (20.5.28)
keFBZ ReDL
— (1) > e Rop(r (20.5.29)
\/_RGDL

Note that the eigenfunctions ¢, (r — R) satisfying the single-electron atomic Schrodinger
equation
Hy(R)¢n(r —R) = ep¢pn(r — R) (20.5.30)

look like Wannier functions. However the eigenfunctions localised at different sites are not
orthogonal and therefore don’t qualify as fully fledged Wannier states.

The total single-particle Hamiltonian is
p* _P
=5+ > Va(r—R) = o V) (20.5.31)
ReDL

For simplicity we will consider the single band case only, so we can drop the band index.
The energy E(k) can be written as

E(k) = / &t (1) Hre(x Z ek R-R) / PPr¢*(r—R)Hp(r—R)  (20.5.32)
R R’
=) kR / d3r ¢*(r)Ho(r — R) (20.5.33)
R

We now define the on-site energy ¢( and the hopping rates ¢(R) to be
g0 = / d’r ¢*(r)Ho(r) (20.5.34)
tR) = / d’r ¢*(r)Hp(r —R), R #0 (20.5.35)

which allows us to write the band energy as
E(k) =c0+ Y e*R¢(R) (20.5.36)
R0

This result is the same as the one obtained from the single band LCAO expansion with
7(R) — t(R), only that we now have a(R) = 0 by definition of the Wannier functions.
There will in general be several solutions to this equation which can be labelled by a band
index n.
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Second quantisation

Let us define the creation/annihilation operators cjm, /caic that create/annihilate an elec-
tron in a Wannier state centered at site ¢ with spin ¢ and band index n. Similarly let

aw /caic create/annihilate an electron in a Bloch state with crystal momentum k, spin
o and band index n. Clearly, we can relate the two creation operators by

—ik-R; T

o1 Z e ie c 1 Z ok Ri . )
aio T akor Caioc — ako ( 0537)
vIN X \/N "

C

This allows us to define the field operators:

=2 0Lt —Ri)c;, Zwak o (20.5.38)
= dalr—Ri)cly, Zwak e (20.5.39)

which create/annihilate an electron with spin ¢ at position r.

This finally allows us to second quantise the tight-binding Hamiltonian by writing:

2
_ 3.t p
H=Y / Prwl (r) [2m + V(r)} v, () (20.5.40)
and substituting (20.5.38) into (20.5.40) to retrieve:

H= Z Z Z € Mo + Z Z Z £t o Cajo (20.5.41)

We defined )
- / dr ¢ (r) [P + V(r)} () (20.5.42)

2m

and the hopping matrix elements:

q p2
= / dr ¢ (r — Ry) {Zm + V(r)} ba(r — R;) (20.5.43)

Int he single-band case as in an s-orbital we find
H=Y enic— Y tijclcjo (20.5.44)

' 4,0,0

where we changed the sign of ¢;; for conventional purposes. For example, with a transla-
tionally invariant 1D chain of IV sites with lattice constant a and periodic boundary condi-
tions (so that j + N = j) then

N
H=—t>"3"(cl,, cjo+hc) (20.5.45)

j=1 o
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which can be diagonalised by moving to momentum space where

H =" By}, ,cro where Ej, = —2tcos(ka) (20.5.46)
k,o
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Conductors, insulators and
semiconductors

21.1 Fermi surfaces

For non-interacting, free electrons we get a perfectly spherical Fermi surfaces, there is no
anisotropy in the BZ so all directions are equally preferred. For monovalent materials we
will then get a half-filled BZ. Sodium is a good example where the interactions are weak
enough to observe such a Fermi surface

¢

We saw that in the nearly-free electron model, states with energy slightly less than that at
the BZboundary are pushed down, while states with energy slightly higher than that at the
BZ boundary are pushed up, thus opening a band gap. Thus as we turn up the interactions,
the states closer to the BZ boundary but still inside it will be more energetically favourable
and be occupied more. The spherical Fermi surface will therefore deform towards the BZ
boundary. Here is Fermi surface for lithium, another monovalent material:

2d analogue

2d analogue
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For strong enough interactions the states near the BZ boundary get pushed down so much
that they fall below the Fermi energy. This occurs in copper

2d analogue

In all cases the BZ is never completely filled so according to band theory any monovalent
material should be conductive.

Suppose we now get two electrons per unit cell, so that the entire BZ could in principle be
filled. For a free electron model we would get a perfect sphere whose volume matches the
BZ volume. For very strong interactions the unoccupied states within the BZ are pushed
down so much in energy that the states in the second BZ occupy them completely. For
intermediate periodic potentials, only some of the states within the BZ are pushed down
in energy, so the unoccupied corners in the BZ will only get partially occupied.

In the first and second cases, the fermi surface crosses the BZ boundary so we get two
partially filled bands, implying that low-energy excitations (conduction) are allowed. In
the third case however the entire BZ is filled so there are no low-energy excitations and we
therefore get an insulator.

In calcium for example. The Fermi surface crosses the BZ boundary so we get two partially
filled bands.

Calcium FCC
1t band (Divalent) 2™ band
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Since no band is completely filled, calcium will conduct despite being divalent.

There are still several short-comings of this simple band picture. Firstly it completely ne-
glects the electron-electron interactions, which allow for exotic materials such as Mott in-
sulators, where the Coulomb interaction are so strong that a monovalent material will not
be able to hop electrons since the potential energy of two electrons sitting on the same
orbital would far overweight the energy lowering from hopping. Secondly, magnetism is
completely neglected. There are materials such as iron where up and down states are not
occupied equally even in the absence of an external magnetic field.

21.2 Optical properties

Let’s consider a band insulator with a completely filled valence band and an empty con-
duction band separated by an energy gap A defined as

A = minimum conduction band energy — maximum valence band energy = (21.2.1)

where the difference must be taken at the same quasimomentum (photons have very low

momentum at visible frequencies so to conserve momentum k remains roughly constant).
1

il

SEECSEBEEEBEEEB888888 nanometers

=1 el o) =z o ) =

& a ®| 35 g =

S T = = X % Transition
1.7eV 2.0eV 2.4eV 2.6eV energy

Suppose we send in a photon of frequency /w. Only photons with w > A/h can be ab-
sorbed by electrons to be excited into the conduction band. Since visible light transition
energies range from 1.7 eV (red) to 3.1 eV (violet), insulators with band gaps larger than
3.1 eV will be transparent since there will be no available transparent photons to interact
with the electrons. If instead A < 3.1eV then only photons with w > A /h will be absorbed
implying that photons with w < A/h will be transmitted. Cinnabar for example has a gap
of 2.0 eV, implying that photons from yellow to violet in the EM spectrum will be absorbed
giving the element a dark-reddish colour which does not get absorbed.

"Note that we can get indirect gaps which change the crystal momentum. For example a photon could be
absorbed creating an electron-phonon excitation, but these occur more rarely. Moreover, for imperfect crystals
which break translational symmetry, k does not have to be perfectly conserved.
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Sulfur

Cinnabar (HgS) Realgar (As,S,)
Gap=2.0eV Gap = 2.4eV Gap = 2.6eV
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Semi-classical Transport theory
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Linear response theory
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Paramagnetism and Diamagnetism

24.1 Magnetism

Despite having been known by humans for millenia, magnetism (or better, its origin) was
not really understood until the late 1920s with the advent of quantum mechanics. Mag-
netism is the perfect playground to test quantum mechanics. Finally, band theory so far
has ignored the spin-degree of freedom, so metals with spontaneous magnetisation for
example cannot be explained by band theory. Thus magnetism is a new phenomenon that
requires an explanation.

Suppose we place a material with susceptibility x inside a magnetic field B which induces
a magnetisation (magnetic dipole moment per volume) M given by

M= 2B (24.1.1)

Ho
If x > 0 then we get paramagnetism, while if x > 0 we get diamagnetism. There is also a
third possible magnetic phenomenon, ferromagnetism, where the magnet’s magnetisation
retains “memory” of its past leading to hysteresis. The latter allows materials to have a net
magnetisation in the absence of an externally applied field, so (24.1.1) breaks down. It is
more correct to invoke the statistical definition of the magnetisation:

1 - Ho
M=~ an e % VB (24.1.2)
where F is the system’s free energy:
1
F = —_Tr(e PH) (24.1.3)
B
From this we see that the susceptibility tensor is
— _ 18 o2
X = o VM = —VVBF (24.1.4)

24.2 Atomic susceptibilities

Magnetism is inherently a quantum mechanical phenomenon. By the Bohr-von Leeuwen
theorem, a system of classical particles without spin cannot have a non-zero magnetisation.
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A quantum theory is thus required to explain magnetism, which is what we will attempt
here. The Hamiltonian for a single electron moving in a magnetic field B is

1
H = 5—(p+eA)* + gepopsB - S+ V(r) (24.2.1)

where up = th (ratio of electron magnetic moment to angular
momentum) and g. ~ —2 is the electron’s spin g-factor. Here we set S = 1o for simplicity.

Working in the symmetric gauge A = —3r x B then the kinetic energy becomes
1 1 D G TN
T=—|p—= B| = B L-B 2422
Qm(p 5 €T X ) 2m+8m (2" +y7) + up (24.2.2)

where L = i(r x p) has been re-scaled by a factor of 4. We can extend this Hamiltonian to
the many-electron case by ignoring electron-electron interactions:

232
H=Hy+°S
&m

> (@ + i) + ps(L+g.S)-B (24.2.3)

AH

2
where Hj is the atomic Hamiltonian Hy = >, B’Zn —|—V(ri)} ,and L, S are the total orbital and

spin angular momentum respectively. For small fields B we can treat AH as a perturbation
and proceed using non-degenerate perturbation theory. To second order in B we get

2B

B- (L e
Z (nlr2|n) +Z| (n|lup + geS)|n) |

AE, = upB - (n|L + ¢.S|n) +
st E,—E,

(24.2.4)

Generally the first term will dominate over the others. We can take (n|L + g.S|n) to be
approximately of order unity, so that

hB
115B - (n|L + g.S|n) ~ 627m ~ 1074V (24.2.5)

for a 1 T magnetic field. The second term on the other hand has matrix elements of order
> (n|r2|n) ~ a so that

ag ~ 107 1ev (24.2.6)

which is significantly smaller. However, in some instances the first, dominant term may
vanish, in which case these second order terms can become important. For example, sup-
pose we have an ion in its ground state |0) with fully filled shells (this is a non-degenerate
gorund state). Then L |0) = S|0) = 0 implying that

AR, = P 3 (0[r2[0) (24.2.7)
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24.3. HUND'’S RULES

yielding a susceptibility of
e? N

X= %217

2

(24.2.8)
for solid of N atoms at 7' = 0 (so that the free energy is equal to the internal energy). Note

that x < 0 implying that the solid is a diamagnet, the magnetisation points opposite to the
applied field.

24.3 Hund’s rules

We have seen that atoms with fully filled shells act as diamagnets. However, what happens
to atoms with only partially filled shells? Hund’s rules tell us how to fill up the electron
orbitals in such cases. In the absence of interactions the electrons would fill up the orbitals
randomly, but couplings between the electron’s angular momenta change this picture con-
siderably. Consider an atom with all shells filled except for its outermost /-shell containing
0 <n < 2(2l+ 1) electrons.
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Figure 24.1. Ground state multiplets of atoms as calculated by Hund’s rules.
Then Hund’s rules are !:

Hund’s first rule: the ground state has the largest total spin angular momentum .S con-
sistent with the Pauli exclusion principle. This value is equal to the largest S, attainable.

!The justification of these rules can be found in the Quantum Mechanics volume.
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24.4. PARTIALLY FILLED SHELLS

Hund'’s second rule: the ground state has the largest total orbital angular momentum L
consistent with the Pauli exclusion principle and rule 1. This value is equal to the largest
L attainable.

Hund’s third rule: the ground state has the total angular momentum J given by

(24.3.1)

J_ |IL—S|, if n<20+1
S \L+S, if n>2+1

according to the number of electrons in the orbital.

The J-multiplet ground state of the atom is typically designated by a symbol 251X
where X is a letter corresponding to L:

X|S P DF G H I
L0 1 2 3 4 5 6

24.4 Partially filled shells

Using Hund’s rule we can write down the ground state configuration of most atoms. This
allows us to compute the perturbative corrections in (24.2.4). We distinguish between two
different cases.

Casel: J=0

IfJ?|0) = 0 then one can deduce that (0|L + goS|0) = 0. Indeed using the angular momen-
tum algebra we find
[L+ ¢.S,n-J] =in x (L + ¢.S) (24.4.1)

for any arbitrary unit vector n. Taking the (0|...|0) matrix element yields the desired result.

The ground state is again non-degenerate, but unlike the filled shell’s case the third term
in (24.2.4) need not vanish. Consequently we get

e’ B’ | (0luB - (L + gS)n) |*
AE, = Z|n) — < 2442
0= g 2l =32 S (2442)
so the susceptibility is
N /(& 2 2 |<0‘Lz+gesz‘n>‘2
X = v (Gm ; (n|rin) — 2uz nzﬂ) E, — By ) (24.4.3)

We again obtain a Larmor diamagnetic term, but this time there is a counter-acting para-
magnetic contribution known as the Van-Vleck term.

Case 2: J#0

Unfortunately the J # 0 case is more involved as the ground state is (2J + 1)-degenerate,
the free energy is no longer equal to the internal energy (even at 7" = 0) and degenerate
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24.4. PARTIALLY FILLED SHELLS

perturbation theory is required.

The first simplifying assumption we make is to only consider the first term in (24.2.4). We
need to diagonalise the following matrix

(JLSJ,B - (L+ g.S)|JLSJ.) (24.4.4)
The Landé projection theorem allows us to simplify the problem considerably by writing
(JLSJ|L+ geS|JLSJ.) = g(JLS) (JLSJ.|J|JLSJ.) (24.4.5)

Dotting with (JLSJ.|J|JLSJ,) and summing over .J, we find that
(JLSJ.|(L + gcS) -J|JLSJ.) = G(JLS)J(J + 1) (24.4.6)

and using the relations

L2=J2+8*-2J-8 (24.4.7)
2= +12-2-L (24.4.8)
we get the Landé g-factor
HILS) = 51+ a0 + 51— g T =D (2449)
Finally we find that
(JLSJ,|B - (L + g.S)|JLSJ.) = BG(JLS)J.8,. (24.4.10)

so the correct basis to perform the degenerate perturbation theory is the J LS J, basis we've
been using all along. The energy corrections are just

AE, = gupBJ. (24.4.11)

Since the atom can occupy any of these degenerate energy levels (which have different
magnetisations), we must additionally perform a statistical mechanics calculation to obtain
the susceptibility. This is a routine calculation of a spin-J particle in an external field, and
the result is

N (gpopn)® J(J +1)

= — kT B 24.4.12
X=3" 3 WeT 0 B > gropB ( )

Interestingly, ¥ o< 4 which is known as Curie’s law. Note that we have assumed that
only the lowest lying 2.J + 1 states are appreciably occupied, which only occurs at low
temperatures. A compromise with the condition kg7 > gpuopp must therefore be found
for this expression to hold.
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24.5. (METALLIC) PAULI SUSCEPTIBILITY

24.5 (Metallic) Pauli susceptibility

So far we have focused on the susceptibilities of a collection of atoms that electrons are
tightly bound to, which corresponds to insulating materials. Metals can also have magnetic
susceptibilities, as we will now show.

Consider an electron gas of density n = ny +n_. We assume that only the electron’s spin
can couple to the magnetic field and ignore orbital contributions. The electron populations
in the absence of a magnetic field are given by

1

ny =n- =g /de g(e)f(e) (24.5.1)

If we now include a magnetic field, the energies of the two populations will get shifted.
We find that

ng = ;/de gleF %gs,uouBB)f(e) (24.5.2)

Using the Taylor expansion g(e F 1 gsuoupB) ~ g(€) F 39sp0pupBg (€) which is valid for
weak fields poppB < €F, and integrating by parts one finds that

1 1

me =5 [ deg(@F(@ & (uonn)’B [ degle)f' (o (2453)
Consequently the magnetisation is given by
1 1

M = §gsMB(n+ —n_)= 4(gs,uo,u3)2B/de g(e)f'(e) (24.5.4)

Working in the low-temperature regime kpT < er then f/(e) = §(e — €r) so that

1 1
M = Z(Q,UO,UB)QBQ(EF) = XxX= Z(gsMONB)29(€F) (24.5.5)

The susceptibility is positive so the metal should be paramagnetic. Indeed this effect is
known as Pauli paramagnetism.
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Spontaneous magnetisation and
(anti)-Ferro(i)magnetism

25.1 Exchange mechanisms

Some materials exhibit a net magnetisation even in the absence of an applied magnetic
field. Such materials possess a magnetic order which arises from interactions between
electrons.

One would immediately expect electron’s magnetic moments to couple like two dipole
magnets. However, for a magnetic moment on the order of a Bohr magneton:

3
Ugip ~ B8 m2<“0) Ry (25.1.1)

which is on the order of 10~°eV. This corresponds to magnetic temperatures lower than
1K, in contradiction with observations of magnetically ordered materials (take a simple
bar magnet) at room temperatures. Indeed ferromagnets such as Cobalt, Iron and Nickel
are known to be magnetic at temperatures as high as 388, 1043 and 627 K respectively!

So clearly dipole-dipole interactions do not significantly contribute to magnetic order. The
real explanation requires more quantum mechanics.

Coulomb exchange

Let’s consider two orbitals ¢ 4(r) and ¢ (r) of some atom that are eigenstates of the single
atom-electron Hamiltonian H, with energies £ 4 and Ep. Consider now a system made of
two electrons bound to two atoms. Each can lie in either the A or B orbital. Since the total
electron wavefunction must be anti-symmetric, we can write down the following singlet
and triplet ansatz

Wy(ry,12) = \}i[éﬁA(h)(ﬁB(m) + ¢B(11)da(r2)] |S =0, M = 0) (25.1.2)
) 1S=1,M=1)
Wy (ry,12) = ﬁ[ﬁbA(rl)QbB(rQ) — ¢p(r1)oa(r2)] ¢S =1,M = 0) (25.1.3)
1S =1,M=—1)
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25.1. EXCHANGE MECHANISMS

These would be the true eigenstates if the electrons were non-interacting, that is if H =
H(gl) + H, (()2) where H, é’) is the single-electron Hamiltonian for the ith atom. In reality these

electrons interact via Coulomb interactions Vg (r1 — r2) so that H = H, 31) + HSQ) + Veoul-
Still, the wave-functions will still be (25.1.2) to a good approximation. Letting

Ba= [ &1 oaw) Hooa(r) (25.1.4)
Bn = [ ' on() Hoon(o (25.15)
Bcou = [ d*nd’e: 04(n1)0n(r) Veouda(ma) o (r2) (25.1.6)
Eoc = [ d1id'ta 0a(0) 0n () Veoudn(n)oa(r) (25.17)

The Hamiltonian matrix elements are now

1

(| Ho| W) = 5 (AB + BAIHY + H|AB + BA) = E4 + Ep (25.1.8)
1

(W|Vo W) = 5 (AB + BA|Veoul AB + BA) = Ecou + Eex (25.1.9)

for the singlet state and

1

(W[ Hol¥,) = 5 (AB — BAH" + H?|AB — BA) = E4 + Eg (25.1.10)
1

(Ue|Vel¥y) = 5 (AB — BA|Vcou|AB — BA) = Ecoul — Eex (25.1.11)

for the triplet states. Within this approximation, the triplet state is lower in energy by an
energy splitting of AE = E; — E; = 2FEq. We can write an effective Hamiltonian

H=-JS-Sy,] = —AE (25.1.12)

up to irrelevant constants. We can extend this to several sites obtaining the Heisenberg
model

1
H=—3 ZJ: JijSi - S; (25.1.13)

For orthogonal orbitals the exchange energy is positive, J > 0 so we get an antiferro-
magnet. However if the orbitals overlap the exchange energy can be negative, yielding a
ferromagnet.

Intuitively, spatially anti-symmetric wave-functions have a larger amplitude for electrons
to be near each other, minimising their Coulomb repulsion energy. On the other hand
spatially symmetric wave-functions do not have the same screening effect. The result is
that symmetric spin states, that is spin triplets, have a lower energy than anti-symmetric
spin states (singlets).
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Direct exchange

We consider a two-site Hubbard model with two electrons

H=—t> (o0 + chycio) + Ulnipnay + nopnay) (25.1.14)

In the {|1,7), [4. ) [1,4) , 1, 1), 1.0, 0,11} basis, we find that

00000 O
00000 O
000 0—t—t
0000¢ ¢
00—ttt U O
00—ttt 0 U

(25.1.15)

where the signs in the hopping matrix element vary due to Fermi statistics. Intuitively, it
is better for spins to anti-align so that their respective electrons can lower their energies by

hopping.

The spectrum is given by

B =05 [t 1)3 [ dps T (25.1.16)
Bim1 = U : mwgom (25.1.17)
- vor o) 2 2D gy (25.1.18)

Biona = 50 + VT 168 : 2 IRy gy @saa)

In the t/U — 0 limit, £} — —‘i with eigenvector |S = 0, M = 0). This is shown in ??,
where Ejon 1 and Ejon 2 are also shown to converge Thus, the singlet energy is lower than
the triplet to second order in perturbation theory. Much like before we can write an effec-

tive Heisenberg Hamiltonian with exchange coupling J = —%.

25.1.1 Stoner magnetism

For free electrons in a metal, we predicted that the susceptibility would be x o g(ep).
Let’s now see the effects of a Coulomb interaction Hint = U >_; nitn;j. In the mean-field
approximation, this becomes

Hn = U (nigfiy + niymip) (25.1.20)

We find that

1gsuo;us:B)f (e) (25.1.21)

1 _
ni—2/d6g(e+UnjF:F2
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25.2. HEISENBERG MODEL: SPIN WAVE THEORY

10

e/t

U/t

Figure 25.1. Spectrum of Hubbard model

Using the Taylor expansion g(e + Uny F %gsuguBB) ~ g(e) + (UnjF F ;gsuouBB) J'(e)
which is valid for weak fields poupB < €r, and integrating by parts one finds that
1 U 1 .
ne =5 [ deg@5(0) + (= Gzt (gunonn)B) [ deg(e)f' (@ (25.122)
Consequently the magnetisation is given by

1(gstopn)*B [ de g(e) f'(e)
— G [deg(e)f(e)

Working in the low-temperature regime kT < ep then f/(e) = d(e — €r) so that

1
M = Sgspopp(ny —n_) = (25.1.23)

2

9(er) 9g(er)

M = L(gopn) Br—2 ) = g

(25.1.24)

Now the susceptibility changes sign according to the size of U and g(er). In particular,
the metal will start be ferromagnetic when Ug(er) > 2, this is known as the Stoner crite-
rion. Intuitively, since g(ep) ~ é, Stoner’s criterion tells us that when the electrons have
large kinetic energies, a magnetic phase is not prone to form as much as when interactions
dominate.

25.2 Heisenberg model: spin wave theory

The Heisenberg equations of motion

.dO
ih—> = [0, H] (25.2.1)
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can be used to derive the equations of motion for S;. We find that

ihJ
(S, H) = =57 3 €apy (1iS7S) + 01557 S7) (25.2.2)
(ig)
ihJ
=5 > capr(S]S + 5780 (25.2.3)

Uk
so that (using (j), to denote summation over the nearest neighbour sites j to 7)
Sk, H] = ihJS), x > _S; (25.2.4)
(3%
Hence we find that the S, operator evolves as

ds;
dt

=JSi x »_S; (25.2.5)
()

In the classical limit where S < 1, we may treat S as a classical vector and consider this
equation of motion as a classical one.
Ferromagnets

For a ferromagnet (J > 0), the ground stateis S, = Sz. We consider low energy excitations
by inserting the wave-ansatz

SZ =S +0((65/5)?) (25.2.6)
SF = 657 = AyetWikm) (25.2.7)
SY = 657 = A etwtTkr) (25.2.8)

Substituting this ansatz into the Heisenberg equations of motion we find

asy

o =0 (25.2.9)

57 _ s > (657 —68Y) (25.2.10)

dt : : J -
<J>i

dsy _ —JSY (6SF —657) (25.2.11)

dt — J -

() i
and thus

{zwa = JSA, Y (1 — el (25.2.12)

iwAy = —JS A, Y (1 — e k)
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Letting F'(k) = > .5 (1 — e~ * (1)) be a geometric structure factor depending on the
spin-lattice structure then we get the secular equation

iw  —JSF(k)
JSF (k) iw

‘ =0 (25.2.13)

which has solution
w = JS|F (k)] (25.2.14)

For example, on a simple cubic lattice we get a dispersion of the form

ke kya k.
E(k)_4hJS(sm 7+ n27+ n’ 2“) (25.2.15)

After a bit of thermodynamics one finds the low-temperature heat capacity:

ov= (@) (E2) ", 25216

Antiferromagnets

We consider an antiferromagnet on a bipartite lattice with sublattices labelled A and B.
Then we get two separate equations of motion

as?

AB AB
T =JS)T XY S (25.2.17)
(4

Anti-ferromagnetic/Neel order can be described by S = Sz and S{! = —Sz, so the low-

energy excitations are described by
S =S +0((55/9)%) SB% = 54+ 0((65/5)?) (25.2.18)
SA = G = Akn)  gBe_sgha _p k) (252.19)
SZA,y _ 55;4@ _ Ayez‘(wt—kri) SZ»B’y _ 55157?4 — Byei(w'f—k'ri) (25.2.20)

Substituting this ansatz into (25.2.17) then

ds;” Ay By ds; By Ay
(3} (7}
A’y B,y
(4)s (7);
which turns into the secular equation
W zJS 0 zJSy(k)
—2zJS iw —zJSvy(k) 0 B
0 —zJSy(k)  iw _.jg | =0 (25.2.23)
zJ57y(k) 0 2JS iw
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25.3. DOMAIN WALLS AND HYSTERESIS

where 7 is the coordination number, and

The solution yields the dispersion relation

BE(K) = hzJS\/1 — 12(K)

25.3 Domain walls and Hysteresis
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Phase transitions and Landau theory

26.1 Heisenberg ferromagnetism

26.2 Landau theory
26.3 Landau-Ginzburg theory

26.4 Stoner magnetism revisited
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BECs and superfluidity
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Superconductivity
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Part IV

Atomic physics and quantum optics
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Condensed matter field theory
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Many-body path integrals

29.1 Gaussian integrals

Gaussian integrals will naturally pop up when performing path integrals due to the quadratic
nature of several integrable Hamiltonians. It is therefore essential that we iron out the es-
sential properties of these integrals.

At the very simplest level we wish to compute

Z(a) = / dz e~ 2% (29.1.1)

—00

The trick is to square Z(a) and move to polar coordinates

00 00 27 00 9
[Z(a)]? —/ dm/ dye_%a(x2+y2) —/0 d@/o drre” 29" = %, (a>0) (29.1.2)

implying that
Z(a) =1/ —, (a>0) (29.1.3)

We then see that

Z(a,b) = / dz e~ 297" Fbe €b2/2a/ dz e~ 30(@+b/a)? (29.1.4)

—00

We switch integration variables to y = x + g and obtain

Z(a,b) = ,/%ﬂebw“, (a > 0) (29.1.5)

In most cases however, we will be interested in multi-dimensional Gaussian integrals of
the form

1 Y 1
Z(M) = /dml...de exp(— 3 > Mijx,»xj> = /dx exp(— 2xTMx> (29.1.6)
4,7=0

We may assume without loss of generality that M is symmetric. It follows that M has a
diagonal representation M = UTOU where U is an orthogonal matrix and O is diagonal.
We then find that
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29.1. GAUSSIAN INTEGRALS

Z(M) = /dx exp ( - ;xT(UTOU)x> (29.1.7)

Performing a change of variables to y = Ux, and using the fact that the Jacobian for this
substitution is J(x) = | det U| = 1 since U is unitary, we find that

Z(M) = / dy exp ( — ;yTOy) (29.1.8)

Letting the eigenvalues of M be a1, as, ..., an then

1 1 1
Z(M) = /dyl/dyg.../dyN exp <2a1y%> exp <2a2y§)...exp(2a]vy]2v) (29.1.9)

Using (29.1.3) and det M = ajas...an then we finally find that

(2m)N

Z(M) = det M

(29.1.10)

Note that we had to assume a1, as, ...,an > 0, which is true if M is positive definite.

Finally, let’s add a source term:

1
Z(M,]) = /dx exp < — 5xTMx —|—]Tx) (29.1.11)

To complete the square, we define y = x — c¢. Then
y' My = x"Mx + ¢/ Mc — x"Mc — " M*x (29.1.12)

where we used the symmetry of M in writing the last term. Letting

Mc =] (29.1.13)
then we see that ) ) .
—§yTMy = —§xTMx +Jx — 5cTMc (29.1.14)
Consequently we obtain
L r L or
Z(M,]J) = exp 3¢ Mc dy exp | — 3 My (29.1.15)
Using ¢ = M~ !J and (29.1.10) then
(2m)N e
ZM,J) = = 1
M3) = e e (7M7) (29.1.16)
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29.1. GAUSSIAN INTEGRALS

It will prove to define the two point correlator as

1
(wizj) = Z /dx TiT; exp ( - ;le\/Ix) (29.1.17)

The trick to evaluating these integrals is to introduce a source term J and differentiate with
respect to them to obtain the z;2; term downstairs:

1 9?
/dx TiT; exp ( - 2xTMx) = 9507, (Z(M,]))‘]O (29.1.18)

However we already know what Z (M, ]) is. Using the exponential Taylor expansion then

/dx T exp( X I\/Ix) =\ detM 97,07, <e2 )‘ (29.1.19)

J=0
(2m)N  9? { 11 1 ‘
~ V detM 0.7:07; mZ::O ml 2m(%:Mkl i) ] =0
(29.1.20)
2myN 1, -
= Eiet>l\/l §(Mij1 + M) (29.1.21)
Using the symmetry of M~ and Z(M) = (612';),\]; then we find
(wizj) = M (29.1.22)
Likewise let’s now look at the n-point correlation function
1 1,
(Tiy Tiy.i,) = Z0 dXx mi, T,...x;, exp | — X Mx (29.1.23)
Again we introduce a source term to obtain
/dxx- Liy T exp<— 1xTMx> = 8771(25(|\/| ]))‘ (29.1.24)
11712 in 2 aJhann 9 ]:0 .1
and proceed as before
1 T (27T)N 8” 1 TM*I
i1 Lio .- Lj - = M = J J)‘ .
/dx:z:lac2 Ty, exp( 5% x> det M 95, .07, (62 o (29.1.25)
_Jeny e [ > 11 . m”
~\ detM a;, .0, g::o ml zm(zkl:Mkl Jh)
(29.1.26)

The only contributing terms comes from m = n when we set J] = 0. Looking at the deriva-
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29.2. BOSON COHERENT STATES

tive with more care
om 11 .
J;,...0d;, [77,'2" ( > M, Ty Jh) ( > Mknankngn)] ‘ (29.1.27)
110 2n . klll knln ]:0

we see that the result will be a sum of M * }1 My lln terms. For each pairing of i;...i2, inton
pairs (k;, ;) we will get (2")n! identical terms in the sum, 2" due to the exchange of indices
M, }j = M, l;klj which produce the same term, and n! due to the permutation of the n pairs
which also produce the same term. Consequently we obtain the result

(TR, T Z (T Try) oo Tgy 1 T, ) (29.1.28)
TeP

where 7 runs over all distinct pairings of 4;...i2,. We have decomposed a n-point corre-
lation function into products of two-point correlation functions! This is a special form of
Wick’s theorem which we will prove more generally time and time again.

29.2 Boson coherent states

29.3 Boson coherent path integral

29.4 Fermion coherent states and Grassman numbers
29.5 Fermion coherent path integral

29.6 Example: Electron-phonon interactions

Consider a system of phonons with free Hamiltonian
Hyp, = qua;jaq,j (29.6.1)

where wq is the phonon frequency, j labels the three polarisations of the phonon modes,
and a' /a are the phonon creation/annihilation operators. We introduce fermions with free
dispersion ¢y into the picture via the electron-phonon coupling Hamiltonian

— L pg(aq; +a’ ;) (29.6.2)

el ph — FYZ \/Tq
where p, = >\ clT( +qCk is the electron density operator and c'/c are the electronic cre-
ation/annihilation operators.

To work out a coherent state path integral representation of this problem, we introduce
the mixed coherent state basis {|¢) @ |[)) = |¢p, 1)} where |¢) and |¢) are the bosonic and
fermionic coherent states resp.
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29.6. EXAMPLE: ELECTRON-PHONON INTERACTIONS

It is easy to see that the partition function reads:

_ _ B _ _
2= [ DEuPBdew| - [ (G0 +0.6+ HEG0.5.9)| (2063)
v(B)=4(0) ’
3(8)=4(0)
where

_ _ B _ _ iqj o T
HW; Tﬂ, ¢7 ¢) - zk: €k¢k¢k + zq: wq¢q¢q + ’Yk’zq; \/mwk+qwk(¢q,] + ¢_qd> (2964)

We now wish to obtain an effective field theory for the electrons only by integrating out
the phonon fields. First we recast the phonon partition function into

Zy = A oy PGl -/ ’ r(53(0+)6+76+ 50(-0-+w)3+57) | (2965)

=¢(0)
where
[wlqq',jj* = wqdqq'djj’ (29.6.6)
and .
Wad =7 —mmep (29.6.7)
1 2mwy a

Since this functional field integral is quadratic in the phonon fields, it can be evaluated
exactly by standard methods. The classical equations of motion are
_ - _ / o /
A {¢<T> [ dr'G(r ~ (7 2968
v

{(87' +w)¢
(0r —w)o o(r) = [drG(r — ' )7(7)

where we defined the Green’s functions

N o
(0r + w)g(T )y =0(r— 7)1 (29.6.9)
(0r —w)G(t—71)=6(r— 7)1
Substituting these into the action we find
- 1 B B
Zph X €xp | — 2/ dr (y¢ +7¢)} (29.6.10)
i 0
r B
=exp | — % / drdr’ (v(1)G(r — 7)F(r") = 5G (T — T/)’}/(TI))] (29.6.11)
] 0
= exp _ EZ 72qj2- /B drdr’ pg(T)p_q(T)(Gq(T — ') — Gq(T — 7”)):| (29.6.12)
|7 22 2y y q\7)P—q q q
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29.6. EXAMPLE: ELECTRON-PHONON INTERACTIONS

In Matsubara frequency space the Green’s functions are

1 . 1
Gon=—"—,Ggn=-"— (29.6.13)
Wr, + wWq Wy — Wq
so that ) s o
e , pg(T)eeniTT p—q(T’))
Zph o€ eXp (qz; 2 )y drdr . (29.6.14)

Finally, integrating over 7 and 7" we obtain the effective action due to the phonon degrees
of freedom (we switch to real time by analytically continuing w — —iw):

¢ Pq,nP-q,—
Zph o exp ( Z g ) (29.6.15)

Note that this represents an attractive interaction between the electrons at low frequency!
This will play a fundamental role in laying the groundwork for the BCS theory of super-
conductivity.
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